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���32/$=1(�26129(�
�����=DGDFL�
1D� RVQRYX� MDYQRJ� NRQNXUVD� VSURYHGHQRJ� X� MXQX� L� MXOX� ������ JRGLQH��8VWDQRYD� 6SRUWVNR� 7XULVWLþNL� &HQWDU� %DMLQD� %DãWD� SRYHULOD� MH� +RUZDWK�&RQVXOWLQJX�L]UDGX�0DVWHU�SODQD�UD]YRMD� WXUL]PD�VD�SRVORYQLP�SODQRP�]D�SODQLQX�7DUX�L�QMHQR�RNUXåHQMH���
8JRYRURP�NRML� MH�]DNOMXþHQ�X� MXOX�������JRGLQH�� VSHFLILNRYDQL� VX�VOHGHüL�VHJPHQWL� SURMHNWD�0DVWHU� SODQD� UD]YRMD� WXUL]PD� VD� SRVORYQLP� SODQRP� ]D�SODQLQX�7DUX�L�QMHQR�RNUXåHQMH��

��6HJPHQW� ��� $QDOL]D� L� GHILQLVDQMH� SURVWRUQLK� PRJXüQRVWL� L� DQDOL]D�WUåLãWD�VD�EHQþPDUN�DQDOL]RP�
�� �6HJPHQW� ��� ,]UDGD� QDMSULPHUHQLMHJ� VWUDWHãNRJ� NRQFHSWD�UD]YRMQRJ�PRGHOD��VD�SODQRP�NRQNXUHQWQRVWL�L�PDUNHWLQãNLP�SODQRP�
�� �6HJPHQW� ��� .OMXþQL� SURMHNWL� ]D� UD]YRM� L� LQYHVWLFLRQD� VWUDWHJLMD� VD�SUHGORJRP� SRVORYQR� XSUDYOMDþNRJ� PRGHOD� L� SODQRP� SULYODþHQMD�LQYHVWLWRUD�
�� �6HJPHQW� ��� $QDOL]D� L� HNRQRPVNR� ILQDQVLMVND� RFHQD� SHW� L]DEUDQLK�SULRULWHWQLK�SURMHNWD�

2YDM� GRNXPHQDW� SUHGVWDYOMD� 1DFUW� SUHGORJD� ILQDOQRJ� L]YHãWDMD� RYRJ�SURMHNWD� NRML� VH� SUH]HQWXMH� 1DUXþLRFX� L� NRML� MH� QDNRQ� UDVSUDYD� L�L]MDãQMDYDQMD� XNOMXþHQLK� LQWHUHVQLK� VXEMHNDWD� SRGORåDQ� GRGDWQLP�NRUHNFLMDPD�L�GRSXQDPD���

�����3URFHGXUH�
+RUZDWK�&RQVXOWLQJ�MH�VSURYHR�VOHGHüH�SURFHGXUH�UDGD�QD�3URMHNWX��

x�$QDOL]X� ORNDFLMH�� VSURYHGHQX� RELODVNRP� L� VQLPDQMHP� SUHGPHWQH�ORNDFLMH�X�QHNROLNR�QDYUDWD�RG�MXOD�GR�VHSWHPEUD�������JRGLQH��NDR�L��DQDOL]RP�UHOHYDQWQLK��UDVSRORåLYLK�SRGDWDND�L�LQIRUPDFLMD���
x�$QDOL]X� XSRUHGLYLK� WXULVWLþNLK� GHVWLQDFLMD� X� RNUXåHQMX� QD� ED]L��SULNXSOMHQK�SRGDWDND�L�LQIRUPDFLMD�6YHWVNH�WXULVWLþNH�RUJDQL]DFLMH��QDFLRQDOQLK� L� UHJLRQDOQLK� WXULVWLþNLK� L� VWDWLVWLþNLK� ]DYRGD� NDR� L�JOREDOQLK�L�UHJLRQDOQLK�KRWHOVNLK�NRPSDQLMD��
x�$QDOL]X� WUåLãWD� WXULVWLþNH� WUDåQMH� L� NDUDNWHULVWLþQLK� WUHQGRYD� X�NRULãüHQMX� VORERGQRJ� YUHPHQD�� D� VSURYHGHQX� SULNXSOMDQMHP� L�DQDOL]RP� SRGDWDND� L� LQIRUPDFLMD� L]� UHOHYDQWQLK� L]YRUD� NDR� ãWR� VX�6YHWVND� WXULVWLþND� RUJDQL]DFLMD��0LQWHO�� )85� L� ,QVWLWXW� ]D� WXUL]DP�=DJUHE��
x�$QDOL]X� NRQNXUHQWVNLK� L� RJOHGQLK� �EHQþPDUN�� REMHNDWD� X� 6UELML� L�(YURSL�� VSURYHGHQX� SULNXSOMDQMHP� L� DQDOL]RP� SRGDWDND� L�LQIRUPDFLMD� R� WXULVWLþNRM� SRQXGL� X� XSRUHGLYLP� WXULVWLþNLP�GHVWLQDFLMDPD��
x�,QWHUYMXH� VD� 1DUXþLRFHP�� NDR� L� VYLP� UHOHYDQWQLP� NOMXþQLP�VXEMHNWLPD� QD� SRGUXþMX� 2SãWLQH� %DMLQD� %DãWD� L� QD� SRGUXþMX�1DFLRQDOQRJ�3DUND�7DUD��L�
x�5DGLRQLFX� QD� NRMRM� MH� ELR� SULVXWDQ�1DUXþLRF�� NDR� L� VYL� UHOHYDQWQL�VXEMHNWL� WXUL]PD� SRGUXþMD� 7DUH�� VD� FLOMHP� SURYHUH� L� YHULILNDFLMH�ED]LþQLK� NRQFHSDWD� SR]LFLRQLUDQMD�� UD]YRMD� SURL]YRGD�� SURJUDPD�NRQNXUHQWQRVWL�� LQYHVWLFLMD� L� XSUDYOMDQMD� GHVWLQDFLMRP� ãLUHJ�SRGUXþMD�13�7DUD��
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2YGH�L]ORåHQL�0DVWHU�3ODQ�UD]YRMD��WXUL]PD��V�HOHPHQWLPD�SRVORYQRJ�SODQD�]D� SRMHGLQH� SURMHNWH� ãLUHJ� SRGUXþMD� 13� 7DUD�� SUHGVWDYOMD� QH� VDPR�NRQFHSWXDOQL� QHJR� L� SUDJPDWLþQL� RNYLU� ]D� HILNDVQR� XSUDYOMDQMH� SURFHVRP�UD]YRMD�X�YUHPHQX�NRMH�GROD]L���
9RGHüL� VH� VWDQGDUGQRP� LQWHUQDFLRQDOQRP� SURFHGXURP� UHJLRQDOQRJ� L�GHVWLQDFLMVNRJ�SODQLUDQMD�WXUL]PD��+RUZDWK�&RQVXOWLQJ�MH��NROLNR�MH�WR�ELOR�PRJXüH��REMHNWLYL]LUDR�UD]YRMQL�SRWHQFLMDO�L�SRVWDYLR�UD]YRMQL�NRQFHSW�NRML�SUDWL�UHFHQWQD�LVNXVWYD�VOLþQLK�GHVWLQDFLMD�X�VYHWX��8�WRP�NRQWHNVWX�VH�RYGH�L]ODåH�UH]LPH�NOMXþQLK�QDOD]D�RYRJ�SODQD��
���8VORYL�RNUXåHQMD�SURMHNWD�
6UELMD� VH� XEU]DQR� RWYDUD� SUHPD� WXUL]PX�� D� R� þHPX� VYHGRþL� QL]� LQLFLMDWLYD�9ODGH� X� RYRP� SULYUHGQRP� VHNWRUX�� 'LUHNWQD� XODJDQMD� X� WXULVWLþNX�LQIUDVWUXNWXUX�� UD]YRM� QDFLRQDOQRJ� WXULVWLþNRJ� EUHQGLQJD�� REUD]RYQLK�SURFHVD� L� SRVHEQR�XEU]DQD�SULYDWL]DFLMD�KRWHOD�XSXüXMX�GD�6UELMD�R]ELOMQR�UDþXQD� QD� WXULVWLþNL� VHNWRU� X� JRGLQDPD� NRMH� GROD]H�� 6UELMD� MH� SRVHEQR�RUMHQWLVDQD�QD�SULRULWHWQX�REQRYX�QDVOH HQLK�WXULVWLþNLK�GHVWLQDFLMD��GD�EL�X�NUDWNRP�YUHPHQX�ELOD�X�VWDQMX�L]DüL�QD�PH XQDURGQR�WUåLãWH�V�SURL]YRGLPD�L�XVOXJDPD�NRMH�SUDWH�VYHWVNH�VWDQGDUGH��
2SãWLQD�%DMLQD�%DãWD� QD� þLMRM� MH� WHULWRULML�13�7DUD�� V� RE]LURP�QD� SRWUHEX�UHVWUXNWXULVDQMD�QDVOH HQH�SULYUHGQH�VWUXNWXUH��QXåQR�MH�XVPHUHQD�QD�UD]YRM�VHNWRUD�XVOXJD�L�QDURþLWR�WXUL]PD��8�WRP�VPLVOX�MH�RYD�RSãWLQD�QD�LVWRULMVNRM�SUHNUHWQLFL�� SD� MH� SULVLOMHQD� SURQDüL� HILNDVQH� PRGHOH� ]D� XSUDYOMDQMH�QDVOH HQLP� SULURGQLP� L� NXOWXUQLP� DWUDNFLMDPD� X� WXUL]PX� QD� GXåL� URN�� L�SRVHEQR� ]D� NUDWNRURþQX� ]DãWLWX� VYRMLK� SRWHQFLMDOD� RG� NULYLK� XSRWUHED� L�GHYDVWDFLMD�� 1DLPH�� LDNR� MH� 13� 7DUD� X� W]Y�� WURVWHSHQRP� � UHåLPX� ]DãWLWH��QHNRQWUROLVDQD� L]JUDGQMD� NXüD� ]D� RGPRU� L� GUXJLK� REMHNDWD�� YHü� XYHOLNR�XJURåDYDMX�DWUDNWLYQL�SRWHQFLMDO�RYRJ�SRGUXþMD��
�

8]LPDMXüL� X� RE]LU� þLQMHQLFX� GD� MRã� XYHN� QHGRVWDMH� ]QDþDMDQ� GHR�LQIUDVWUXNWXUH�� NDR� L� þLQMHQFX� GD� MH� GHR� VDGDãQMH� LQIUDVWUXNWXUH� ]DVWDUHR��YRGRVQDEGHYDQMH�� NDQDOL]DFLMD� L� SRVHEQR� ORNDOQL� SXWHYL��� XEU]DQD�UHJXODFLMD�L�LQIUDVWUXNWXUQR�RSUHPDQMH�RYRJ�SRGUXþMD�]D�UD]YRM�L�LQYHVWLFLMH�X�WXUL]PX�VH�QDPHüX�NDR�LPSHUDWLY��SD�L�VDPD�L]UDGD�RYRJ�0DVWHU�SODQD�LGH�X� SULORJ� WRM� SRWUHEL�� 8� WRP� NRQWHNVWX� YDOMD� ]DNOMXþLWL� GD� ]D� RYDM� SURMHNW�SRVWRML� XJODYQRP� SULMDWHOMVNR� RNUXåHQMH� X� VPLVOX� SRGUãNH� RG� VWUDQH�QDFLRQDOQH�WXULVWLþNH�SROLWLNH��SR]LWLYDQ�RGQRV� ORNDOQH�SROLWLþNH�]DMHGQLFH��GREUH� RNROQRVWL� ãWR� VH� WLþH� ]DSRþHWLK� ORNDOQLK� UHJXODFLRQLK� SODQRYD� NDR� L�VDPD� RGOXND� R� L]UDGL� RYRJ� 0DVWHU� SODQD�� ,SDN�� V� GUXJH� VWUDQH� SRVWRMH�REMHNWLYQD� RJUDQLþHQMD� L� QHGRYROMQD� VSRVREQRVW� ORNDOQH� ]DMHGQLFH� GD� VH�MDþH�XKYDWL�X�NRãWDF�V�GXJRURþQRP�L�GHORWYRUQRP�]DãWLWRP�RYRJ�SURVWRUD��NDR�L�RJUDQLþHQH�PRJXüQRVWL�ORNDOQRJ�MDYQRJ�ILQDQVLUDQMD��
���7UåLãQD�DQDOL]D�
7UåLãQRP�VPR�DQDOL]RP�REXKYDWLOL� HYURSVNH� WUHQGRYH��SRVWRMHüX� WUåLãQX� L�SRVORYQX�VLWXDFLMX�SRGUXþMD��WH�DQDOL]X�NRQNXUHQDWD�L�EHQþPDUN�DQDOL]X�GD�EL�VH�UD]PRWULOH�X]RUQH�SUDNVH��

� .OMXþQL� VYHWVNL� L� HYURSVNL� WXULVWLþNL� WUHQGRYL� QHVXPQMLYR�LGX� X� SULORJ� GHVWLQDFLML� 7DUD�� SRVHEQR� NDG� MH� UHþ� R�WUHQGRYLPD�]GUDYOMD���HNRORãNRJ�L�W]Y��RGUåLYRJ�WXUL]PD��D�QD�NRMX�NDUWX�RYD�GHVWLQDFLMD�WUHED�GXJRURþQR�GD�LJUD��
� 0H XWLP��VDGDãQMD�WUåLãQD�SR]LFLMD�SRGUXþMD�13�7DUD�]ERJ�YLãHJRGLãQMHJ� ]DVWRMD� X� PRGHUQL]DFLML� SURL]YRGD� L�VPHãWDMQLK�L�GUXJLK�NDSDFLWHWD��QL�L]EOL]D�QH�SUDWL�VYHWVNH�L�HYURSVNH�WUHQGRYH��� 13� 7DUD� VD� RNR� ���� KRWHOVNLK� L� XJODYQRP� ]DVWDUHOLK�VPHãWDMQLK� MHGLQLFD� ������ KRWHOVNLK� OHåDMHYD�� SUHGVWDYOMD�PDQMH� RNR� ���� XNXSQRJ� VPHãWDMQRJ� NDSDFLWHWD� ãWR�VYDNDNR� QLMH� GRYROMQR� ]D� R]ELOMQX� NRPHUFLMDOL]DFLMX� RYRJ�SRGUXþMD��
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� ,VNRULãüHQRVW� VPHãWDMQLK� NDSDFLWHWD� X� NRMLPD� GRPLQDQWQR�ERUDYH�GRPDüL�JRVWL�MRã�XYHN�MH�QLVND��D�SRGUXþMH�7DUH�MH�X������JRGLQL�RVWYDULOR�����KLOMDGD�WXULVWLþNLK�QRüHQMD��� 3LWDQMH� HILNDVQRVWL� L� SURGXNWLYQRVWL� SRVORYDQMD� MHVWH�UH]XOWDW� SUHWKRGQLK� RNROQRVWL�� SD� VH� SUHWSRVWDYOMD� GD�RYGH�KRWHOL�RVWYDUXMX�WHN�RNR���KLOMDGH�(YUD�XNXSQRJ�SULKRGD�SR�VREL��� 8� RGQRVX� QD� L]DEUDQH� NRQNXUHQWH�� SRGUXþMH� 13� 7DUD� X�VPLVOX�SURILOLVDQMD�GHVWLQDFLMH�WUHED�VOHGLWL�3OLWYLþND�MH]HUD��'XUPLWRU�L�/RJDUVNX�'ROLQX��D�X�VPLVOX�UD]YRMD�SURL]YRGD�L�DNWLYQRVWL��=ODWLERU��.UDQMVNX�*RUX�L�%OHG��
� $QDOL]D� NRQNXUHQFLMH� MH� XSXWLOD� L� QD� SRWUHEX� EURMQLK�LQRYDFLMD� ]D� YUHPH� ]LPVNRJ� L� OHWQMHJ� ERUDYND�� NDR� L� QD�SRWUHEX� RUJDQL]RYDQRJ� UD]YRMD� QHNUHWQLQD� QD� 7DUL� SR�XJOHGX�QD�QHNH�XVSHãQH�PRGHOH�NRQNXUHQFLMH��� $QDOL]LUDQD� EHQþPDUNLQJ� SUDNVD� VOLþQLK� HYURSVNLK�GHVWLQDFLMD��XSXWLOD�MH�QD�QHNROLNR�NOMXþQLK�DVSHNDWD��D�SUH�VYHJD�QD�XSUDYOMDQMH�SURL]YRGLPD�� DNWLYQRVWLPD� L� JRVWLPD�]DãWLüHQLK� SRGUXþMD�� 6YH� GHVWLQDFLMH� X� ]DãWLüHQLP�SRGUXþMLPD� QDSODüXMX� SRVHWH� D� LVWRGREQR� QXGH� UD]OLþLWH�WHPDWL]RYDQH�VDGUåDMH��SURL]YRGH�L�XVOXJH��8�WRP�VPLVOX�]D�GDOMH�UD]YRMQH�NRUDNH�7DUH�RG�L]X]HWQRJ�MH�]QDþDMD�XEU]DQL�WUDQVIHU� LVNXVWDYD� QD� SROMX� LQWHUSUHWDFLMH� L� XSUDYOMDQMD�SDUNRYLPD�SULURGH��� 6YL� DQDOL]LUDQL� SDUNRYL�� RVLP� IRNXVD� QD� ]DãWLWX� SULURGH�LQWHQ]LYQR� VH� XVPHUDYDMX� QD� UD]YRM� WXUL]PD�� 2QL� VOHGH�YLVRNH�VWDQGDUGH�REOLNRYDQMD�VDGUåDMD�VPHãWDMD�L�UHNUHDFLMH�X� VNODGX� V� ORNDOQLP� RNUXåHQMHP�� WH� NRQDþQR� VYL� RQL�LQVLVWLUDMX�QD�XNOMXþLYDQMX�ORNDOQRJ�VWDQRYQLãWYD�X�SURFHVH�UD]YRMD�� SRGVWLþXüL� WDNR� NXOWXUX� XSUDYOMDQMD� NRMH� MH�RUMHQWLVDQR�LQWHUHVLPD�ORNDOQRJ�VWDQRYQLãWYD��

���6WUDWHãNL�NRQFHSW�L�UD]YRMQL�PRGHO�
������6:27�
3RGUXþMH�13�7DUD�NDR�SUHGPHW�RYRJ�0DVWHU�SODQD�MHVWH��
�

� SRGUXþMH� L]YDUHGQRJ� SRWHQFLMDOD�� DOL� NRMH� MRã� XYHN� QH� VOHGL�SUDYLOD� LJUH� NDUDNWHULVWLþQH� ]D� WXUL]DP� X� ]DãWLüHQLP�SRGUXþMLPD��� SRGUXþMH� NRMH� QHPD� GRYROMQR� ORNDOQLK� LJUDþD� X� SULYDWQRP�VHNWRUX� VSRVREQLK� ]D� SUHX]LPDQMH� UL]LND� SUHREUDåDMD�WXULVWLþNH�IL]LRQRPLMH�NUDMD��� SRGUXþMH� NRMH� QLMH� NRQVROLGRYDOR� VYRM� MDYQL� VHNWRU� SD� MH�QXåQD�HNVWHUQD��GUåDYQD�SRGUãND���� SRGUXþMH� NRMH� ]DKWHYD� KLWQX� ]DãWLWX� SURVWRUD� L� SURVWRUQX�UHJXODFLMX���� SRGUXþMH� NRMH� WUHED� KLWDQ� LQWHUQL� PDUNHWLQJ� X� FLOMX�SRGVWLFDQMD� QMHJRYLK� YUHGQRVWL� L� SRWUHED� ]DãWLWH� X� RNYLUX�ORNDOQRJ�VWDQRYQLãWYD���
8WYU HQH�VX�VOHGHüH�NOMXþQH�SUHGQRVWL�L�NOMXþQL�QHGRVWDFL�SRGUXþMD��
.OMXþQH�SUHGQRVWL��
&� QHGLUQXWD�SULURGD��OHSRWD�SODQLQH��ãXPH��UHNH�L�MH]HUD��þLMH�VOLNH�VWYDUDMX�SUHSR]QDWOMLYL�LPLGå�MHGLQVWYHQRJ�L�NRQWUDVWLPD�ERJDWRJ�SHM]DåD�
&� JHRJUDIVNL�SRORåDM�7DUH�X�UHJLML��VD�VXVHGQLP�WXULVWLþNLP�GHVWLQDFLMDPD�DWUDNFLMDPD�]RQDPD��0RNUD�*RUD��=ODWLERU��LWG���VD�NRMLPD�VH�7DUD�PRåH�LQWHJULVDQR�UD]YLMDWL��
&� XUR HQR�JRVWRSULPVWYR�OMXGL�L�MDN�SR]LWLYDQ�HPRWLYQL�RGQRV�NRML�JRVW�GRELMD�NDR�UH]XOWDW�VYRJ�ERUDYND�QD�7DUL�
�
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.OMXþQL�QHGRVWDFL�
'� RJUDQLþHQ�SULVWXS�GR�7DUH���FHVWH��åHOH]QLFD��DHURGURP���
'� QHUD]YLMHQRVW�ED]LþQH�LQIUDVWUXNWXUH��SRVHEQR�WUHWPDQD�WHNXüHJ�L�NUXWRJ�RWSDGD�X�SURVWRUX�REXKYDWD�SURMHNWD�
'� QHGRVWDWDN�ED]QH�SURVWRUQR�XUEDQLVWLþNH�UHJXODFLMH��
'� EHVSUDYQD�JUDGQMD�
'� QHGRVWDWDN�NOMXþQLK�LJUDþD�QD�ORNDOQRP�QLYRX�]D�SUHX]LPDQMH�RGJRYRUQRVWL�UD]YRMD�FHORYLWRJ�SURMHNWD�
�����9L]LMD�L�SR]LFLRQLUDQMH�
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8�RNYLUX�-=�6UELMH�XWYUGLOL�VPR�EOLåH�VOHGHüH�NOMXþQH�YUHGQRVWL�7DUH��
� 9HOLþDQVWYHQD�VFHQRJUDILMD�� 1HLVNYDUHQD�RNROLQD�� %OL]LQD�GLYOMLQH�
� 3URXþDYDQMH�SULURGH�� $NWLYQRVWL�X�]GUDYRP�RNUXåHQMX�
� 3VLKRORãNL�PLU��

8]LPDMXüL� X� RE]LU� ãLUL� NRQWHNVW� UD]YRMD� 7DUH�� WR� MHVW� L]JUDGQMH� FHORYLWH�EXGXüH� WUåLãQH� SR]LFLMH� -XJR]DSDGQH� 6UELMH�� NDR� L� 5HSXEOLNH� 6UELMH��GHILQLVDQD�MH�UD]YRMQD�YL]LMD�7DUH��]D�SHULRG�RG�QDUHGQLK����JRGLQD��
�
=D����JRGLQD�ãLUL�SURVWRU�1DFLRQDOQRJ�SDUND�7DUH�ELüH�UHOHYDQWQD�L�SUHSR]QDWOMLYD� SODQLQVND� WXULVWLþND� GHVWLQDFLMD� QD� HYURSVNRP�WUåLãWX�NRMD�üH�GRSULQHWL� SULYUHGQRP�UD]YRMX� UHJLMH�NDR� L� NYDOLWHWX�åLYRWD�ORNDOQRJ��VWDQRYQLãWYD���
2VQRY�]D�UDVW� WXUL]PD�VX�SHUPDQHQWQL�UD]YRM�ED]LUDQ�QD� LVNXVWYX�SULURGH� VD� NRQWLQXLUDQR� SXOVLUDMXüRP�� PRGHUQRP� L� UD]QRYUVQRP�SRQXGRP�GRåLYOMDMD� L� DNWLYQRVWL� X� LVWRULMVNRP� L� NXOWXUQR�ERJDWRP�SRGUXþMX��
7DUD� üH� LVSRUXþLYDWL� SDPWOMLYD� LVNXVWYD� NRMD� SRGVWLþX� DNWLYQRVWL�VYLK� þXOD�� HPRFLRQDOQR� GRGLUXMX� LQWHOHNW� WH� SRYHüDYDMX�UD]XPHYDQMH� ]DãWLWH� L� GHOHQMD� SULURGQRJ� L� NXOWXUQRJ� QDVOH D� QD�QDþLQ�GD�RVWDQH�VDþXYDQR�L�NRULVQR�]D�EXGXüH�JHQHUDFLMH��
8VSHK� VH� SRVWLåH� NUR]� RGUåLYL� UD]YRM�� SRãWLYDMXüL� HNRORãNH�VWDQGDUGH� VOHGHüH� JHQHUDFLMH� X� NRPELQDFLML� VD� SUHGX]HWQLþNLP�LQRYDFLMDPD� þLPH� 7DUD� SRVWDMH� SULPHU� X� LVNXVWYHQRP�VWUXNWXULVDQMX� GHVWLQDFLMH�� GDMXüL� GXJRURþQX� ILQDQVLMVNX� NRULVW�VYLP�NOMXþQLP�VXEMHNWLPD�X�WXUL]PX�SRGUXþMD�7DUH��
�

����,QRYDWLYQRVW

&HQWUDOQL�LGHQWLWHW

3ULURGD�L�SODQLQH�X�WUDGLFLRQDOQRP�
L�NUHDWLYQRP�RNUXçHQMX

2WNULYDQMH�çLYRWD�X�
WUDGLFLML�L�SULURGL

,PLGå

-XJR]DSDGQD�6UELMD�MH�SURåHWD�PDQMLP�XUEDQLP�FHQWULPD��UXUDOQLP�SUHGHOLPD�VD�LGLOLþQLP�NUDMROLFLPD�WH�
SODQLQDPD�NRMH�þLQH�RVQRY�WXUL]PD�RYH�UHJLMH��.UR]�XSHþDWOMLYX�NXOWXUX�RYRJ�NUDMD�WH�LQRYDWLYQX�SRQXGX�

]GUDYOMD�L�VSHFLMDOQLK�LQWHUHVD�NUHLUD�VYRMX�EXGXüQRVW�

'LIHUHQFLMDFLMD�.OMXþQH�NRULVWL
����7HUPDOQL�L�]GUDYVWYHQL�FHQWUL
����3ODQLQVNH�GHVWLQDFLMH
����äLYD�DWPRVIHUD
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7XULVWLþNR� SR]LFLRQLUDQMH� 7DUH� ED]LUD� VH� QD� SRãWLYDQMX� SULURGQRJ� L�NXOWXUQRJ� QDVOH D�� HNRQRPVNRM� RGUåLYRVWL� L� GUXãWYHQRM� RGJRYRUQRVWL�� D�QDJODãDYDMX�VH�VOHGHüH�YUHGQRVWL�L�XVPHUHQMD��
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8�WRP�VPLVOX��7DUD�VH�SR]LFLRQLUD�QD�VOHGHüL�QDþLQ��
�
7DUD� MH� YLVRNR� YUHGQD� L� HNRORãNL� VDþXYDQD� GHVWLQDFLMD� NRMD�QXGL� LVNXVWYR� L� GRåLYOMDM� SULURGH� ]D� UD]OLþLWH� DNWLYQH� L� SDVLYQH�NRULVQLNH��
2QD� MH� UHNUHDWLYQD� L� RGPRULãQD� GHVWLQDFLMD� NRMD� VD� SRQRVRP�QXGL� HNRORãNL� RVYHãWHQH� L� QD� ORNDOQRM� NXOWXUL� ]DVQRYDQH�WXULVWLþNH� SURL]YRGH� L� XVOXJH� NUR]� NUHDWLYQX� LQWHUSUHWDFLMX�LQWHJUDOQRJ�SURVWRUD��
3RVHEQR� UD]YLMD� X� VYRP� SULURGQRP� L� UXUDOQRP� RNUXåHQMX�VOHGHüH�FHQWUH�L]YUVQRVWL��
�� UHNUHDFLMX�L�UHODNVDFLMX�X�YHOLþDQVWYHQRP�SULURGQRP�RNUXåHQMX�
�� RGPRU��DNWLYQRVWL�L�]DMHGQLþNL�SRURGLþQL�GRåLYOMDM�
�� SRVORYQH�VDVWDQNH��LQVHQWLYH�L�GRJD DMH�
�� SODQLQVNL�YHOQHV���]GUDYOMH�
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�����7XULVWLþNR�VWUXNWXULVDQMH�L�SRUWIROLR�SURL]YRGD�
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���3HUXüDF�
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1DGDOMH�� ]D� VYDNX� SUHWKRGQR� GHILQLVDQX� UD]YRMQX� ]RQX� 7DUH� SUHGODåH� VH�NRQFHSW� QDMEROMH� XSRWUHEH�� VD� VOHGHüLP� NOMXþQLP� HOHPHQWLPD� VYDNRJ�SRGUXþMD��

���3UHGRY�NUVW�
&LOMDQL�NDUDNWHU�SRGUXþMD��5D]XPHYDQMH�SULURGH��UXUDOQD�LGLOD��PLU�L�WLãLQD��
3R]LFLRQLUDQMH�� 3RGUXþMH� VD� QDMYLãLP� VWHSHQRP� ]DãWLWH� L� RþXYDQMD�SULURGH�NRMH�VH��SR]LFLRQLUD�NDR�SURVWRU�]D�EHJ�X�L]YRUQX�SULURGX���
3ULURGX� RYRJ� SURVWRUD� MH� SRWUHEQR� YUKXQVNL� NUHDWLYQR� LQWHUSUHWLUDWL��þLPH� RQ� XOD]L� X� UDQJ� YLVRNR� ]DãWLüHQLK� L� LQRYDWLYQR� LQWHUSUHWLUDQLK�SURVWRUD� X� RYRP� GHOX� (YURSH�� ,VWR� WDNR�� SRWUHEQR� JD� MH� RSUHPLWL�NDUDNWHULVWLþQLP�REOLFLPD�VPHãWDMD�SR�X]RUX�QD�VYHWVNX�SUDNVX��
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3UHGRY� .UVW� MH� NOMXþQL� HOHPHQW� VWYDUDQMD� QRYRJ� LGHQWLWHWD� L� LPLGåD�FHORYLWRJ��SRGUXþMD�13�7DUD��
���%DMLQD�%DãWD�
&LOMDQL�NDUDNWHU�SRGUXþMD��&HQWDU�7DUH�L�'ULQH��XOD]�X�7DUX�L�'ULQX���JHQHUDWRU� SURJUDPD� UD]YRMD� 7DUH� L� 'ULQH�� 0HVWR� NRMH� RPRJXüDYD�YDVNUVHQMH�7DUH� L�'ULQH�QD�PH XQDURGQRP� WUåLãWX��D�7DUD� L�'ULQD�PX�YUDüDMX�LVWRP�PHURP���
3R]LFLRQLUDQMH��%DMLQD�%DãWD�VH�WXULVWLþNL�SR]LFLRQLUD�NDR�PHVWR�XOD]D�L�RSHUDWLYQL� FHQWDU� �KXE�� SRGUXþMD� 7DUH� L� 'ULQH�� VD� NRQFHQWUDFLMRP�RGJRYDUDMXüLK� SURL]YRGD� L� XVOXJD�� 8]� WR�� %DMLQD� %DãWD� 7DUL� L� 'ULQL�UD]YLMD�NRPSOHPHQWDUQH�SURL]YRGH��XVOXJH��SURJUDPH�L�DNWLYQRVWL��2QD�MH� PHVWR� SRVORYQRJ� SURPHWD�� PHVWR� ]D� WXUH� NUDMD�� ]D� GRJD DQMD� L�LVKRGLãQR�PHVWR�]D�VSHFLMDOQH�LQWHUHVH��
���3HUXüDF�
&LOMDQL�NDUDNWHU�SRGUXþMD��'RåLYOMDM�YRGH��
3R]LFLRQLUDQMH�� 3HUXüDF� MH� SRGUXþMH� NRMH� X� SULURGQRP� RNUXåHQMX�LQWHOLJHQWQR� VWUXNWXULVDQRP� SRQXGRP� NUHLUD� KDUPRQLþDQ� RGQRV� L�MHGLQVWYHQL�GRåLYOMDM�YRGH�VD�DNWLYQRVWLPD�QD�MH]HUX�L�UHFL��8]�SRQXGX�UD]QRYUVQLK� DNWLYQRVWL� QD� YRGL�� SRGUXþMH� 3HUXüFD� SUXåD� 
ILVKLQJ
�GRåLYOMDM� QD� MH]HUX� L� UHFL� 'ULQL�� 5D]YRMHP� ULERORYD� NDR� SURL]YRGD� L�SRVHEQR� QMHJRYRP� LQWHUSUHWDFLMRP�� 3HUXüDF� SRVWDMH� YRGHüD� ULERORYQD�GHVWLQDFLMD�6UELMH����
���.DOX HUVNH�EDUH�
&LOMDQL� NDUDNWHU� SRGUXþMD�� ,QWHJUDOQL� SODQLQVNL� UHVRUW� RVORQMHQ� QD��LVNXVWYHQL�VDGUåDM�L�DWUDNFLMH�ãLUHJ�SRGUXþMD�13�7DUD����
3R]LFLRQLUDQMH�� .DOX HUVNH� %DUH� VH� SR]LFLRQLUDMX� NDR� LQWHJUDOQL�SODQLQVNL� UHVRUW� RVORQMHQ� QD� EURMQH� SURJUDPH� L� DNWLYQRVWL� ERUDYND� QD�
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���3ODQ�NRQNXUHQWQRVWL�
8� VYUKX� SREROMãDQMD� XVORYD� ]D� UD]YRM� WXUL]PD� QD� 7DUL�� RYLP� VH� SODQRP�SUHGODåH� XYR HQMH� RVDP� NRQNXUHQWVNLK� SURJUDPD�� VD� FLOMHP� SREROMãDQMD�QHGRVWDWDND� NRML� QHJDWLYQR� XWLþX� QD� NRQNXUHQWQRVW� SULYDWQRJ� L� MDYQRJ�VHNWRUD�XNOMXþHQRJ�X�WXULVWLþNL�UD]YRM���

�
3UHGORåHQL�SURJUDPL�NRQNXUHQWQRVWL�VX�NDNR�VOHGL��

%URM�SURJUDPD� 3URJUDP�
�� 6LVWHP� GHVWLQDFLRQRJ� PHQDGåPHQWD� �� 6WYDUDQMH� '02�D��'HVWLQDWLRQ�0DQDJHPHQW�2UJDQLVDWLRQ��
�� 7XULVWLþNL� LQIRUPDFLRQL� VLVWHP�� XUHGL�� EURãXUH�� LPLGå��SR]LFLRQLUDQMH��LWG��
�� 7XULVWLþNH�NRPSDQLMH��KRWHOL��UHVWRUDQL��EDURYL��LWG��
�� .RPSOHPHQWDUQD� SRQXGD�� WXULVWLþNL� SURL]YRGL� L� DNWLYQRVWL��WUJRYLQH��]DQDWL��VXYHQLUL��ORNDOQL�SURL]YRGL��LWG��
�� 3REROMãDYDQMH�SULVWXSDþQRVWL��YD]GXKRP��GUXPRP�L�YRGRP��
�� -DYQH� XVOXJH�� WUDQVSRUW�� R]QDþDYDQMH�� HQHUJHWVND� L� YRGR�VQDEGHYDQMH�� NDQDOL]DFLRQL� VLVWHPL�� VLVWHPL� RGYR]D� RWSDGD� L�UHFLNOLUDQMD��LWG��
�� 8UEDQLVWLþNL�SODQ��SDUNLUDQMH�L�PRELOQRVW��LQWHUQR�LQIRUPLVDQMH�L� VLVWHPL� R]QDþDYDQMD�� NUDMROLN�� HVWHWLND�� DWUDNFLMH� L� RSUHPD��NXSRYLQD��LWG��
�� 3REROMãDQMH�SULURGQLK�L�VRFLR�NXOWXUQLK�UHVXUVD�
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6LVWHP�LQWHJULVDQH�PDUNHWLQåNH�NRPXQLNDFLMH�WXUL]PD�7DUH
���0DUNHWLQJ�SODQ�
0DUNHWLQJ� SODQRP� NRPXQLFLUD� VH� YL]LMD�7DUH�� WH� VH� RGUH XMX� JODYQL� SULRULWHWL�PDUNHWLQJ� VLVWHPD� X� VOHGHüLK� SHW� JRGLQD��NRML� SUHGVWDYOMDMX� YRGLþ� ]D� EXGXüH�SODQLUDQMH�L�UD]YRM�PDUNHWLQãNLK�LQLFLMDWLYD�L�DNFLMD��6WUDWHãNL�SULRULWHWL�PDUNHWLQJ�VLVWHPD�7DUH� VX� VWYDUDQMH� L� UD]YRM� EUHQGD��PDUNHWLQãND� NRPXQLNDFLMD�� LQWHUQHW� L�LVWUDåLYDQMH�WUåLãWD��
6DYUHPHQL� PDUNHWLQãNL� WUHQGRYL� QDODåX�LQWHJULVDQL� SULVWXS� PDUNHWLQãNRM�NRPXQLNDFLML��WH�QD�RVQRYX�WRJD�SUHGODåHPR�VOHGHüL�VLVWHP��
�
�
�
6WYDUDQMHP�EUHQGD�L]JUD XMH�VH�LGHQWLWHW�WXUL]PD�QD�SRGUXþMX�7DUH��WH�VH�QD�WDNDY� QDþLQ� 7DUD� SR]LFLRQLUD� NDR� NRQNXUHQWDQ� SURL]YRG� QD� MDNR�GLYHUVLILNRYDQRP� WUåLãWX�� .DR� MHGLQVWYHQD� NROHNFLMD� LVNXVWDYD�� EUHQG�SUHGVWDYOMD� PLNV� UDFLRQDOQLK�� HPRFLRQDOQLK�� VRFLRORãNLK� L� NXOWXURORãNLK�SUHGQRVWL� L� NRULVWL� ]D� JRVWH� NRML� ELUDMX� GHVWLQDFLMH� �EUHQGRYH�� SUHPD�HPRFLRQDOQRM�YUHGQRVWL�NRMX�RQH�SUHGVWDYOMDMX���
3UHPD�NRPSRQHQWDPD�EUHQGD��SUHGORJ�]D�7DUX�MH�NDNR�VOHGL���
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�������3ROLWLND�L�DGPLQLVWUDWLYQL�VLVWHP�
5HSXEOLND� 6UELMD� MH� GDQDV� RNUHQXWD� (YURSVNRM� XQLML� L� XNOMXþLYDQMX� X�PH XQDURGQH� LQWHJUDFLMH�� 3UROD]HüL� ]DYUãQX� ID]X� WUDQ]LFLMH�� 6UELMD� VH�NRQVWLWXLãH�NDR�VDPRVWDOQD�GUåDYD�V�YDåQRP��UHJLRQDOQRP�SR]LFLMRP��
3UHPD�DGPLQLVWUDWLYQRP�VLVWHPX��FHORNXSQD�MH� WHULWRULMD�6UELMH� �SRGHOMHQD�QD�����RSãWLQH��RGQRVQR����RNUXJD��1DMYHüH�XUEDQH�DJORPHUDFLMH�X�6UELML�VX� JODYQL� JUDG� %HRJUDG� ����� PLOLRQD� VWDQRYQLND��� 1RYL� 6DG� ����� KLOMDGD�VWDQRYQLND��� 1Lã� ����� KLOMDGD� VWDQRYQLND��� .UDJXMHYDF� ����� KLOMDGD�VWDQRYQLND��L�6XERWLFD������KLOMDGD�VWDQRYQLND���
�������*HRJUDILMD�L�NOLPD�
6UELMD� MH� ORFLUDQD� X� MXJRLVWRþQRP� GHOX� (YURSH�� QD� FHQWUDOQRP� GHOX�%DONDQVNRJ�SROXRVWUYD��6UELMD� VH�QDOD]L�QD� UDVNUVQLFL�SXWHYD�NRML�YRGH�RG�=DSDGQH�(YURSH� ND�7XUVNRM� L� %OLVNRP� ,VWRNX�� 3RYUãLQD� ]HPOMH� MH� �������NP R��RG�þHJD��������NP R�RWSDGD�QD�.RVRYR��
6HYHUQL�� UDYQLþDUVNL� GHR� 6UELMH�� 9RMYRGLQD�� MH� SURWNDQ� UHþQLP� WRNRYLPD��'XQDY�� 6DYD�� 7LVD��� GRN� VX� FHQWUDOQL� L� MXåQL� GHORYL� EUGRYLWL� L� SODQLQVNL��6UELMD�LPD����RGVWR�REUDGLYH�SRYUãLQH��RG�þHJD�MH�RNR�����REUD HQR���GRN�MH� ��� RGVWR� SRG� ãXPRP�� 9LVLQX� RG� SUHNR� ������ PHWDUD� GRVWLåH� ���SODQLQVNLK�YUKRYD��
6UELMD� LPD� XPHUHQR� NRQWLQHQWDOQX� NOLPX� NRMX� NDUDNWHULãX� KODGQH� ]LPH� L�WRSOD� OHWD�� VD� GREUR� UDVSRUH HQLP� SDGDYLQDPD� L� XPHUHQLP� SUHOD]LPD�L]PH X� L]UDåHQLK� JRGLãQMLK� GRED�� 6UELMD� LPD� YHOLNL� EURM� SULURGQLK� L�NXOWXUQLK� DWUDNFLMD� ��� QDFLRQDOQLK� SDUNRYD�� ��� SDUNRYD� SULURGH�� NDR� L�QHNROLNR� ORNDOLWHWD� SRG� ]DãWLWRP� 81(6&2�D�� NRMH�� X]� DGHNYDWQX�YDORUL]DFLMX�� SULPHUHQX� ]DãWLWX� L� UHãDYDQMH� SUREOHPD� VDREUDüDMQH� L� GUXJH�LQIUDVWUXNWXUH��PRJX�]QDþDMQR�GD�GRSULQHVX�WXULVWLþNRM�DWUDNWLYQRVWL�]HPOMH��
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�������6DREUDüDM�L�NRPXQLNDFLMH�
6DREUDüDMQD� LQIUDVWUXNWXUD� 6UELMH� MH� MRã� XYHN� QHGRYROMQR� UD]YLMHQD��3RVWRMDQMH�VDPR�MHGQRJ�DXWR�SXWD��âLG���%HRJUDG���1Lã��X�GXåLQL�RG�����NP�MRã�MH�XYHN�QHGRYROMQR�]D�MDþL�UD]YRMQL�X]OHW�6UELMH��7UHQXWQR�MH�X�L]JUDGQML�]DYUãQD� GHRQLFD� DXWRSXWD� � 1RYL� 6DG� �� %HRJUDG�� D� SODQLUD� VH� L]JUDGQMD�GHRQLFH� 6XERWLFD� �� 1RYL� 6DG�� -HGDQ� RG� YDåQLMLK� EXGXüLK� VDREUDüDMQLK�SUDYDFD� MHVWH� W]Y�� ,EDUVND� PDJLVWUDOD� NRMD� EL� LQWHJULVDOD� SURVWRU�-XJR]DSDGQH� 6UELMH� VD� VYLP� YDåQLMLP� HYUSVNLP� PDJLVWUDOQLP� SUDYFLPD��'UXPVNL� VDREUDüDM� X� 6UELML� NDUDNWHULãH� L� ORã� NYDOLWHW� SXWHYD�� QDURþLWR� X�XQXWUDãQMRVWL�]HPOMH���
,VWD�NRQVWDWDFLMD�YDåL�L�]D�åHOH]QLþNX�PUHåX��������NP��RG�þHJD�MH�������NP�HOHNWULILNRYDQR��NRMD�MH��NDR�L�YHOLNL�GHR�YR]RYD���]DVWDUHOD���
,DNR� UDVSRODåH� VD� þDN� ��� DHURGURPD� V� DVIDOWLUDQLP� SLVWDPD� L� VD� MRã� ���DHURGURPD� V� QHDVIDOWLUDQLP� SLVWDPD�� X� 6UELML�� RVLP� %HRJUDGD� L� GRQHNOH�1LãD��QH�SRVWRML�]QDþDMQLML�DHURGURP��SRGHVDQ�]D�SULKYDW�SXWQLND�L�UREH��
�������3ULYUHGD��
8�6UELML�MH�X�SHULRGX�RG�������GR�������JRGLQH�%'3�SHU�FDSLWD��QD�RVQRYX�333��SRYHüDQ�MH�VD�������86��QD�������86���SURVHþQD�SODWD��SRVPDWUDQR�X�HYULPD��SRUDVOD�MH�]D�YLãH�RG�þHWLUL�SXWD��VD����QD�����(YUD���GRN�VX�GHYL]QH�UH]HUYH� X� ]HPOML� ]QDþDMQR� SRUDVOH� L� GRVWLJOH� QLYR� RG� �� PLOLMDUGL� 86���1DMYHüLP� GHORP� MH� REX]GDQD� LQIODFLMD�� GRN� MH� NXUV� GLQDUD� VWDELOL]RYDQ��=QDþDMQR� MH� SRYHüDQ� QLYR� VWUDQLK� XODJDQMD�� D� L� PQRJH� PXOWLQDFLRQDOQH�NRPSDQLMH� VX�� SRVOH� ������ JRGLQH�� ]DSRþHOH� VYRMH� RSHUDFLMH� QD� SURVWRUX�6UELMH���
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�������*HRJUDILMD�
2SãWLQD�%DMLQD�%DãWD� QDOD]L� VH� X�=DSDGQRM�6UELML�� X]� UHNX�'ULQX� L� QMRPH�GRPLQLUD� SODQLQD�7DUD�� 3RGUXþMH�2SãWLQH� %DMLQD� %DãWD� þLQL� ��� QDVHOMD� QD�XNXSQRM�SRYUãLQL�RG�����NP R��JGH�åLYL��������VWDQRYQLND���
5HND� 'ULQD� RJUD XMH� 2SãWLQX� %DMLQD� %DãWD� VD� VHYHUR]DSDGQH� L� VHYHUQH�VWUDQH��WH�SUHGVWDYOMD�QDMYHüX�NRQWDNWQX�UHNX�RSãWLQH��X�GXåLQL�RG����NP��
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1D� SRGUXþMX� RSãWLQH� %DMLQD� %DãWD� QDOD]L� VH� SODQLQD� 7DUD�� NRMD� MH� VYRMLP�YHüLP� GHORP� ]DãWLüHQR� SRGUXþMH� 1DFLRQDOQRJ� 3DUND� 7DUD� V� XNXSQRP�SRYUãLQRP�RG���������KHNWDUD���
�������6DREUDüDMQL�SRORåDM�2SãWLQH�%DMLQD�%DãWD�
2SãWLQD�%DMLQD�%DãWD� VH� SURWHåH� X]� UHNX�'ULQX��2G�%HRJUDGD� MH� XGDOMHQD�RNR� ���� NP�� RG� 1RYRJ� 6DGD� ���� NP�� RG� 8åLFD� RNR� ��� NP�� 1DOD]L� VH�QHSRVUHGQR�X]�JUDQLFX�VD�%RVQRP�L�+HUFHJRYLQRP�RG�NRMH�MH�UD]GYDMD�UHND�'ULQD���
1D� SRGUXþMX� RSãWLQH� LPD� XNXSQR� ���� NP� SXWHYD�� RG� þHJD� VDYUHPHQL�NRORYR]� þLQL� VYHJD� ���� NP�� 'XåLQD� PDJLVWUDOQLK� SXWHYD� MH� ��� NP�� D�UHJLRQDOQL� SXWHYL� RSãWLQH� þLQH� ���� NP� �RG� WRJD� MH� VDYUHPHQL� NRORYR]�GXåLQH�����NP���GRN�VX�ORNDOQL�SXWHYL�QD�SRGUXþMX�RSãWLQH�GXåLQH�����NP��RG�þHJD�MH�VDYUHPHQLK�SXWHYD�����NP����
,EDUVND� PDJLVWUDOD� VH� QDOD]L� X� EOL]LQL� SRGUXþMD� RSãWLQH�� ãWR� MH� SRYH]XMH�GUXPVNLP� SXWHP� VD� %HRJUDGRP� L� GDOMH� VD� 9RMYRGLQRP� NRML� VX� ]QDþDMQD�WUåLãWD�V�RE]LURP�QD�EURM�VWDQRYQLND�L�SULYUHGQX�UD]YLMHQRVW�RYLK�SRGUXþMD���
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3ULURGQL� SULUDãWDM� QD� ������ VWDQRYQLND� QD� SRGUXþMX� RSãWLQH� MH� ������ âWR� VH�SDN� QDFLRQDOQH� VWUXNWXUH� VWDQRYQLãWYD� WLþH�� QD� SRGUXþMX� RSãWLQH� %DMLQD�%DãWD��������XNXSQRJ�EURMD�VWDQRYQLND�þLQH�6UEL���
3URVHþQD�VWDURVW�VWDQRYQLND�X�RSãWLQL�%DMLQD�%DãWD�MH������JRGLQD��V�WLP�ãWR�RYDM�SRND]DWHOM�L]QRVL������JRGLQX�X�VDPRP�JUDGX��D������JRGLQD�X�VHRVNLP�SRGUXþMLPD�� � 3URVHN� VWDURVWL� QD� QLYRX� FHOH�5HSXEOLNH� L]QRVL� ����� JRGLQH��WDNR�GD�%DMLQD�%DãWD�VSDGD�X�RSãWLQH�X�NRMLPD�MH�VWDQRYQLãWYR�QHãWR�VWDULMH�RG�SURVHND��2YR�VH�QDURþLWR�RGQRVL�QD�VHRVNR�VWDQRYQLãWYR��SURVHN�]D�FHOX�5HSXEOLNX� MH� ����� JRGLQD��� GRN� MH� JUDGVNR� VWDQRYQLãWYR� X� RSãWLQL� %DMLQD�%DãWD�QHãWR�POD H�RG�SURVHND�5HSXEOLNH�������JRGLQH����
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3UHPD� VWUXNWXUL� QDURGQRJ�GRKRWND 6� RSãWLQH�%DMLQD�%DãWD�NRMX� MH� ]YDQLþQR�REMDYLR�5HSXEOLþNL�]DYRG�]D�VWDWLVWLNX��+RWHOL�L�UHVWRUDQL�þLQH�VDPR�������QDURGQRJ�GRKRWND�VWYRUHQRJ�QD� WHULWRULML�RSãWLQH��0H XWLP�� WUHED�QDJODVLWL�GD� VH� REUDþXQ� YUãLR� SR� NRQFHSFLML�PDWHULMDOQH� SURL]YRGQMH� NRMD� ]QDþDMQR�SRWFHQMXMH� XGHR� XVOXåQRJ� VHNWRUD� X� GUXãWYHQRP� SURL]YRGX� �QDURGQRP�GRKRWNX���0RåH�VH�UHüL�GD�MH�UHDOQR�XGHR�+RWHOD�L�UHVWRUDQD�]QDþDMQR�YHüL�X�GUXãWYHQRP� SURL]YRGX�� D� %DMLQD� %DãWD� VSDGD� X� RSãWLQH� VD� SURVHþQLP�GUXãWYHQLP� SURL]YRGRP� X� 6UELML�� V� WLP� ãWR� LPD� YHOLNL� SRWHQFLMDO� GD� WX�SR]LFLMX�]QDþDMQR�SREROMãD��
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.DNR� JRUQML� JUDILþNL� SULND]� SRND]XMH�� VYHJD� ����� VYLK� ]DSRVOHQLK� QD�WHULWRULML�RSãWLQH�%DMLQD�%DãWD�UDGH�X�VHNWRUX�+RWHOL�L�UHVWRUDQL���

�������=DNOMXþDN�
2SãWLQD�%DMLQD�%DãWD� XOD]L� X� SHULRG� UD]YRMD� NDGD� X]� QXåQX� NRQVROLGDFLMX�MDYQRJ� VHNWRUD� QXåQR� PRUD� RWYRULWL� QRYH� SRWHQFLMDOH� ]D� SULYUHGQL� UDVW� L�RWYDUDQMH� QRYRJ� ]DSRãOMDYDQMD�� 6� RE]LURP� QD� GRVDGDãQMX� GRPLQDFLMX�HQHUJHWLNH��SROMRSULYUHGH�L�ãXPDUVWYD�NDR�VLURYLQVNLK�L]YRUD�ERJDWVWYD��WH�V�RE]LURP�QD�þLQMHQLFX�GD�SUHUD LYDþND�LQGXVWULMD�VD�RNR����WDN�RGVWR�LRQDNR�QD� GXJL� URN� QHPD�YHOLNH� SHUVSHNWLYH�� QHPD� VXPQMH�GD� MH� GRãOR� YUHPH�GD�RYD�RSãWLQD� ]DSRþQH� ]QDþDMQLMH�RWYDUDQMH�SUHPD� VHNWRUX�XVOXJD� L� SRVHEQR�SUHPD�VHNWRUX�WXUL]PD��V�RE]LURP�QD�QMHQH�QHVXPQMLYH�SULURGQH�L�NXOWXUQH�SRWHQFLMDOH��8� WRP�NRQWHNVWX� VH�SRVWDYOMD�SLWDQMH� VWUDWHãNRJ� L� RSHUDWLYQRJ�XSUDYOMDQMD� SULURGQLP� L� NXOWXUQLP� UHVXUVLPD� QD� RYRP� SRGUXþMX�� RGQRVQR�REH]EH HQMD�SUHWSRVWDYNL�]D�RþHNLYDQL�UD]YRM�L�LQYHVWLFLMH��1LMH�RYGH�VDPR�UHþ�R�SRWUHEL�RVPLãOMDYDQMD�QDMEROMLK�QDþLQD�XSRWUHEH�QDVOH HQLK� UHVXUVD� L�DWUDNFLMD��YHü�L�R�QXåQRVWL�QMLKRYH�NUDWNRURþQH�]DãWLWH�RG�NULYLK�XSRWUHED�L�GHYDVWDFLMD� NRMH� VX� YHü� ]DSRþHWH� QD� QHNLP� RG� DWUDNWLYQLK� ORNDFLMD� RYRJ�SURVWRUD��
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*UDQLFH� SODQLQH� 7DUH� RGUH HQH� VX� SR� JHRPRUIRORãNLP� NULWHULMXPLPD��SODQLQD�7DUD�LPD�GLQDUVNR�SUXåDQMH��-,�SUHPD�6=���QD�VHYHUX�L�VHYHURLVWRNX�MH� RJUDQLþHQD� UHNRP� 'ULQRP�� D� QD� LVWRNX� VH� SUHNR� .DOX HUVNLK� %DUD�QDVODQMD�QD�SRYUãLQX�3RQLNDYD��1D�MXJRLVWRNX�VH�7DUD�VSXãWD�X�.UHPDQVNX�NRWOLQX�� D� QD� ]DSDGX� MH� RPH HQD� 'HUYHQWRP� L� PRNURJRUVNR�U]DYVNRP�VLQNOLQDYRP�� 6UHGLãQML� GHR� SODQLQH� 7DUH� MH� QDMYLãL�� VD� YUKRP� =ERULãWH��������P���$PSOLWXGH�UHODWLYQLK�YLVLQD�7DUH�VX�QDMYHüH�QD�QMHQRM�VHYHUQRM�VWUDQL�� JGH� MH� UD]OLND�RG� WRND�'ULQH� �QD�RNR�����P�QDGPRUVNH�YLVLQH��GR�SRYUãL�7DUH��QD�SUHNR�������P�QDGPRUVNH�YLVLQH��QDMYHüD��SD�MH�QD�SULPHU�

QDMYHüD�YLVLQVND�UD]OLND�L]QDG�'ULQH�NRG�3HUXüFD�QD�%DQMVNRM�VWHQL�L�L]QRVL����� P�� 1DMPDQMH� YLVLQVNH� UD]OLNH� VX� QD� MXåQRM� VWUDQL�� ND� .UHPDQVNRM�NRWOLQL���
2VQRYQL� HOHPHQWL� UHOMHID� QD�7DUL� VX� SRYUãL� X� FHQWUDOQRP�� QDMSURVWUDQLMHP�GHOX�SODQLQH��WH�GXERNH�NDQMRQVNR�NOLVXUDVWH�GROLQH�NRMH�RSDVXMX�SODQLQVNL�SURVWRU��RVLP�NDQMRQVNH�GROLQH�5DþH��NRMD�MH�XVHþHQD�X�SRYUã�7DUH����
8NXSQD� SRYUãLQD� SODQLQH�7DUH� MH� ���� NP R�� D� SURVHþQD� YLVLQD� MH�������P��3RGUXþMH�1DFLRQDOQRJ�3DUND�7DUD�� NRML� MH� RVQRYDQ� ���� MXOD� ������ JRGLQH��]DX]LPD�SURVWRU�RG��������KHNWDUD���
1D�SRGUXþMX�13�7DUD�SRVWRML�]QDþDMDQ�EURM�]DãWLüHQLK�ELOMQLK��XNXSQR�RNR������� YUVWD� YLãLK� ELOMDND�� RG� NRMLK� MH� QDMSR]QDWLMD� 3DQþLüHYD� RPRULND�� L�åLYRWLQMVNLK�YUVWD��XNXSQR�RNR�����YUVWD�SWLFD��RNR����YUVWH�VLVDUD��RNR����YUVWD�KHUSHWRIDXQH�L�SUHNR����YUVWD�LKWLRIDXQH���
1DGDOMH�� X� RNYLUX� 1DFLRQDOQRJ� SDUND� 7DUD� QDOD]L� VH� GHYHW� SULURGQLK�UH]HUYDWD� �=YH]GD��&UYHQL�SRWRN��.DUDXOD�âWXOD��&UYHQH� VWHQH��/MXWL� EUHJ��%LOR�� 3RG�*RUXãLFRP�� 5DþDQVND� âOMLYRYLFD�� %UXVQLFD��� WH� EURMQD� SULURGQD�SRGUXþMD� VSHFLMDOQRJ� LQWHUHVD�� NDR� ãWR� VX� NDQMRQ� 'ULQH�� NDQMRQ� %UXVQLFH��NDQMRQ� 'HUYHQWH�� NDQMRQ� 5DþH�� NDQMRQ� %HORJ� 5]DYD�� VWDQLãWD� 3DQþLüHYH�RPRULNH��/MXWL�EUHJ��%LOR��&UYHQH�VWHQH��=PDMHYVNL�SRWRN��.LN��LWG����
3ODQLQD�7DUD� MH� DGPLQLVWUDWLYQR� SRGHOMHQD� L]PH X� RSãWLQD�8åLFH� L� %DMLQD�%DãWD��QDMYHüLP�GHORP���D�WR�YDåL�L�]D�SURVWRU�1DFLRQDOQRJ�SDUND�7DUD��
�������.OLPDWVNH�NDUDNWHULVWLNH��
.OLPD� QD� 7DUL� MH� NRQWLQHQWDOQR�SODQLQVND�� 3URVHþQD� WHPSHUDWXUD� OHWL� MH����� �&��D� ]LPL� L]QRVL� ���� �&��6UHGQMD�JRGLãQMD� WHPSHUDWXUD� MH���� �&��%URM�VXQþDQLK�GDQD�MH����JRGLãQMH��3URVHþQD�GQHYQD�LQVRODFLMD�OHWL�����K��D�]LPL����� K�� 5HODWLYQD� YODåQRVW� YD]GXKD� SURVHþQR� L]QRVL� ����� GRN� MH� JRGLãQMD�NROLþLQD�SDGDYLQD���������PP��3URVHþQD�GXåLQD�WUDMDQMD�VQHåQRJ�SRNULYDþD�MH�����GDQD�X]�SURVHþQX�GHEOMLQX�VQHJD�RG�����FP��3HULRG�SRG�VQHJRP�MH�RG�2NWREUD�GR�$SULOD��
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(YURSD�MH�X�������JRGLQL�X�XNXSQLP�PH XQDURGQLP�WXULVWLþNLP�GRODVFLPD�X� VYHWX� ]DX]LPDOD� WUåLãQL� XGHR� RG� ����� RGQRVQR� RVWYDULOD� XNXSQR� ����PLOLRQD� PH XQDURGQLK� WXULVWLþNLK� GROD]DND�� 8� SHULRGX� ������������ EURM�PH XQDURGQLK� WXULVWLþNLK� GROD]DND� X� VYHWX� L� X� (YURSL� UDVWDR� MH� SR�XPHUHQLP�SURVHþQLP�JRGLãQMLP�VWRSDPD��VYHW����GR�����(YURSD�RG����GR�������
3UHPD� SRGDFLPD� 6YHWVNH� WXULVWLþNH� RUJDQL]DFLMH�� X� ������ JRGLQL�� UHJLMD�6UHGQMH�L� ,VWRþQH�(YURSH�]DEHOHåLOD�MH����PLOLRQD�WXULVWLþNLK�GROD]DND��ãWR�MH� SRUDVW� RG� ����� QD� SUHWKRGQX� JRGLQX�� 9RGHüH� ]HPOMH� UHJLMH� SR� EURMX�WXULVWLþNLK� GROD]DND� VX� 0D DUVND� ���� PLO���� 3ROMVND� ���� PLO��� L� 5XVND�

)HGHUDFLMD� ��� PLO���� WH� ýHãND� 5HSXEOLND� ��� PLO���� 3URVHþQL� JRGLãQML� UDVW�PH XQDURGQLK�WXULVWLþNLK�GROD]DND�X�GUåDYDPD�6UHGQMH�L�,VWRþQH�(YURSH�X�SHULRGX� RG� ������������ XJODYQRP� MH� SUHOD]LR� ��� RGVWR�� X]� L]X]HWDN�%XJDUVNH� ������� WH� 3ROMVNH� X� NRMRM� MH� EURM� PH XQDURGQLK� WXULVWLþNLK�GROD]DND�X�LVWRP�SHULRGX�VPDQMHQ���

�����7XUL]DP�X�6UELML�
�������'DQDãQML�VUSVNL�WXULVWLþNL�SURL]YRG�
6UELMD�SRVHGXMH�UD]QRYUVQX�DWUDNFLMVNX�VWUXNWXUX��DOL�QMX�QH�SUDWL�DGHNYDWDQ�SURILO� WXULVWLþNLK� SURL]YRGD�� 1DLPH�� X� RNYLUX� VYLK� NOMXþQLK� WXULVWLþNLK�DWUDNFLMD�REOLNRYDQH�VX� LQLFLMDOQH�SRQXGH�SUH����WDN� L�YLãH�JRGLQD�� ,VWH�VX�]ERJ� RGVXVWYD� 6UELMH� V� PH XQDURGQRJ� WXULVWLþNRJ� WUåLãWD� RVWDOH�QHPRGHUQL]RYDQH�� D� WLPH� L� EH]� YHüH� SUHJRYDUDþNH� VQDJH� SUHPD�NXSFLPD��1DVOH HQD� WXULVWLþND� VXSUDVWUXNWXUD� MH� XJODYQRP� VWYRUHQD� ]D� SRWUHEH�GRPDüHJ� WXULVWLþNRJ� WUåLãWD�� D� QDURþLWR� VRFLMDOQRJ�� RPODGLQVNRJ� L� GHþMHJ�WXUL]PD�� 2YR� VH� REMDãQMDYD� þLQMHQLFRP� ãWR� MH� X� YUHPH� ELYãH� -XJRVODYLMH�JODYQL�IRNXV�WXULVWLþNRJ�UD]YRMD�ELR�QD�MDGUDQVNRP�WXUL]PX��
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1D� XODVNX� X� QRYX� HUX� UD]YRMD� WXUL]PD�� 6UELMD� MH� V� MHGQH� VWUDQH� VXRþHQD� V�SRWUHERP�XEU]DQH�UHYLWDOL]DFLMH�QDVOH HQH�VXSUDVWUXNWXUH��D�V�GUXJH�VWUDQH�V�LQWHOLJHQWQLP� NRULãWHQMHP� EURMQLK� QHWDNQXWLK� DWUDNFLMD� L� REOLNRYDQMHP�QRYLK�SURL]YRGD���
�������2VQRYQD�REHOHåMD�WXULVWLþNH�WUDåQMH�6UELMH�
2VQRYQD�REHOHåMD�WXULVWLþNH�WUDåQMH�X�6UELML�VX�VOHGHüD��
�� 8�SHULRGX�SRVOHGQMLK�SHW�JRGLQD��������GR��������VUSVNL�WXUL]DP�EHOHåL�SURVHþQX� JRGLãQMX� VWRSX� SDGD� EURMD� QRüHQMD� RG� ��������1D� SRGUXþMX�6UELMH� UHJLVWURYDQR� MH� X� ������ JRGLQL� XNXSQR��������� KLOMDGD� QRüHQMD�WXULVWD�� ãWR� SUHGVWDYOMD� RNR� ������ QRüHQMD� L]� ������ JRGLQH�� 6OLþQH�WHQGHQFLMH� NDUDNWHULVDOH� VX� L� UHJLVWURYDQH� WXULVWLþNH� GRODVNH�� 2G�XNXSQRJ� EURMD� QRüHQMD� UHJLVWURYDQLK� �����J��� þDN� ���� RVWYDULOL� VX�GRPDüL�JRVWL��
�� 8�SHULRGX�RG�������GR�������JRGLQH�SURVHþQD�GXåLQD�ERUDYND�WXULVWD�X�6UELML� MH� VPDQMHQD�� ãWR� MH� UHIOHNVLMD�JOREDOQLK� WUHQGRYD�X�VDYUHPHQRP�WXUL]PX þ��
�� 1DMYDåQLMH�WXULVWLþNH�UHJLMH�6UELMH��PHUHQR�EURMHP�RVWYDUHQLK�QRüHQMD�L�GROD]DND�� VX� -XJR]DSDGQD� 6UELMD� � L� .RSDRQLþND� UHJLMD�� RGQRVQR�%HRJUDG�L�QMHJRYD�RNROLQD���
�� *RGLãQML� QLYR� LVNRULãüHQRVWL� XNXSQLK� VPHãWDMQLK� NDSDFLWHWD� X� 6UELML� X�SRVOHGQMLK� QHNROLNR� JRGLQD� VH� SRVWHSHQR� VPDQMXMH�� 7DNR� MH� WRNRP������� JRGLQH� RVWYDUHQR� NRULãüHQMH� NDSDFLWHWD� RG� ������� ãWR� QD�JRGLãQMHP�QLYRX�SUHGVWDYOMD����GDQD�SXQH� ]DX]HWRVWL��7R� MH� ]D�RNR���

������������������������������������������������������
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GDQD� SXQH� ]DX]HWRVWL� PDQMH� RG� UH]XOWDWD� SRVWLJQXWLK� WRNRP� ������JRGLQH���
�� 1DMEROMH�VX�SRSXQMHQL�VPHãWDMQL�NDSDFLWHWL�X�EDQMVNLP�L�LOL�NOLPDWVNLP�OHþLOLãWLPD��RNR�����GDQD�SXQH�]DX]HWRVWL�X�SURVHNX���
�� ,VNRULãüHQRVW� KRWHOVNLK� REMHNDWD� X� SRVPDWUDQRP� SHULRGX� MH� ELOD�UHODWLYQR�VNURPQD����������GDQD�SXQH�]DX]HWRVWL���GRN�MH�SRSXQMHQRVW�UDGQLþNLK� L� RPODGLQVNLK� RGPDUDOLãWD� X� NRQWLQXLUDQRP� RSDGDQMX�� ãWR�VYHGRþL�R�VYH�PDQMHP�LQWHUHVX�]D�RYRP�YUVWRP�SRQXGH��
�� 6H]RQDOQRVW�WXULVWLþNRJ�SURPHWD�MH�XPHUHQR�L]UDåHQD�L�SULODJR HQD�WLSX�SURL]YRGD� NRML� 6UELMD� QXGL� X� WXUL]PX�� 1DMYHüL� EURM� QRüHQMD� X� 6UELML�UHDOL]XMH�VH�WRNRP��WRSOLK��PHVHFL��SHULRG�PDM���RNWREDU���SUL�þHPX�MXO�L�DYJXVW�SUHGVWDYOMDMX�PHVHFH�V�QDMYHüLP�EURMHP�RVWYDUHQLK�QRüHQMD��
�� 1DM]QDþDMQLMD�HPLWLYQD�WUåLãWD�]D�VUSVNL�WXUL]DP�X�������JRGLQL�ELOD�VX�WUåLãWD� %RVQH� L� +HUFHJRYLQH� ������� XNXSQRJ� EURMD� QRüHQMD��� ýHãNH��������� 1HPDþNH� �������� 1RUYHãNH� �������� ,WDOLMH� ������� L� 7XUVNH��������� ,QWHUHVDQWQR� MH� LVWDüL� GD� SUYLK� ãHVW� HPLWLYQLK� WUåLãWD� JHQHULãH�]DMHGQR�WHN�RNR�����XNXSQRJ�EURMD�RVWYDUHQLK�QRüHQMD��ãWR�XND]XMH�QD�þLQMHQLFX� GD� VX� SRVHWH� L� QRüHQMD� LQRVWUDQLK� WXULVWD�� ]QDWQR� YLãH�SRVOHGLFD� SRVORYQLK� L� LQGLYLGXDOQLK� WXULVWLþNLK� SXWRYDQMD�� D� PDQMH�RUJDQL]RYDQRJ�LQWHUQDFLRQDOQRJ�WXULVWLþNRJ�SURPHWD�VD�L]DEUDQLK�WUåLãWD�WUDåQMH��
�������7XULVWLþNL�SURPHW�7DUH�
�� 7DUD�� D� WLPH� L� SRGUXþMH� REXKYDWD� RYRJ� SURMHNWD�� QDOD]L� VH� QD�DGPLQLVWUDWLYQRP� SRGUXþMX� GYH� RSãWLQH� �%DMLQD� %DãWD� L� 8åLFH��� SD� VH�]ERJ� WRJD� SRGDFL� R� VPHãWDMQLP� NDSDFLWHWLPD� L� WXULVWLþNRP� SURPHWX�SUHPD� 5HSXEOLþNRP� ]DYRGX� ]D� VWDWLVWLNX� UD]OLNXMX� RG� SRGDWDND�6SRUWVNR� WXULVWLþNRJ�FHQWUD�X�%DMLQRM�%DãWL��5HOHYDQWQL�SRGDFL�]D�RYDM�SURMHNDW� RGQRVH� VH� QD� RQH� NRML� XNOMXþXMX� L� RGUH HQD� SRGUXþMD� 7DUH�L]YDQ�RSãWLQH�%DMLQD�%DãWD��2YGH�MH�YDåQR�QDSRPHQXWL�GD�]D�SRGUXþMH�
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3RGUX MH�VD�QLVNLP�VWHSHQRP�]DJD HQMD��YD]GXKD��YRGH��QHPD�EXNH��LWG��
5DVW�L�UD]YRM�QHNLK�RG�NOMX QLK�GRJD DMD�QD�SRGUX MX�7DUH��QSU��'ULQVND�
*UDQG�UHJDWD�

/HSRWD�SULURGH�L�UD]QROLNRVW�SHM]DæD
(NRORäND�R XYDQRVW�XæHJ�L�äLUHJ�SRGUX MD�1DFLRQDOQRJ�SDUND�7DUD

5HOLNWQH�L�HQGHPL NH�ELOMQH�æLYRWLQMVNH�YUVWH
5HND�'ULQD�L�SODQLQD�7DUD�NDR�JODYQL�HOHPHQWL�NRML�NDUDNWHULäX�FHOR�SRGUX MH

0RJXýQRVW�SUHNRJUDQL QH�VDUDGQMH�X�VPLVOX�XVSRVWDYOMDQMD�UHJLRQDOQRJ�
UH]HUYDWD�ELRVIHUH
%RJDWVWYR�L�DWUDNWLYQRVW�ORNDOQH�JDVWURQRPLMH��WH�PRJXýQRVW�EUHQGLUDQMD�
JDVWURQRPVNLK�ORNDOQLK��SURL]YRGD�

�� �� � ���� �� � �� ��� � � � �� � �� � � � �� �� �

8JRGQD�NOLPD
%RJDWVWYR�NXOWXUQH���LVWRULMVNH�EDäWLQH

2E]LURP�QD�VWDUWQX�SR]LFLMX�7DUH��GHVWLQDFLMD�QD�SR HWNX���SRVWRML�
PRJXýQRVW�L]ERUD�QDMSULPHUHQLMHJ�VPHUD�WXULVWL NRJ�UD]YRMD
0RJXýQRVW�SUHNRJUDQL QH�L�PH XUHJLRQDOQH�VDUDGQMH�X�UD]YRMX�WXUL]PD

-DNRVWL
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8VOXJH�ORNDOQRJ�MDYQRJ�SUHYR]D�QHGRYROMQR�SRX]GDQH��IUHNYHQWQH�L�
QHGRYROMQR�NYDOLWHWQH
2SäWD�LQIUDVWUXNWXUD��YRGRYRG��HO��HQHUJLMD��NDQDOL]DFLMD��WUHQXWQR�
QHDGHNYDWQD�]D�WXULVWL NL�UD]YRM

6PDQMHQD�GXJRUR QD�ORMDOQRVW�JRVWLMX�NDR�SRVOHGLFD�QHJDWLYQRJ�LVNXVWYD�
GRODVND�X�GHVWLQDFLMX
*XELWDN�SRWHQFLMDOQRJ�WUæLäWD�XVOHG�]DRVWDMDQMD�]D�NRQNXUHQFLMRP

0RJXýQRVWL
3RVWRMH�PRJXýQRVWL�]D�XQDSUH HQMH�L�SURäLUHQMH�RSäWH�LQIUDVWUXNWXUH�
�YRGRYRG��HO��HQHUJLMD��NDQDOL]DFLMD�

1HGRVWDWDN�VLVWHPD�]D�UHFLNOLUDQMH�RWSDGD
3UHWQMH

1HGRVWDWDN�L]YRUD�]D�ILQDQVLUDQMH�LQIUDVWUXNWXUH�L�VDREUDýDMD

,1)5$6758.785$��6$2%5$ü$-1$��23ã7$�,�785,67,þ.$�

0RJXýQRVW�EROMHJ�SRYH]LYDQMD�GHVWLQDFLMH�XVOHG�UD]YRMD�PDJLVWUDOQLK�
SUDYDFD�X�EOL]LQL��WH�RWYDUDQMD�UHJLRQDOQRJ�DHURGURPD�X�3RQLNYDPD
'REUD�SR]LFLMD�XQXWDU�UHJLMH�L�NRULäýHQMH�VDREUDýDMQLK�SRYH]QLFD�VD�
ORNDFLMDPD�QD�SRGUX MX�2SäWLQH�8æLFH�L�X�VXVHGQRM�%L+

-DNRVWL
8UEDQLVWL NL�SODQRYL�X�WRNX
3URMHNWL�VLJQDOL]DFLMH�QD�SRGUX MX�13�7DUD�X�SURFHVX�L]UDGH
6WUDWHäNL�JHRSURPHWQL�SRORæDM�XQXWDU�UHJLMH�

1HGRVWDWDN�L�GHYDVWDFLMD�VDREUDýDMQH�L�WXULVLW NH�VLJQDOL]DFLMH

1HGRVWDFL
=DVWDUHOD�L�ORäH�RGUæDYDQD�VDREUDýDMQD�LQIUDVWUXNWXUD
/RäD�VDREUDýDMQD�SRYH]DQRVW�GHVWLQDFLMH��LQWHUQD�L�HNVWHUQD�
5HJLRQDOQL�DHURGURP�X�3RQLNYDPD�QLMH�X�IXQNFLML

�

785,67,þ.2�326/29$1-(

5HVWRUDQL�VD�SRQXGRP�ORNDOQLK�VSHFLMDOLWHWD

3URFHV�SULYDWL]DFLMH�L�VWDELOL]DFLMD�SRVORYDQMD�QDVOH HQH�WXULVWL NH�LPRYLQH�
QD�SRGUX MX�7DUH

-DNRVWL
+RWHOL�QD�DWUDNWLYQLP�SR]LFLMDPD
'XJRJRGLäQMD�WUDGLFLMD�WXUL]PD�QD�QHNLP�SRGUX MLPD��QSU��.DOX HUVNH�%DUH�
L�0LWURYDF�

3RNUHQXWL�SURFHV�SULYDWL]DFLMH�KRWHOVNLK�SUHGX]HýD
5DVSRORæLYH�]RQH�]D�QRYL�WXULVWL NL�UD]YRM

1HGRVWDFL
1HGRVWDWDN�VPHäWDMQLK�NDSDFLWHWD�LQWHUQDFLRQDOQRJ�NYDOLWHWD

1HGRVWDWDN�LQRYDFLMD�L�VSHFLMDOL]DFLMH�WXULVWL NLK�SURL]YRGD�L�SRQXGH
1HGRVWDWDN�LQRYDFLMD�X�PDUNHWLQJX�L�SURGDML

3RWUHED�]D�UHQRYLUDQMHP�VPHäWDMQLK�REMHNDWD�L�QMLKRYR�GRYR HQMH�QD�
LQWHUQDFLRQDOQH�VWDQGDUGH
,]UD]LWL�IRNXV�QD�SURGDMX�JUXSDPD
6ODED�SRYH]DQRVW�KRWHOVNLK�NXýD�VD�ORNDOQLP�SURL]YR D LPD�]GUDYH�KUDQH

0RJXýQRVWL
9DORUL]RYDQMH�WXULVWL NRJ�SRWHQFLMDOD�SRGUX MD�7DUH��UHND�'ULQD��SODQLQD��
SULURGD��LWG��

3UHWQMH
8EU]DQH�DNWLYQRVWL�NRQNXUHQDWD�QD�UD]YRMX�WXULVWL NLK�SURL]YRGD�L�
PRJXýQRVW�VODEOMHQMD�VWDUWQH�SR]LFLMH�7DUH,]RVWDQDN�LQWHUHVD�ORNDOQLK�L�VWUDQLK�XODJD D�]D�XODJDQMH�X�WXULVWL NX�
LQGXVWULMX�SRGUX MD�7DUH

��
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�������=DNOMXþDN�
6� RE]LURP� QD� RFHQMHQH� HOHPHQWH� L]� 6:27� DQDOL]H�� NOMXþQL� VH� ]DNOMXþFL�QDPHüX�NDNR�VOHGL��
�� UHþ�MH�R�SRGUXþMX�V�MDNLP�SRWHQFLMDOLPD��DOL�NRMH�X�GRVDGDãQMHP�SHULRGX�QLMH� VOHGLOR� XRELþDMHQD� SUDYLOD� LJUH� WXULVWLþNH� LQGXVWULMH� X� L� RNR�QDFLRQDOQLK�SDUNRYD��
�� UHþ�MH�R�SRGUXþMX�NRMH�]D�VDGD�QHPD�GRYROMQR�MDNLK�LJUDþD�X�SULYDWQRP�VHNWRUX� VSUHPQLK� GD� SUHX]PX� ]QDþDMQLML� UL]LN� SUHREUDåDMD� WXULVWLþNH�IL]LRQRPLMH�RYRJD�NUDMD���
�� UHþ� MH�R�SRGUXþMX�JGH� MRã�XYHN�QLMH�NRQVROLGRYDQ�MDYQL� VHNWRU�NRML�EL��UHJXODFLMRP� L� GUXJLP� SRGVWLFDMLPD�� ELR� X� VWDQMX� VDPRVWDOQR� LQLFLUDWL�R]ELOMQLML� UD]YRM�� ]ERJ� þHJD� MH� RYGH� QXåDQ� HNVWHUQL�� WR� MHVW� GUåDYQL�SRGVWLFDM��
�� UHþ� MH� R� SRGUXþMX� NRMH� MH� YHü� XYHOLNR� RWNULYHQR� NDR� PRJXüL� UDM� ]D�UD]YRM� QHNUHWQLQD�� SD� VH� KLWQR� QDPHüH� SRWUHED� GRJRYRUD� ORNDOQLK�LQWHUHVQLK� VXEMHNDWD�� SUYR� R� NRQFHSWX� UD]YRMD�� D� RQGD� R� UHJXODFLML� L�LQWHOLJHQWQRP�SULVWXSX�SULYODþHQMD�YHOLNLK�L�PDOLK�LQYHVWLWRUD��L�
�� NRQDþQR�� UHþ� MH� R� SRGUXþMX� JGH� MH� QXåDQ� KLWDQ� SURJUDP� LQWHUQRJ�PDUNHWLQJD�X�YH]L� VD� UD]YRMHP� WXUL]PD� L� WXULVWLþNH�NXOWXUH�� V�RE]LURP�QD� þLQMHQLFX� GD� VX� QHNL� HOHPHQWL� SRWHQFLMDOQRJ� ODQFD� YUHGQRVWL�GHVWLQDFLMH� YHü� ]QDþDMQR� XJURåHQL�� 6WDQRYQLãWYR� NUDMD� WUHED� ãWR� SUH�VHQ]LELOL]RYDWL�]D�WXUL]DP�NDR�EXGXüX�YDåQX�SROXJX�HNRQRPVNRJ�UDVWD���

25*$1,=$&,-$�,�835$9/-$1-(�785,=020

7DUD�NDR�GHVWLQDFLMD�MH�QD�SR HWNX�UD]YRMD��WH�LPD�PRJXýQRVW�GD�NRULVWL�
LVNXVWYD�L�JUHäNH�GUXJLK�GHVWLQDFLMD

-DNRVWL
3RVWRMDQMH�DNWLYQRJ�WXULVWL NRJ�ELURD��67&�%DMLQD�%DäWD�
3R HWDN�XYR HQMD�UHJXODFLMH�SURVWRUQRJ�UD]YRMD�UHJLMH

,]UDæHQL�LQWHUHV�SRGUX MD�7DUH�]D�UD]YRMHP�WXUL]PD
,]UDæHQD�YROMD�UHJLMH�GD�WXULVWL NL�UD]YLMH�SRGUX MH�7DUH

1HGRVWDWDN�MDVQLK�XORJD�X�XSUDYOMDQMX�WXUL]PRP�RG�VWUDQH�UHJLMH
1HGRVWDWDN�SURYR HQMD�]DäWLWH�SULURGQLK�L�NXOWXUQLK�UHVXUVD�
1HGRYROMQR� YUVWD�VDUDGQMD�MDYQRJ�L�SULYDWQRJ�VHNWRUD�QD�SRGUX MX�7DUH

1HGRVWDFL
-Rä�XYHN�QHMDVQD�YL]LMD�L�SUDYLOD�LJUH�X�VHNWRUX�WXUL]PD�UHJLMH

1HGRYROMDQ�EURM�ORNDOQLK�VWUX QLK�NDGURYD
1HMDVDQ�LPLGæ�L�SR]LFLRQLUDQMH�XæHJ�L�äLUHJ�SRGUX MD�13�7DUD

1HGRYROMQD�SULPHQD�]DNRQD��NRQWUROH�L�ND]QHQH�SROLWLNH�YH]DQH�X]�LQFLGHQWH�
QD�XæHP�L�äLUHP�SRGUX MX�13��GLYOMD�JUDGQMD��RGODJDQMH�RWSDGD�
1HGRVWDWDN�GHVWLQDFLMVNRJ�PHQDGæPHQWD
1HGRYROMQR� YUVWR�L�MDVQR�XGUXæLYDQMH�QD�SRGUX MX�NODVWHUD�L�UHJLMH
1HGRVWDWDN�YHýHJ�EURMD�]QD DMQLK�WXULVWL NLK�SUHGX]HWQLND���SRNUHWD D�
QRYRJ�WXULVWL NRJ�UD]YRMD

0RJXýQRVWL
,]UDGD�0DVWHU�SODQD�]D�SRGUX MH�7DUH

1HGRYROMQR�NYDOLWHWQL�L�QHGRYROMQR�NRQ]LVWHQWQL�SURPRWLYQL�PDWHULMDOL
3UHWQMH

-Rä�XYHN�SULVXWDQ�QL]DN�QLYR�RVHýDMD�SUHPD�MDYQRP�GREUX�L�MDYQLP�
LQWHUHVLPD
2WHæDQ�GRJRYRU�R�SULRULWHWLPD�]ERJ�VXNRED�ORNDOQLK�LQWHUHVD
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�����6WUDWHãNH�SUHGQRVWL�L�QHGRVWDFL�
6:27� DQDOL]D� MH� SRND]DOD� ãLURN� VNXS� MDNRVWL�� QHGRVWDWDND�� SUHWQML� L�PRJXüQRVWL��SD� L]� WRJD�SURL]OD]H�SULRULWHWL� L�VWUDWHJLMH�GHORYDQMD��8�VNODGX�VD�WLP��SRWUHEQR�MH�GHILQLVDWL�NRMH�VWUDWHãNH�SUHGQRVWL�7DUD�PRåH�NRULVWLWL�]D�L]JUDGQMX�VYRMH�WXULVWLþNH�LQGXVWULMH�X�VOHGHüHP�SHULRGX���
0RGHUQH� VYHWVNH� WXULVWLþNH� GHVWLQDFLMH� VH�� RVLP� NULWHULMXPD� SURL]YRGD� L�NYDOLWHWD�WXULVWLþNH�SRQXGH�X�XåHP�VPLVOX��RVODQMDMX�QD�SULQFLSH�HNRQRPLMH�LVNXVWYD��WH�VX�WDNR�XVPHUHQH�QD�L]JUDGQMX�L�RþXYDQMH�GXJRURþQLK�VWUDWHãNLK�SRWHQFLMDOD�� þLMD� VX� SRGORJD� MHGLQVWYHQL� SURL]YRGL�� SRQXGD� L� LVNXVWYD��RGQRVQR�VWUDWHãNL�UHVXUVL�]D�EXGXüL�XVSHK��
-HGQDNR� WDNR�� 7DUD� VH� PRUD� IRNXVLUDWL� QD� NOMXþQH� QHGRVWDWNH� NDNR� EL�RVLJXUDOD�VYRMX�SR]LFLMX�QD�GRPDüHP�L�VWUDQRP�WXULVWLþNRP�WUåLãWX���
�
�
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�

�
�
�./-8ý1(�35('1267,�

&� QHGLUQXWD�SULURGD��OHSRWD�
SODQLQH��ãXPH��UHNH�L�MH]HUD��þLMH�VOLNH�VWYDUDMX�
SUHSR]QDWOMLYL�LPLGå�MHGLQVWYHQRJ�L�NRQWUDVWLPD�ERJDWRJ�SHM]DåD�

&� JHRJUDIVNL�SRORåDM�7DUH�X�UHJLML��VD�VXVHGQLP�
WXULVWLþNLP�GHVWLQDFLMDPD�DWUDNFLMDPD�]RQDPD��0RNUD�*RUD��
=ODWLERU��LWG���VD�NRMLPD�VH�7DUD�PRåH�LQWHJULVDQR�
UD]YLMDWL��

&� XUR HQR�JRVWRSULPVWYR�OMXGL��L�MDN�SR]LWLYDQ�
HPRWLYQL�RGQRV�NRML�JRVW�GRELMD�NDR�UH]XOWDW�VYRJ�
ERUDYND�QD�7DUL�

./-8ý1,�1('267$&,�
'� RJUDQLþHQ�SULVWXS�GR�7DUH��

�SXWHYL��åHOH]QLFD��DHURGURP���
'� QHUD]YLMHQRVW�ED]LþQH�LQIUDVWUXNWXUH��SRVHEQR�WUHWPDQD�WHNXüHJ�L�NUXWRJ�

RWSDGD�X�SURVWRUX�REXKYDWD�SURMHNWD�
'� QHGRVWDWDN�ED]QH�SURVWRUQR�XUEDQLVWLþNH�UHJXODWLYH��
'� EHVSUDYQD�JUDGQMD�
'� QHGRVWDWDN�NOMXþQLK�LJUDþD�

QD�ORNDOQRP�QLYRX�]D�SUHX]LPDQMH�RGJRYRUQRVWL�UD]YRMD�FHORYLWRJ�SURMHNWD�
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�����9L]LMD�L�SR]LFLRQLUDQMH�
6YDND�UHJLMD�GD�EL�REH]EHGLOD�GXJRURþQR�RGUåLY� � L�HILNDVDQ�XWLFDM�WXUL]PD�QD� UD]YRM� ORNDOQH� HNRQRPLMH�� QXåQR� PRUD� DUWLNXOLVDWL� UHDOLVWLþQX� YL]LMX��1DGDOMH�� RQD� VH� PRUD� WUåLãQR� SR]LFLRQLUDWL� V� RE]LURP� QD� ORNDOQX� L�LQWHUQDFLRQDOQX�NRQNXUHQFLMX����
9L]LMD� QH�SUHGVWDYOMD�PDãWX� ]DVQRYDQX�QD� LGHRORãNLP�SULQFLSLPD� YHü� RQD�SURL]OD]L� L]� VLVWHPVNRJ� SURPLãOMDQMD� L� SUHWKRGQR� VSURYHGHQH� SURFHGXUH�DQDOL]H� WUåLãWD�� DQDOL]H� NRQNXUHQFLMH� L� EHQþPDUN� DQDOL]H�� 8� UDVSUDYL� RNR�YL]LMH� SRGUXþMD� 7DUH� VSURYHGHQL� VX� UD]JRYRUL� VD� NOMXþQLP� LQWHUHVQLP�VXEMHNWLPD�UHJLMH���MDYQD�YODVW��SUHGX]HüD�L�SUHGX]HWQLFL��þLPH�VX�SURQD HQL�RVQRYL�]D�UDFLRQDOQL�RNYLU�YL]LMH�SRGUXþMD��
'DQDãQML� VYHWVNL� WXULVWLþNL� UD]YRM� XVPHUHQ� MH� QD� SRQXGX� WXULVWLþNLK�SURL]YRGD�ED]LUDQLK�QD�L]JUDGQML�VXSWLOQLK�GRåLYOMDMD�L�LVNXVWDYD��]D�UD]OLNX�RG�SURãOLK�YUHPHQD�NDGD�VH�XJODYQRP�JRYRULOR�R�PDWHULMDOQLP�HOHPHQWLPD�WXULVWLþNH�SRQXGH��8VOHG�SURPHQD�VWLORYD�L�REUD]DFD�åLYOMHQMD�SURPHQLOD�VH�L�NXOWXUD�SXWRYDQMD�SUH�VYHJD�X�SUDYFX�GLYHU]LILNDFLMH�LQWHUHVD��JGH�RGUH HQL�SURMHNDW�QXGL�FHORYLWL�VDGUåDM�]D�MHGDQ�LOL�YLãH�WLSRYD�WXULVWLþNLK�NRULVQLND�X�GHILQLVDQLP�LVNXVWYHQLP�FHOLQDPD��
8NROLNR�VH�GHVWLQDFLMD�SUHSR]QD�X�LVNXVWYHQRM�HNRQRPLML��DOL�L�DNR�SUHSR]QD�VYRM� �XQLYHU]XP�� MHGLQVWYHQLK� DWULEXWD� NDUDNWHULVWLþQLK� VDPR� ]D� WR�SRGUXþMH��PRJXüH�MH�NUHLUDWL�NRQNXUHQWVNH�WXULVWLþNH�SURL]YRGH�NRML�üH�ELWL�X�VNODGX�VD�WUDåHQLP�NRULVWLPD�SRWURãDþD�����
3RGUXþMH�7DUH�MH�X�JOREDOQLP�UD]PHULPD�SULOLþQR�PDOD� ORNDFLMD�NRMD�MH�QD�VDPRP�SRþHWNX�L�QHPD�REMHNWLYQR�GRYROMQR�MDNH�XQLYHU]DOQH�DWULEXWH�SD�VH�QXåQR�PRUD� GHORPLþQR� RVORQLWL� QD� NOMXþQH� DWULEXWH� ãLUH� UHJLMH� �-=� 6UELMH��NRMD� VH�QDOD]L�X�SURFHVX�XODVND�QD� WXULVWLþNX�SR]RUQLFX�SXWHP�SULKYDüHQH�6WUDWHJLMH�WXUL]PD�5HSXEOLNH�6UELMH��

�
�
1D� RVQRYX� VSURYHGHQLK� LVWUDåLYDQMD� +RUZDWK� &RQVXOWLQJD� L� (NRQRPVNRJ�IDNXOWHWD� X� %HRJUDGX� X� YH]L� VD� NOMXþQLP� YUHGQRVQLP� DWULEXWLPD�-XJR]DSDGQH�6UELMH�SURL]OD]L�VOHGHüH��

-XJR]DSDGQD�6UELMD�RWYRUHQRJ�VUFD�SULPD�WXULVWH�L]�]HPOMH�L�
LQRVWUDQVWYD��XND]XMXüL�LVWRYUHPHQR�QD�VYRMH�ERJDWR�QDVOH H��
QHJRYDQH�L�]DãWLüHQH�SULURGQH�UHVXUVH�L�PRGHUQR�RSUHPOMHQH�

VPHãWDMQH�NDSDFLWHWH�SXWHP�NOMXþQLK�SULURGQLK�L�LVWRULMVNLK�UHVXUVD�
VD�NYDOLWHWQLP�VWDQGDUGRP�RSUHPDQMD�]LPVNLK�L�OHWQMLK�

]GUDYVWYHQLK�L�UHNUHDWLYQLK�VUHGLãWD��&HORNXSQL�GRåLYOMDM�SRQXGH�
LVNXVWDYD�QDJODãDYD�MHGLQVWYHQL�XYLG�X�VUSVNX�GXKRYQX�NXOWXUX�VD�

PDQDVWLULPD��
�
%D]LþQH� YUHGQRVWL� -XJR]DSDGQH� 6UELMH� VX� X� SRWSXQRVWL� SULPHQMLYH� L� ]D�SRGUXþMH�7DUH��0H XWLP��]ERJ�SRWUHEH�GLIHUHQFLMDFLMH�7DUH�X�VNORSX�UHJLMH�MH�SRWUHEQR�QDJODVLWL�VOHGHüH�NOMXþQH�YUHGQRVWL��

�� 9HOLþDQVWYHQD�VFHQRJUDILMD��
�� 1HLVNYDUHQD�RNROLQD��
�� %OL]LQD�GLYOMLQH��
�� 3URXþDYDQMH�SULURGH��
�� $NWLYQRVWL�X�]GUDYRP�RNUXåHQMX��
�� 3VLKRORãNL�PLU��

7XUL]DP�]DVQRYDQ�QD�SULURGL�MH�NOMXþ�UD]YRMD�WXULVWLþNRJ�SRGUXþMD�7DUH��JGH�VH�GDMH�SRVHEDQ�QDJODVDN�QD�EDODQV�L]PH X�SULURGH� L� WXULVWLþNLK�DNWLYQRVWL�VD�PLQLPDOQLP�OMXGVNLP�XWLFDMHP�QD�RNROLQX��
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8�LQWHUHVX�UD]YRMD�%DMLQH�%DãWH�NDR�WXULVWLþNRJ�PHVWD��YDåQR�MH�YHü�RGPDK�]DSRþHWL�V� LQWHUQLP�SURJUDPLPD�NRQNXUHQWQRVWL� L�PDUNHWLQJD��D�V�RE]LURP�QD�EXGXüX�PLVLMX�X�FHORYLWRP�UD]YRMX�L�LQWHUSUHWDFLML�13�7DUD����
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$NWLYQRVWL�L�XVOXJH�� �
� 6SRUWVNR�WXULVWLþNL� FHQWDU� %DMLQD� %DãWD� SUXåD� XVOXJH�LQIRUPLVDQMD�R�SRQXGL�7DUH�
� /RNDOQL�GRJD DML��'DQL�PODGLFH��,YDQGDQVNL�GDQL�L�YDãDU��'ULQVND� *UDQG� UHJDWD�� %UGVND� DXWR� WUND�� 5HOL� QD� 7DUL��

'DQL�UDþH��/LNRYQD�NRORQLMD��LWG���QHNL�RG�RYLK�GRJD DMD�RGUåDYDMX�VH�X�VDPRM�%DMLQRM�%DãWL��GRN�VX�QHNL�ORFLUDQL�QD�ãLUHP�SRGUXþMX�7DUH��� (NVNXU]LMH��LQGLYLGXDOFL�L�JUXSH��
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� /RNDOQD�JDVWURQRPVND�SRQXGD�X���UHVWRUDQD�
6SRUWVNL�NDSDFLWHWL��

� 6SRUWVNR� UHNUHDWLYQL� FHQWUL� L� REMHNWL� IL]LþNH� NXOWXUH��WHUHQL�]D�IXGEDO��DWOHWLNX��NRãDUNX��RGERMNX��PDOL�IXGEDO��UXNRPHW��WHQLV��
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&LOMDQL� NDUDNWHU� SRGUXþMD�� &HQWDU� 7DUH� L� 'ULQH�� XOD]� X� 7DUX� L� 'ULQX���JHQHUDWRU�SURJUDPD�UD]YRMD�7DUH�L�'ULQH���
0HVWR�NRMH�RPRJXüDYD�YDVNUVHQMH�7DUH�L�'ULQH�QD�PH XQDURGQRP�WUåLãWX��D�7DUD�L�'ULQD�PX�YUDüDMX�LVWRP�PHURP���
3R]LFLRQLUDQMH��%DMLQD�%DãWD� VH� WXULVWLþNL�SR]LFLRQLUD�NDR�PHVWR�XOD]D� L�RSHUDWLYQL� FHQWDU� �KXE�� SRGUXþMD� 7DUH� L� 'ULQH�� VD� NRQFHQWUDFLMRP�RGJRYDUDMXüLK� SURL]YRGD� L� XVOXJD�� 2QD� MH� FHQWDU� NRML� JRVWL� 7DUH� L� 'ULQH�VYDNDNR�WUHEDMX�SRVHWLWL��%DMLQD�%DãWD�UD]YLMD�7DUL�L�'ULQL�NRPSOHPHQWDUQH�SURL]YRGH��XVOXJH���SURJUDPH�L�DNWLYQRVWL��
%DMLQD�%DãWD�MH�PHVWR�SRVORYQRJ�SURPHWD��QH]DRELOD]QR�PHVWR�WXUD�RYRJD�NUDMD��PHVWR� ]D�PDQMH� VDVWDQNH��PHVWR� ]D� GRJD DQMD� L� NRQDþQR� LVKRGLãQR�PHVWR�]D�VSHFLMDOQH�LQWHUHVH��ULERORY��LWG����
'D� EL� SRVWLJOD� LPLGå� FHQWUD� �
KXE
�� MHGQRJ� SRWHQFLMDOQR� DWUDNWLYQRJ�WXULVWLþNRJ� SRGUXþMD�� %DMLQD� %DãWD� WUHED� GD� VSURYHGH� R]ELOMDQ� SODQ�SRGL]DQMD� NRQNXUHQWQRVWL� SUH� VYHJD� SUHREOLNRYDQMHP� L� UHKDELOLWDFLMRP�L]JOHGD� PHVWD� NDNR� EL� VWYRULOD� XWLVDN� SLWRPRJ� L� XJRGQRJ� XOD]D� X� VYHW�SODQLQVNRJ�GRåLYOMDMD�����
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� 5HKDELOLWDFLMD� +RWHOD� 'ULQD�� NRML� VH� SR]LFLRQLUD� NDR�JUDGVNL� KRWHO� VD� QDJODVNRP� QD� SRVORYQH� JRVWH��LQGLYLGXDOQH� WXULVWLþNH� SRVHWLRFH�� JUXSH�� L� SRVHWLRFH�VSHFLMDOQLK� LQWHUHVD� L� GRJD DQMD�� +RWHO� VH� RUMHQWLãH� QD�RUJDQL]DFLMX�SRVORYQLK�VDVWDQDND���EDQTXHWLQJ��WH�ORNDOQH�VYHþDQRVWL� �VYDGEH�� LWG���� 3UHGODåHPR� NDWHJRULMX� KRWHOD�RG���LQWHUQDFLRQDOQH�]YH]GLFH���
� 3UHGODåHPR� UHKDELOLWDFLMX� L� PRGHUQL]DFLMX� PRWHOD� %HOYL�XQXWDU� SRVWRMHüLK� JUD HYLQVNLK� JDEDULWD�� VD� NDSDFLWHWRP�RG����VRED��� 3UHGODåHPR� SURãLUHQMH� L� PRGHUQL]DFLMX� REMHNWD� 
2GPRU�QD� 'ULQL
�� VD� NDSDFLWHWRP� RG� ��� VRED� L� ]QDþDMQLMRP�RVDYUHPHQMHQRP�XJRVWLWHOMVNRP�SRQXGRP����� 3UHGODåHPR� SURQDODåHQMH� ORNDFLMD� �XUEDQH� NRQYHU]LMH��VORERGQH� JUD HYLQVNH� ]RQH��� ]D� GRGDWQL� KRWHOVNR�SDQVLRQVNL�VPHãWDM�RG���REMHNDWD�SR����VRED��1DMPDQMH�GYD� RYDNYD� REMHNWD� YDOMD� REH]EHGLWL� X� SHULRGX� GR� ��JRGLQD�� D� DGHNYDWQRP� XUEDQLVWLþNRP� UHJXODFLMRP�REH]EHGLWL�RVWDOH�WUL�ORNDFLMH�X�SHULRGX�GR����JRGLQD���

8VOXJH�KUDQH�L�SLüD���
� 6SHFLMDOL]DFLMD� L� SREROMãDQMH� NYDOLWHWD� ORNDOQLK� UHVWRUDQD��YLGHWL�3ODQ�NRQNXUHQWQRVWL��

$WUDNFLMH�L�WXULVWLþND�LQIUDVWUXNWXUD��
� ,QWHUSUHWDFLRQL� FHQWDU� 7DUD�'ULQD�� WR� MHVW� FHQWDU� NRML� QD�VDYUHPHQ� QDþLQ� LQWHUSUHWLUD� SRGUXþMH� 7DUH� L� 'ULQH�� VD�IRNXVRP�QD�QMLKRYR�ERJDWVWYR�SULURGH��LVWRULMH�L�NXOWXUH��D�XMHGQR�QXGL�VOHGHüH�VDGUåDMH�L�XVOXJH��

�� �NRPHUFLMDOQL� VDGUåDML� �WUJRYLQD� VXYHQLUD�� NQMLJD� L�VO���

�� XJRVWLWHOMVNL�VDGUåDML�
�� SURVWRU�]D�SDUNLQJ�
�� LQIRUPDFLRQL�FHQWDU���0RJXüD� ORNDFLMD� ]D� LQWHUSUHWDFLRQL� FHQWDU�7DUD�'ULQD� MH�QD�ORNDFLML�ãLUHJ�SRGUXþMD�GDQDãQMH�EHQ]LQVNH�VWDQLFH�SUL�XODVNX� X� %DMLQX� %DãWX�� 1DYHGHQL� SURVWRU� MH� LGHDOQR�PHVWR� NRML� VSDMD� UHNUHDFLRQL� SURVWRU� X]� 'ULQX��UHNUHDWLYQL� SDUN�� ãHWQLFH�� LWG��� VD� JODYQLP�XOD]QR�L]OD]QLP�SXQNWRYLPD�%DMLQH�%DãWH�SUHPD�LVWRNX�L�VYHUX��� 5HNUHDWLYQL�SDUN�X]�UHNX�'ULQX��NRML�RERJDüXMH�GRåLYOMDM�FHORSNXSQRJ�SURVWRUD��SRYH]XMH�LQWHUSUHWDFLRQL�FHQWDU�VD�UHNRP�'ULQRP��D�WDNR HU�QXGL�VSRM�JUDGD�L�UHNH��2YDNDY�UHNUHDWLYQL�SURVWRU�SRYHüDYD�DWUDNWLYQRVW�%DMLQH�%DãWH� L�7DUH�� JUDGL� ORMDOQRVW�� D� ORNDOQRP� VWDQRYQLãWYX�� NDR� L�VYRMLP� JRVWLPD� SUXåD� � SURVWRU� ]D� UHNUHDFLMX� X]� UHNX�� WH�NDR�WDNDY�WUHED�GD�QXGL�VOHGHüH�VDGUåDMH��� VDGUåDML�L�DNWLYQRVWL�QD�UHFL�'ULQL���

x� NDMDNLQJ��UDIWLQJ��YRåQMD�NDQXRP��LWG��
x� JUDGVNR�NXSDOLãWH���SODåD�
x� ULERORYQL� SXQNW� NRML� SULSDGD� LVNXVWYHQRP�ODQFX� SUHGORåHQRP� ]D� ]RQX� 3HUXüFD�� D�VDGUåL� UHVWRUDQ�� VHUYLVQL� FHQWDU�� SODWIRUPX�YHOLþLQH���[���P��PHVWD�]D�VHGHQMH��]DWLP�UDPSX� L� SRGUXþMH� ]D� SDUNLQJ�� WH� VDQLWDUQL�þYRU��

� VDGUåDML�L�DNWLYQRVWL�X]�UHNX�'ULQX��
x� ED]HQ�
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� 3URPHQDGD�X�%DMLQRM�%DãWL�X]�UHNH�3LOLFX��5DþX� L�'ULQX��GXåLQH�RNR�����NP���NRMX�MH�SRWUHEQR�RSUHPLWL�NOXSDPD�L�RGJRYDUDMXüRP�UDVYHWRP��
� âHWQR�ELFLNOLVWLþNH� VWD]H� RG� %DMLQH� %DãWH� GR� -H]HUD�3HUXüDF� �GXåLQH� RNR� ��� NP��� WH� RG� %DMLQH� %DãWH� GR�0DQDVWLUD�5DþD��GXåLQH���NP��NRMH�MH�SRWUHEQR�RSUHPLWL�NOXSDPD� L� RGJRYDUDMXüRP� UDVYHWRP�� 8� RGQRVX� QD�RSUHPDQMH�SURPHQDGH�X�%DMLQRM�%DãWL��ãHWQR�ELFLNOLVWLþNH�VWD]H� WUHED� GD� VH� RSUHPDQMX� MHGQRVWDYQLMRP� XUEDQRP�JDODQWHULMRP���

2SãWL�SURJUDPL�XUEDQH�UHJHQHUDFLMH�]D�%DMLQX�%DãWX���
� 3URJUDP� XUEDQH� UHYLWDOL]DFLMH� %DMLQH� %DãWH�� VD�NRPSOHWQRP�UHYLWDOL]DFLMRP�6WDUH�þDUãLMH�� 5HDOL]DFLMD� RSãWHJ� SURJUDPD� NRQNXUHQWQRVWL� ]D� %DMLQX�%DãWX��XUH HQMH�IDVDGD��XOLFD��RJUDGD��LWG����
1DSRPHQD�� =D� RYD� GYD� SURJUDPD� QH� SUHGODåH� VH��
SRVHEQD�VSHFLILNDFLMD�LQYHVWLFLMD��
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3R]LFLRQLUDQMH�� 3HUXüDF� MH� SRGUXþMH� NRMH� X� SULURGQRP� RNUXåHQMX�LQWHOLJHQWQR� VWUXNWXULVDQRP� SRQXGRP� NUHLUD� KDUPRQLþDQ� RGQRV� L�MHGLQVWYHQL� GRåLYOMDM� YRGH� VD� DNWLYQRVWLPD� QD� MH]HUX� L� UHFL�� 8]� SRQXGX�UD]QRYUVQLK�DNWLYQRVWL�QD�YRGL��SRGUXþMH�3HUXüFD�SUXåD�
ILVKLQJ
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� +RWHO� -H]HUR� �� SUHXUH HQMH� L� UHSR]LFLRQLUDQMH� NDR�FHQWUDOQD� WDþND� L� PHVWR� ]D� VDVWDMDQMH� �
KXE
� L� 
PHHWLQJ�SRLQW
��]D�FHOX�UD]YRMQX�]RQX��+RWHO�-H]HUR� WUHED�ELWL�QD�LQWHUQDFLRQDOQRP�QLYRX�KRWHOD� VD���]YH]GLFH��NDSDFLWHWD����VRED�L����DSDUWPDQD��RGQRVQR�����MHGLQLFD����� 3UHGODåHPR� UD]YRM� �� PDQMLK� SDQVLRQD� ]D� ORNDOQR�SRURGLþQR� SUHGX]HWQLãWYR�� D� NRML� VX� ORFLUDQL� QL]� 'ULQX��.DSDFLWHW�RYLK�SDQVLRQD�MH����VRED�SR�REMHNWX��� 3UHGODåHPR� GD� VH� XQXWDU� 5LEDUVNRJ� VHOD� 3HUXüDF�REH]EHGL�QDMPDQMH���ULEDUVNH�NXüLFH��VD�NDSDFLWHWRP�RG��� DSDUWPDQVNLK� MHGLQLFD�� YHOLþLQH� ��� P W�� V� XNXSQLP�VPHãWDMQLP�NDSDFLWHWRP�RG����NUHYHWD���� 3UHGODåHPR� NRQYHU]LMX� SRVWRMHüH� 9LOH� 'ULQD� X� PDQML�XJRVWLWHOMVNR� VPHãWDMQL� REMHNDW� �KRWHO�UHVWRUDQ���NDSDFLWHWD����VRED��
� (WQR� VHOR� X� 5DVWLãWX�� VD� NDSDFLWHWRP� RG� PLQLPDOQR� ���NXüD�� V�SURVHþQLP�NDSDFLWHWRP�RG���VPHãWDMQH� MHGLQLFH��WM�� XNXSQR� ��� VPHãWDMQLK� MHGLQLFD� ���� NUHYHWD��PRåH� VH�RUJDQL]RYDWL� L� NRPHUFLMDOL]RYDWL� QD� WXULVWLþNRP� WUåLãWX�X�SHULRGX�RG�����JRGLQH��8�RNYLUX�HWQR�VHOD�5DVWLãWH��WUHED�IRUPLUDWL� MHGDQ�PDQML� FHQWUDOQL� SULKYDWQL� REMHNDW� �PDQML�
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� .RQWUROLVDQL�XOD]QL�SXQNW�L�LQIRUPDFLRQL�FHQWDU�13�7DUD�X� 3HUXüFX� �� QDSODüLYDQMH� XOD]D� X� 1DFLRQDOQL� 3DUN��SUXåDQMH� RSVHåQLK� LQIRUPDFLMD� R� SULURGQRM� L� NXOWXUQRM�EDãWLQL� 1DFLRQDOQRJ� SDUND� 7DUD�� WH� RVWDOLP� WXULVWLþNLP�FHQWULPD� QD� 7DUL�� 8VOXJH� UH]HUYDFLMH� VPHãWDMD� ]D� FHOR�SRGUXþMH�7DUH��NDR�L�PRJXüQRVW�RUJDQL]DFLMH�L�UH]HUYDFLMH�SUHYR]D�� L� UD]OLþLWLK� SDNHWD� DNWLYQRVWL�� LWLQHUDUD� L� WXUD��,QIRUPDWLYQL� FHQWDU� QXGL� PDSH� VYLK� SRGUXþMD� 7DUH�� VD�R]QDþHQLP� SXQNWRYLPD� DNWLYQRVWL� �ELFLNOLVWLþNH� L� ãHWQH�VWD]H�� YLGLNRYFL�� SXQNWRYL� ]D� ULERORY�� VSRUWRYL� QD� YRGL��LWG���� &HQWDU� VH� QDOD]L� X� PHVWX� 3HUXüDF�� WH� MRã� VDGUåL�SURVWRU� ]D� SDUNLUDQMH�� NDNR� EL� VH� L]EHJOR� ]DJXãHQMH�SURVWRUD� NRG� VDPRJ� MH]HUD�� 8NXSQD� SRYUãLQD� &HQWUD� VD�SDUNLUQLP�SURVWRURP�L]QRVL�RNR�����KD���
� 3UHGODåHPR�NUHLUDQMH�ULEDUVNRJ�VHOD�3HUXüDF��QD�SURVWRUX�X]� UHNX� 9UHOR� �XNXSQH� SRYUãLQH� RNR� ���� KD��� 5LEDUVNR�VHOR��NDR�FHQWUDOQR�PHVWR�NUHLUDQRJ�LVNXVWYD�ULERORYD�QD�7DUL�� WUHED� GD� EXGH� X� WUDGLFLRQDOQRP� VWLOX� JUDGQMH� VD�QHNROLNR� VPHãWDMQLK� REMHNDWD� �ULEDUVNH� NXüLFH���XJRVWLWHOMVNLP� VDGUåDMLPD�� WUJRYLQDPD� L� ULEOMRP�WUåQLFRP�� 8� RNYLUX� VHOD� MH� FHQWDU� NRML� WUHED� GD� SUXåD�XVOXJH� NXSQMH� L� L]QDMPOMLYDQMD� RSUHPH� ]D� ULERORY�� GD�RUJDQL]XMH� LVNXVWYR� ULERORYD� X]� SUDWQMX� �XþHQMH� XPHüD�

ULERORYD� �� X� JUXSL� LOL� LQGLYLGXDOQR��� WH� PRUD� L]GDYDWL�GR]YROH�]D�ULERORY��� 3UHGODåHPR�NUHLUDQMH�LQLFLMDOQH�ED]H�]D�VSRUWRYH�QD�'ULQL��
'ULQD� ZDWHU� VSRUWV� VWDUW� XS� SRLQW
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� FHORYLWRP DWUDNWLYQRåþX SURVWRUD ]D UD]YRM
SURL]YRGD� XVOXJD L ODQFD YUHGQRVWL SRGREQRJ ]D
NRPHUFLMDOL]DFLMX QD GRPDüHP L LQRVWUDQRP
WUåLãWX�
� ]UHORVWL L VRILVWLNDFLML WUçLåWD �GRPDüH L
VWUDQR� L QMHJRYRJ SRWHQFLMDOQRJ SULKYDWDQMD
SURL]YRGD L XVOXJD SODQLUDQRJ SURMHNWD X
YUHPHQVNRP�KRUL]RQWX�QDUHGQLK����JRGLQD�
� ILQDQVLMVNRP L XSUDYOMD NRP VQDJRP
SRVWRMHüLK LQWHUHVQLK VXEMHNDWD QD RYRP SRGUXþMX
GD SURMHNWLPD UHKDELOLWDFLMH L QRYRJ UD]YRMD
LQLFLUDMX SURMHNW GR QLYRD QMHJRYH WUåLãQH
SUHSR]QDWOMLYRVWL�
� VSRVREQRåþX MDYQRJ VHNWRUD GD XEU]DQRP
UHJXODFLMRP L L]JUDGQMRP QHGRVWDMXüH SURPHWQH L
RVWDOH LQIUDVWUXNWXUH SULYXþH YHOLNH L PDOH
LQYHVWLWRUH���L�NRQDþQR�
� VSUHPQRåþX 9ODGH 6UELMH L FHORYLWH UHJLMH
-XJR]DSDGQD 6UELMD GD UD]OLþLWLP SRGVWLFDMLPD
XVPHUL UD]YRM RYRJ YDåQRJ VUSVNRJ WXULVWLþNRJ
SURVWRUD�SUHPD�åHOMHQRM�YL]LML�

�
8� WRP�NRQWHNVWX� ]D� VYDNR�RG�RYLK�YLWDOQLK�SLWDQMD�� NRMD� üH�QD� VYRM�QDþLQ�GHWHUPLQLVDWL�EU]LQX�L�NYDOLWHW�UD]YRMD�RYRJ�SURMHNWD��QDã�MH�VWDY�VOHGHüL��
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1HVXPQMLYR� MH� UHþ� R� SURVWRUX� NRML� UDVSRODåH� V� YUHGQRVWLPD� X� HYURSVNLP�UD]PHULPD��QH]DYLVQR�R�þLQMHQLFL�GD� MH�X�QHNLP�VYRMLP�GHORYLPD�GRQHNOH�GHYDVWLUDQ��%LWDQ�MH�XVORY�]D�SURMHNW��GD�VH�FHORYLWL�SURVWRU�VWDYL�X�þYUVWX�L�YUOR�ULJLGQX�UHJXODFLMX��XNROLNR�VH�åHOL�RG�QMHJD�QDþLQLWL�HYURSVND�YUHGQRVW��.OMXþQR�MH�SLWDQMH�NDNR�]DXVWDYLWL�YHü�XRþHQH�SURFHVH�XUEDQH�GHJUDGDFLMH�L�NDNR� L� NDGD� UHKDELOLWRYDWL� RGUH HQH� XUEDQH� FHOLQH� �XUEDQD� UHKDELOLWDFLMD�%DMLQH� %DãWH�� UHKDELOLWDFLMD� QDVOH HQLK� VPHãWDMQLK� REMHNDWD��� D� ãWR� MH�SRYH]DQR� VD� SURFHVLPD� NRQVROLGDFLMH� MDYQRJ� VHNWRUD� NDR� L� ]DYUãQLP�SURFHVLPD�SULYDWL]DFLMH��
3ROD]LPR� RG� SUHWSRVWDYNH� GD� üH� VH� QDMPDQMH� X� JRGLQX� GDQD� XVSRVWDYLWL�ORNDOQD�L�FHQWUDOQD�UHJXODFLMD�QDG�SURVWRURP��ãWR�WUHED�GD�VSUHþL�PRJXüQRVWL�QMHJRYH�GDOMH�GHYDVWDFLMH��
=UHORVW�L�VRILVWLNDFLMD�WUåLãWD��
0DGD�QHPD�SRVHEQLK� LVWUDåLYDQMD��QD�ED]L�DQDORJLMH�PRåH�VH�]DNOMXþLWL�GD�R]ELOMQLMH� LQRVWUDQR� WXULVWLþNR� WUåLãWH� X� 6UELML� MHVWH� SRYH]DQR� V� LVNXVWYRP�%HRJUDGD�� VUSVNLK�SODQLQD� WH�GRQHNOH�EDQMD��=ODWLERU� L� SRVHEQR�.RSDRQLN�MHVX�GHVWLQDFLMH�NRMH�üH�VH�VYH�YLãH�LQWHUQDFLRQDOQR�NRPHUFLMDOL]RYDWL��6WRJD�MH� YDåQR� GD� VH� X�RNYLU� LQWHUQDFLRQDOQR� UHOHYDQWQH� SODQLQVNH�SRQXGH� ]ERJ�PDUNHWLQãNLK�L�SURGDMQLK�VLQHUJLMD�XNOMXþL�MRã�MHGDQ�EURM�GHVWLQDFLMD�NDR�ãWR�VX� 6WDUD� SODQLQD�� *ROLMD� L� 7DUD�� %XGXüL� MH� 6UELMD� WHN� QD� SRþHWNX� VYRMHJ�LQWHUQDFLRQDOQRJ� WXULVWLþNRJ�RWYDUDQMD�� ãWR� VH� WLþH� LQWHUQDFLRQDOQRJ� WUåLãWD��NOMXþ�MH�LPDWL�SURL]YRGH�NRMH�RYR�WUåLãWH�RG�6UELMH�RþHNXMH��D�WR�VX�X�SUYRP�UHGX�VUSVNH�SODQLQH��8�WRP�VPLVOX�RFHQMXMHPR�GD�MH�LQRVWUDQR�WUåLãWH�GRVWD�VWLPXODWLYQR� ]D� 6UELMX� ãWR� VH� RYRJ� SURL]YRGD� WLþH�� 2QR� ]DSUDYR� þHND� QD�RWNULYDQMH�6UELMH��
.DG�MH�X�SLWDQMX�GRPDüH�WUåLãWH��YDOMD�QDJODVLWL�GD�RQR�YHü�R]ELOMQR�RWNULYD�7DUX�MDNLP�SULWLVNRP�QD�L]JUDGQMX�QHNUHWQLQD��'UXJD�MH�YDåQD�þLQMHQLFD�GD�MH� VUSVNR� WXULVWLþNR� WUåLãWH� NDR� SRVORYQR�� YUOR� DNWLYQR� X� VPLVOX�PH XQDURGQLK� SXWRYDQMD��9HOLNL� MH� GHR� SXWRYDQMD� ]ERJ� JRGLãQMLK� RGPRUD�SRYH]DQ� V� QHGRVWDWNRP� SURL]YRGD� X� 6UELML�� 0H XWLP�� V� RE]LURP� QD�RþHNLYDQH�VWRSH�UDVWD�*'3�D�� NDR� L�QHVXPQMLYL� UD]YRM�NXOWXUH�SXWRYDQMD� L�

SR]QDYDQMD� SURL]YRGD� RG� VWUDQH� VUSVNRJ� WXULVWLþNRJ� WUåLãWD�� QRYL� L�HYURSVNLP� NULWHULMXPLPD� SULODJR HQL� WXULVWLþNL� SURL]YRGL� QD� 7DUL� üH�]DVLJXUQR�QDLüL�QD�SULKYDWDQMH�GRPDüLK�WXULVWD���
8� WRP�NRQWHNVWX�� QDã� MH� VWDY� GD� üH� NYDOLWHWDQ� L� LQRYDWLYDQ� SURL]YRG�7DUH�QDLüL�QD�MDNR�SULKYDWDQMH�QDMUD]OLþLWLMLK�VHJPHQDWD�GRPDüHJ�WUåLãWD��
)LQDQVLMVND�L�XSUDYOMDþND�VQDJD�ORNDOQLK�LQWHUHVQLK�VXEMHNDWD�
2YR�MH�]DVLJXUQR�QDMYHüD�QHSR]QDQLFD�L� UD]ORJ�]D�RSUH]��3UHGORJ�SURMHNWD�QLMH� GDNDNR� VNURMHQ� VDPR� ]D� ORNDOQR� SUHGX]HWQLãWYR� MHU� MH� UHþ� R� MDNRM� L�LQWHQ]LYQRM� WXULVWLILNDFLML� RYRJ� SRGUXþMD��0DGD� VH� SRMDYLR� SUYL� ]QDþDMQLML�SUHX]LPDþ��+RWHOL�'ULQD�L�7DUD���YDåQR�MH�QDYHVWL�GD�EH]�R]ELOMQLK�VSROMQLK�LQYHVWLWRUD� RYDM� SURMHNW� QLMH� PRJXü�� 6WRJD� MH� YDåQR� XYHULWL� LQYHVWLWRUH� X�R]ELOMQRVW� SURMHNWD� ãWR� SUHWSRVWDYOMD� SURIHVLRQDOQRVW� L� RGOXþQRVW� ORNDOQLK�MDYQLK� YODVWL� L� WXULVWLþNLK� VXEMHNDWD� GD� SURMHNW� GRYHGX� GR� QLYRD� NRMHJ� MH�PRJXüH�SURGDWL�VSROMQLP�LQYHVWLWRULPD��
8�VYDNRP�VOXþDMX��QDãH�MH�XYHUHQMH�GD�]ERJ�ILQDQVLMVNH�L�XSUDYOMDþNH�VQDJH�ORNDOQLK� LQWHUHVQLK� VXEMHNDWD�� NOMXþ� XVSHKD� RYRJ� SURMHNWD� MH� QMHJRYD�SURIHVLRQDOQD�SUH]HQWDFLMD�L�SDNHW�SRGVWLFDMD�VSROMQLP�LQYHVWLWRULPD��
6SRVREQRVW� � MDYQRJ� VHNWRUD� QD� SRGUXþMX� UHJXODFLMH� L� UD]YRMD�LQIUDVWUXNWXUH�
,� RYR� MH� MHGQD� RG� FUQLK� WDþDND� SURMHNWD��$NR� SUHWSRVWDYLPR� GD� üH� UD]YRM�LQIUDVWUXNWXUH��,EDUVND�PDJLVWUDOD��DHURGURP�3RQLNYH�L�GU���ELWQR�RSUHGHOLWL�LQWHUQDFLRQDOQX�GLPHQ]LMX�SURMHNWD�D�NRMD�üH�SUH�VYHJD�RYLVLWL�RG�SULRULWHWD�EXGåHWD� LOL�GUXJLK� UHãHQMD�9ODGH�6UELMH��RQGD�VH�QD�NUDWNL� URN�X�SUYL�SODQ�WUHED�GD�VWDYL�UHJXODFLMD�L�]DãWLWD�SURVWRUD���
6�RE]LURP�QD�GXJRURþQL�SRWHQFLMDO�L�VQDJX�SURMHNWD�YDOMD�VWRJD�UD]PLVOLWL�R�XVSRVWDYOMDQMX� JHQHUDOQRJ� UHåLPD� NRQWUROH� QD� FHORP� SURVWRUX� REXKYDWD�SURMHNWD�� D� NDNR� VH� QH� EL� VPDQMLOD� WUåLãQD� YUHGQRVW� L� WLPH� VPDQMLOL�LQYHVWLFLRQL�L�UD]YRMQL�SRWHQFLMDOL�SRGUXþMD��
8� VYDNRP� VOXþDMX�� SR� QDãHP� VXGX�� UHþ� MH� NOMXþQRM� EDULMHUL� NRMX� WUHED�VYODGDWL�]D�QDMPDQMH�JRGLQX�GDQD��
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�����0HWRGRORãNL�SULVWXS�
,DNR� QD� UHODWLYQR� YHOLNRP� SURVWRUX� L� X]� YHOLNL� EURM� UD]UD HQLK� SURJUDPD��SURUDþXQ� LQYHVWLFLMD� SUHPD� SURMHNWLPD� MH� XþLQMHQ� QD� YLVRNRP� QLYRX���SRX]GDQRVWL��0H XWLP��WR�QH�LVNOMXþXMH�PRJXüD�RGVWXSDQMD�X�GDOMLP�ID]DPD�UD]UDGH� SURMHNDWD�� VDJODVQR� L]DEUDQRP� YUHPHQVNRP� KRUL]RQWX� SRMHGLQLK�ID]D�L�UDVSRUHGX�SULRULWHWD���
5D]UDGD�LQYHVWLFLMD�XþLQMHQD�MH�SUHPD��

� IRUPLUDQLP�UD]YRMQLP�]RQDPD��
� NDUDNWHUX�SURMHNDWD��� WLSX�XODJDQMD��L�� YUHPHQVNRP�RNYLUX�XODJDQMD��

�
�
�
=D� SURMHNWH� VPHãWDMQLK� NDSDFLWHWD� NDR� L� WXULVWLþNH� LQIUDVWUXNWXUH�� X� RE]LU�VPR�X]HOL�FHQH�NRMH�VX�SULVXWQH�X�DQDOL]LUDQRP�NRQNXUHQVWNRP�RNYLUX��D�WR�VX�SUH�VYHJD�]HPOMH�ELYãH�-XJRVODYLMH��
=D� SURMHNWH� DWUDNFLMD� VPR� X]HOL� FHQH� GR� NRML� VPR� GRãOL� SRVUHGVWYRP�EHQþPDUN�DQDOL]H�L�GLUHNWQLK�UD]JRYRUD�V�SRWHQFLMDOQLP�GREDYOMDþLPD��
0DQML�GHR�LQYHVWLFLMD�VPR�SURFHQLOL�SDXãDOQR��

�����3UHJOHG�LQYHVWLFLMD���
3UHJOHG�XNXSQLK�LQYHVWLFLMD�GDW�MH�X�QDUHGQRM�WDEHOL��

-DYQD 3ULYDWQD -DYQR���
SULYDWQD ������J� ������J� ��������J�

8.8312�60(â7$- �������������� � ����������� ���������� ���������� ���������� ����������
8.8312�+5$1$�,�3,û( ������������ � ��������� � ������� ��������� ���������
8.8312�$75$.&,-(�,�785,67,ý.$�,1)5$� ������������� ���������� ��������� ���������� ���������� ���������� ����������
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8.8312�,19(67,&,-( �������������� ���������� ����������� ���������� ���������� ���������� ����������
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3(58û$& ������������� ��������� ���������� ��������� ��������� ��������� ���������
.$/8 (56.(�%$5( �������������� ��������� ����������� ���������� ���������� ���������� ����������
0,7529$& ������������� � ���������� ��������� ��������� ��������� �
8.8312�,19(67,&,-( �������������� ���������� ����������� ���������� ���������� ���������� ����������
1DSRPHQD��,QIUDVWUXNWXUQL�SURMHNWL�L�RVWDOL�SURJUDPL�NRQNXUHQWQRVWL�QLVX�X]HWL�X�RE]LU�X�RNYLUX�SURFHQH�LQYHVWLFLMH

8.83$1�35(*/('�,19(67,&,-$�=$�13�7$5$
5D]YRMQR�SRGUXþMH

9UHPHQVNL�SULRULWHW9UVWD�LQYHVWLFLMH3URFHQMHQL�,]QRV�
LQYHVWLFLMH��(85�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM��
�
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� L� VO���� D�GUXJR�RQH�PRUDMX�GDWL� RYRP�SRGUXþMX�NDUDNWHU�SUYRJ� 
ILVKLQJ
� SRGUXþMD� X� 6UELML� NRMH� VH� PRåH� LQWHUQDFLRQDOQR�NRPHUFLMDOL]RYDWL��
� =D� SRGUXþMH� 0LWURYFD�� LQYHVWLFLMH�� RVLP� LVSRUXNH� SR]LFLRQLUDQMD��]QDþDMQLP� VX� GHORP�RULMHQWLVDQH� L� QD�XVSRVWDYOMDQMH� VHYHUQH� ED]H�]D�EXGXüX�HNVSORDWDFLMX�VNLMDOLãWD�=ERULãWH���

�
�
'HWDOMQL� SUHJOHG� LQYHVWLFLMD� SUHPD� UD]YRMQLP� ]RQDPD� GDW� MH� X� VOHGHüLP�SULND]LPD���
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� LQYHVWLFLMH�X�LQWHUQL�L�HNVWHUQL�PDUNHWLQJ�SURMHNWD��� LQYHVWLFLMH� X� ]DSRþHWX� L� GRGDWQX� WXULVWLþNX� L� RSãWX�LQIUDVWUXNWXUX��� RVWDOH� PRJXüH� MDYQH� LQYHVWLFLMH� NRMH� SRGLåX� DWUDNWLYQRVW�SRGUXþMD�]D�SULYDWQH�LQYHVWLFLMH��
� LQYHVWLFLMH� X� GRGDWQH� GRJD DMH� L� DNWLYQRVWL�� D� ]ERJ� UDVWD�DWUDNWLYQRVWL�UHJLMH���

��� 3ULYDWQH� L� MDYQR�SULYDWQH� LQYHVWLFLMH� X� IXQNFLML� SRGL]DQMD�LQYHVWLFLRQRJ�NDSDFLWHWD�UHJLMH�QD�NUDüL�URN��
� LQYHVWLFLMH� NRMH� VH� WLþX� NRQYHU]LMD� QDVOH HQLK� REMHNDWD�SRYH]DQLK� V� SULYDWL]DFLMDPD�� NDR� L� PDQMLP� ORNDOQLP�LQYHVWLFLMDPD�RVORQMHQLP�QD�SRGVWLFDMQD�VUHGVWYD�GUåDYH��
� LQYHVWLFLMH�X�]QDþDMQLMH�SURMHNWH�WXULVWLþNH�LQIUDVWUXNWXUH�QD�SODWRX� 7DUH� NDR� L� X]� 'ULQX�� D� V� FLOMHP� SRGL]DQMD�NRQNXUHQWVNRJ�VWDQGDUGD�L�DWUDNWLYQRVWL�SRGUXþMD��� LQYHVWLFLMH� X� ED]LþQX� XUEDQX� JDODQWHULMX�� R]QDþDYDQMH��SDUNLQJ�L�GUXJH�VDGUåDMH�NRMH�SRGLåX�QLYR�NRPIRUD�ERUDYND�X�GHVWLQDFLML��

��� 9HOLNH� SULYDWQH� L� MDYQH� LQYHVWLFLMH� X� IXQNFLML� SRGL]DQMD�NRQNXUHQWQRVWL�GHVWLQDFLMH��
� VYH� MDYQH� L� MDYQR�SULYDWQH� LQYHVWLFLMH� X� DWUDNFLMH� QD�3UHGRYRP�.UVWX��3HUXüFX�L�QL]�'ULQX��WH�X�%DMLQRM�%DãWL��
� LQYHVWLFLMH�X�NOMXþQH�VPHãWDMQH�REMHNWH�QD�3UHGRYRP�.UVWX��3HUXüFX��0LWURYFX��
� LQWHJUDOQL�SULVWXS�L]JUDGQML�VPHãWDMQLK�REMHNDWD��QHNUHWQLQD��DWUDNFLMD� L� UHNUHDFLRQH� LQIUDVWUXNWXUH� X� .DOX HUVNLP�%DUDPD�V�IRNXVRP�QD�SODQLQVNR�VHOR���

3UHPD� WUåLãQRP� SRWHQFLMDOX� L� RþHNLYDQLP� LQWHUHVLPD� SUHPD� SRMHGLQLP�WLSRYLPD�LQYHVWLFLMD��SUHGODåHPR�VOHGHüX�VWUDWHJLMX��
���,QYHVWLFLMH�X�WXULVWLþNX�LQIUDVWUXNWXUX�L�DWUDNFLMH��

� PDOD� WXULVWLþND� LQIUDVWUXNWXUD� �VWD]H�� ãHWDOLãWD��R]QDþDYDQMH�� RSUHPDQMH� SODåD�� L� VO���� ORNDOQH� MDYQH� LOL�MDYQR�SULYDWQH�LQYHVWLFLMH��� WHPDWVNL� SDUN� 3UHGRY� .UVW�� 13� 7DUD� X]� SRGUãNX�1DFLRQDOQRJ�LQYHVWLFLMVNRJ�IRQGD��� LQWHUSUHWDFLRQL� FHQWDU� 7DUD�'ULQD� X� %DMLQRM� %DãWL��MDYQR�SULYDWQR�XODJDQMH�RSãWLQH�L�]DLQWHUHVRYDQLK�SULYDWQLK�VXEMHNDWD��� ULEDUVNR� VHOR� 3HUXüDF� L� FHORYLWL� GULQVNL� SURJUDP���MDYQR�SULYDWQR�XODJDQMH�'02�%DMLQD�%DãWD��RSãWLQD�%DMLQD�%DãWD�L�]DLQWHUHVRYDQL�SULYDWQL�LQYHVWLWRUL��
� 5HNUHDWLYQL� SDUN� %DMLQD� %DãWD�� MDYQR�SULYDWQR� XODJDQMH�'02� %DMLQD� %DãWD�� RSãWLQD� %DMLQD� %DãWD�� 1DFLRQDOQL�LQYHVWLFLRQL�IRQG�L�]DLQWHUHVRYDQL�ORNDOQL�PDOL�LQYHVWLWRUL��

���,QYHVWLFLMH�X�KRWHOMHUVWYR�L�QHNUHWQLQH��
� PDOR� KRWHOMHUVWYR� QD� 3UHGRYRP� .UVWX�� 3HUXüFX�� %DMLQRM�%DãWL� L� .DOX HUVNLP� %DUDPD�� SRVUHGRYDWL� WHQGHURP� QD�UHJLRQDOQRP�L�QDFLRQDOQRP�WUåLãWX�LQYHVWLWRUD��
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� REQRYH� L� UHNRQVWUXNFLMH� YH]DQH� X]� SRVWRMHüX� LPRYLQX�VPHãWDMQLK� NDSDFLWHWD� YH]DWL� X]� SURJUDP� SULYDWL]DFLMH� L� X�SULYDWL]DFLRQH� WHQGHUH� XNOMXþLWL� SUHGORJH� RþHNLYDQRJ�UD]YRMD�REMHNDWD�SUHPD�0DVWHU�SODQX���
� QRYX� L]JUDGQMX� X� VYLP� NODVWHULPD� YH]DWL� X]� GHWDOMQH�SURMHNWH� L�0DVWHU�SODQRYH�V�NRQFHSWXDOQLP�GL]DMQRP�VYLK�YDåQLMLK�LQWHUJUDOQLK�UD]YRMQLK�SURMHNDWD��� QD� ED]L� SULUH HQLK� L]YHGEHQLK� SURMHNDWD� L� LQYHVWLFLRQLK�SURVSHNDWD�� RUJDQL]RYDWL� SURIHVLRQDOQX� LQYHVWLFLRQX�NRQIHUHQFLMX� X� %HRJUDGX� L� HYHQWXDOQR� GUXJLP� JUDGRYLPD�6UHGQMH� (YURSH� X� FLOMX� DQLPDFLMH� YHOLNLK� GRPDüLK� L�LQRVWUDQLK�LQYHVWLWRUD��

�����=DNOMXþDN�
&HORYLWL�L�NRQDþQL�LQYHVWLRQL�SURJUDP�YH]DQ�X]�0DVWHU�SODQD�ãLUHJ�SRGUXþMD�13�7DUD��ELüH�PRJXü�WHN�QDNRQ�SULKYDWDQMD�RYRJ�LOL�L]PHQMHQRJ�JHQHUDOQRJ�NRQFHSWD� UD]YRMD� L� SURYHUH� SURVWRUQLK� PRJXüQRVWL� SUH� VYHJD� X� ]RQDPD�.DOX HUVNH�%DUH��0LWURYDF�L�3UHGRY�.UVW��
8�WRP�NRQWHVNX��ELüH�PRJXüH�GHWDOMQLMH�L�RGUH HQLMH�IRUPXOLVDWL�NROLþLQX�L�YUHPHQVNL� RNYLU� RþHNLYDQLK� MDYQLK� LQYHVWLFLMD� NRMH� VX� ELWQH� X� SUYRM�UD]YRMQRM� ID]L�� D� NDR� SRGVWLFDM� PDOLP�� VUHGQMLP� L� YHOLNLP� LQYHVWLFLMDPD�SULYDWQRJ�VHNWRUD��
9DåDQ� VOHGHüL� NRUDN�� D� QDNRQ� XVYDMDQMD� L� HYHQWXDOQLK� GRSXQD� RYRJ�SURJUDPD�� MHVWH� GHWDOMQD� NRQFHSWXDOQD� L� SURJUDPVND� UD]UDGD� VYLK�SRMHGLQDþQLK�UD]YRMQLK�]RQD��GR�XNOMXþXMXüL�L]UDGX�NRQFHSWXDOQRJ�GL]DMQD��D�X�FLOMX�UD]UDGH�LQYHVWLFLRQLK�SDNHWD�]D�WUåLãWH�LQYHVWLWRUD��
8� WRP� NRQWHVNWX� VH� QD� SUYRP� PHVWX� DNWXDOL]XMH� SLWDQMH� JHQHUDOQRJ�SRVORYQR�XSUDYOMDþNRJ�PRGHOD�SURMHNWD�L�QD�WRM�RVQRYL�SRVWDYOMDQMH�PRGHOD�SURMHNW�PHQHGåPHQWD���
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���326/2912�835$9/-$ý.,�02'(/�
�����3ROD]QH�RVQRYH�
3RNUHWDQMH� SUHGORåHQRJ� UD]YRMQRJ� WXULVWLþNRJ� SURMHNWD� QD� ãLUHP� SRGUXþMX�13� 7DUD� SRYH]DQR� MH� V� QXåQLP� XVSRVWDYOMDQMHP� 3RVORYQR�XSUDYOMDþNRJ�PRGHOD� NRML� EL� PRUDR� RGJRYRULWL� QD� VYH� NOMXþQH� ]DKWHYH� L� SUHX]HWL�RGJRYRUQRVW�]D�LVSRUXNX�SRVORYQH�PLVLMH�SURMHNWD�SUHPD�UHDOQR�VDJOHGLYRP�YUHPHQX��8�WRP�VPLVOX�QDMPDQMH�VH�PRUD�SUHX]HWL�LQWHJUDOQD�RGJRYRUQRVW�]D�UHãHQMH�VOHGHüLK�NOMXþQLK�SLWDQMD�SURMHNWD��

x� GRYUãLWL� SRVWRMHüH� L� SRNUHQXWL� SRWUHEQH� QRYH� SODQHUVNH��UHJXODFLRQH� L� XUEDQLVWLþNR�DUKLWHNWRQVNH� SURMHNWH� ]D�GRJRYRUHQH�SULRULWHWH��
x� SRNUHQXWL� DNWLYQRVWL� QD� SULYDWL]DFLML� REMHNDWD� X� GUåDYQRP�YODVQLãWYX��
x� RWYRULWL� � SURFHV� REUD]RYDQMD� L� SRGL]DQMD� NDSDFLWHWD� ORNDOQRJ�SUHGX]HWQLãWYD�X�VNODGX�V�SUHGORåHQLP�SURJUDPRP��
x� L]YHVWL� SURJUDP� LQWHUQRJ� PDUNHWLQJD� QD� ãLUHP� SRGUXþMX� 13�7DUD�V�FLOMHP�VHQ]LELOL]RYDQMD�ORNDOQRJ�VWDQRYQLãWYD�R�7DUL�NDR�EXGXüRM�NRQNXUHQWVNRM�WXULVWLþNRM�GHVWLQDFLML��
x� REH]EHGLWL�SRGUãNX�GDOMHP�SRVORYQR�LQYHVWLFLRQRP�DNWLYLUDQMX�SRVWRMHüLK�LQYHVWLWRUD�YODVQLND�QD�SRGUXþMX�13�7DUD��
x� SURPRYLVDWL� L� SULYXüL� LQYHVWLWRUH� QD� GRPDüHP� L�LQWHUQDFLRQDOQRP�WUåLãWX�NDSLWDOD��
x� L]YHVWL�SODQ�LQYHVWLFLMD�SUHPD�UHDOQR�VDJOHGLYLP�SULRULWHWLPD��
x� L]YHVWL� SURJUDPH� NRQNXUHQWQRVWL� SUHPD� UHDOQR� VDJOHGLYLP�SULRULWHWLPD��
x� L]YHVWL� VWUDWHJLMX� L� SURJUDPH� PDUNHWLQJD� GHVWLQDFLMH� L� QMHQLK�WXULVWLþNLK�SURL]YRGD��

'D� EL� VH� PRJDR� IRUPXOLVDWL� UHDOLVWLþDQ� L� HILNDVDQ� SRVORYQR�XSUDYOMDþNL�PRGHO�]D�RYDNR�]QDþDMDQ�SURMHNDW��YDåQR�MH�SUHWKRGQR�UD]PRWULWL� WUHQXWQX�VWUXNWXUX� LQWHUHVQLK� VXEMHNDWD� QD� SRGUXþMX� RSãWLQH�%DMLQD�%DãWD�� RGQRVQR�

QMLKRYH� LQWHUHVH�� PRJXüQRVWL� L� REMHNWLYQL� NDSDFLWHW� ]D� SUHX]LPDQMH�LQYHVWLFLRQR�SUHGX]HWQLþNLK� L� XSUDYOMDþNLK� XORJD�� 3UL� WRPH� VH� RGPDK�SRVWDYOMD� NOMXþQR� SLWDQMH� REMHNWLYQLK� PRJXüQRVWL� ORNDOQH� LQWHUHVQH�VWUXNWXUH�GD�SUHX]PH�UL]LN�]D�YHüL� LOL�PDQML�NRODþ�RYRJ�SURMHNWD��RGQRVQR�GD�OL�L�NROLNR�SRVWRMH�SROXJH�L�LQWHUHVL�5HSXEOLNH�6UELMH�L�VSROMQLK�LQWHUHVQLK�VXEMHNDWD�SUHPD�RYRPH�SURMHNWX��
D�� 2SãWLQD�%DMLQD�%DãWD�

2SãWLQD� %DMLQD� %DãWD� MH� V� RE]LURP� QD� QDVOH HQX� SULYUHGQX� VWUXNWXUX� L�]DYLVQRVW� RG� HQHUJHWVNRJ� L� GUYQRJ� NRPSOHNVD� XSXüHQD� QD� RWYDUDQMH�XVOXåQRJ� VHNWRUD�� WR� MHVW� WXUL]PD� NDR� JODYQH� SROXJH� ]D� EXGXüL� UDVW� RYRJ�VHNWRUD�� 2VLP� XWLFDMD� QD� SURVWRUQX� L� XUEDQLVWLþNX� UHJXODFLMX�� RYD� RSãWLQD�PH XWLP�VD�VYRMLP�EXGåHWRP�RG�����PLOLMXQD�HYUD��QLMH�X�VWDQMX�YODVWLWLP�MDYQLP� LQYHVWLFLMDPD� SRNUHQXWL� UD]YRM� DWUDNFLMD� L� ]QDþDMQLMHJ� WXULVWLþNRJ�SUHGX]HWQLãWYD��8�WRP�NRQWHNVX�VH�XORJD�RSãWLQH�YLGL�SUHWHåQR�QD�UD]YRMX�XUEDQLK� LQIUDVWUXNWXUQLK� L� PDQMLK� WXULVWLþNLK� NRQNXUHQWVNLK� SURJUDPD� L�SRGVWLFDMD�LQYHVWLFLMDPD�X�VDPRM�%DMLQRM�%DãWL�NDR�EXGXüHP�FHQWUX�FHORYLWH�WXULVWLþNH�]RQH��
E�� 6SRUWVNR�7XULVWLþNL�&HQWDU�%DMLQD�%DãWD�

2YDM� FHQWDU� SRNULYD� XORJX� ORNDOQH� WXULVWLþNH� RUJDQL]DFLMH�� WH� REDYOMD�SRVORYH� PDUNHWLQJD�� UD]YRMD� WXULVWLþNLK� SURL]YRGD� L� WXULVWLþNRJ�SRVUHGRYDQMD�� &HQWDU� VH� ILQDQVLUD� VUHGVWYLPD� RSãWLQVNRJ� EXGåHWD��GRQDFLMDPD� L� VSRQ]RUVWYLPD� L� XJODYQRP� IXQNFLRQLãH� SR� ]DNRQX� R�WXULVWLþNLP� RUJDQL]DFLMDPD� 6UELMH�� 5Hþ� MH� R� MHGLQRP� WXUL]PX� XVPHUHQRP�MDYQRP�ORNDOQRP�VXEMHNWX�NRMHJ�MH�IRUPLUDOD�RSãWLQD��
8SUDYD� RYRJ� FHQWUD� MH� X� VDUDGQML� V� RSãWLQRP�� 8SUDYRP� 13� 7DUD� L� VD�+LGURHOHNWUDQRP�3HUXüDF� ELOD� L� JODYQL� LQLFLMDWRU� SRNUHWDQMD� RYRJ� �0DVWHU�SODQD��
3UHJOHGRP� � SODQRYD� DNWLYQRVWL�� SRVHEQR� QD� SODQX� PDUNHWLQJD�� UD]YRMD�SURL]YRGD��RUJDQL]DFLMH�GRJD DQMD�L�PDQLIHVWDFLMD�WH�SRVUHGQLþNLK�L�GUXJLK�DNWLYQRVWL�� PRåH� VH� XRþLWL� GD� &HQWDU� SRVWHSHQR� SUHGX]LPD� LQLFLMDOQH�DNWLYQRVWL�WLSLþQH�]D�GHVWLQDFLMVNX�PHQDGåPHQW�NRPSDQLMX�RYRJD�SRGUXþMD���
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F�� 8SUDYD�1DFLRQDOQRJ�SDUND�
1D� WHULWRULMX�13�7DUD� �VD� VHGLãWHP�X�%DMLQRM�%DãWL� �� VPHãWHQR�MH� L�VHGLãWH�8SUDYH� 1DFLRQDOQRJ� 3DUND�� 'RVDGDãQML� RGQRV� 1DFLRQDOQRJ� SDUND� SUHPD�WXUL]PX�MH�XJODYQRP�ELR�SDVLYDQ��D�RGUH HQL�SRVORYQL�REMHNWL�X�YODVQLãWYX�1DFLRQDOQRJ� SDUND� VX� L]QDMPOMHQL�� 8� UD]JRYRULPD� VD� 8SUDYRP�1DFLRQDOQRJ�SDUND��L]UDåHQD�MH�VSUHPQRVW�]D�R]ELOMQX�SRGUãNX�SURMHNWX��DOL�X]� SUHKRGQX� VDJODVQRVW� QDGOHåQRJ� 0LQLVWDUVWYD�� 3RWHQFLMDOQD� XORJD� 13�7DUD�X�RYRP�SURMHNWX�WUHED�GD�LPD�VXãWLQVNL�NDUDNWHU�QD�UD]YRMX�GRGDWQLK�DWUDNFLMD�� RUJDQL]RYDQMH� VLVWHPD� ]D� NUHWDQMH� SRVHWLODFD� L� SRVHEQR� GDYDQMD�NRQFHVLMD�]D�SRMHGLQDþQH�DNWLYQRVL�L�SRVORYH�QD�RVQRYX�RYRJ�SURJUDPD��

G�� 8SUDYD�+LGURHOHNWUDQH�3HUXüDF�
8SUDYD�KLGURHOHNWUDQH�3HUXüDF�QDNRQ�SUHSXãWDQMD�KRWHOD�3HUXüDF�WXULVWLþNRM�DJHQFLML�NRMD�YRGL�VYH�VOLþQH�REMHNWH�X�VDVWDYX�(OHNWURSULYUHGH�6UELMH��LPD�]QDWQR� XPDQMHQ� LQWHUHV� L� SRWHQFLMDOQL� XWLFDM� QD� UD]YRM� RYRJ� SURMHNWD��3RVWRML��PH XWLP�� LQWHUHV�GD�X�RNYLUX� ]RQH�3HUXüDF�RYDM� LQWHUHVQL� VXEMHNW�SUHGX]PH� RGUH HQH� NRQNXUHQWVNH� DNWLYQRVWL� �UHJXODFLMD� SORYLGEH��R]QDþDYDQMH��þLãüHQMH�MH]HUD��L]JUDGQMD�PX]HMD�KLGURHOHNWUDQH��KRUWLNXOWXUD��L�GU����

H�� 0LQLVWDUVWYR�RGEUDQH�
.DR�]QDþDMDQ�YODVQLN�REMHNDWD��2PRULND��%HOL�%RU�L�GU���RþHNXMH�VH�GD�RYR�0LQLVWDUVWYR� X� UHDOL]DFLML� RYRJ� SURMHNWD� QHüH� LPDWL� YDåQLMX� XORJX�� RVLP�X�SRþHWQRM�ID]L�UHDOL]DFLMH�SURFHVD�SURGDMH�REMHNDWD��

I�� *UDG�%HRJUDG�
.DR�YODVQLN�RPODGLQVNRJ�RGPDUDOLãWD�QD�0LWURYFX��QHL]YHVQR�MH�GD�üH�*UDG�%HRJUDG�LJUDWL�]QDþDMQLMX�XORJX�X�UHDOL]DFLML�GHOD�SURMHNWD�NRML�SRNULYD�RYR�SRGUXþMH��9HURYDWQLMH�MH�RþHNLYDWL�GD�üH�*UDG�%HRJUDG�]D�RGUH HQR�YUHPH�RYX�LPRYLQX�SURGDWL��

J�� /RNDOQD�LQWHUHVQD�XGUXåHQMD�
2G�ORNDOQLK�LQWHUHVQLK�XGUXåHQMD��VYDNDNR�MH�QDMYDåQLML�VXEMHNW��8GUXåHQMH�ULERORYDFD��� D� NRMH� LPD� YDåQX� PLVLMX� QD� UD]YRMX� SURMHNWD� 3HUXüDF� NRMH�

XNOMXþXMH� VLVWHP�GULQVNLK� ULEDUVNLK�SXQNWRYD��8�SURMHNWX� üH�RGUH HQX�� DOL�PDQMX�XORJX�LPDWL�L�ORNDOQR�/RYDþNR�GUXãWYR��8�GDOMHP�UD]YRMX�SURMHNWD��D�SRVHEQR� X� LQWHUQRP� PDUNHWLQJX�� ELüH� QHRSKRGQR� GD� VH� XNOMXþL� L� RGUHGL�SRVORYQD� PLVLMD� L� GUXJLK� HYHQWXDOQLK� LQWHUHVQLK� XGUXåHQMD� QD� RYRP�SRGUXþMX����
K�� 3ULYDWQL�YODVQLFL�

2VLP�PDQMLK� ORNDOQLK�SULYDWQLK�YODVQLND�NRPHUFLMDOQLK�REMHNDWD� VPHãWDMD��QHGDYQRP� NXSQMRP� KRWHOD� 'ULQD� X� %DMLQRM� %DãWL� L� 7DUD� QD� .DOX HUVNLP�%DUDPD��X� ãLUL� MH�SURVWRU�RYRJ�SURMHNWD�XãDR�]QDþDMDQ�VSROMQL�VXEMHNW�NRML�LPD� DPELFLMH� UD]YRMD� L� ãLUHQMD� EL]QLVD�� 3UHWSRVWDYOMDPR� GD� üH� QDNRQ�SULYDWL]DFLMH�YRMQLK�REMHNDWD��2PRULND�L�%HOL�%RU�QD�.DOX HUVNLP�%DUDPD��X�RYDM�SRVORYQL�SURVWRU�XüL�YHURYDWQR�MRã�MHGDQ�MDNL�GRPDüL�LQYHVWLWRU��1D�SRGUXþMX�GRPDüLK�PDOLK�L�VUHGQMLK�SUHGX]HWQLND�LGHQWLILNRYDQR�MH�QHNROLNR�LJUDþD�]D�PDQMH�SURMHNWH��1MLK�üH�QDNRQ�SUH]HQWDFLMH�L�SULKYDWDQMD�SURMHNWD�ELWL�QHRSKRGQR�GD�VH�]QDþDMQLMH�DQLPLUDMX��
L��9ODGD�5HSXEOLNH�6UELMH�

9ODGD�5HSXEOLNH�6UELMH�MH�LQWHUHVQL�VXEMHNW�X�RYRP�SURMHNWX�SR�GYD�RVQRYD��3UYR�� UHþ� MH� R� QMHQRP�XWLFDMX� SUHNR�13�7DUD� L�+LGURHOHNWUDQH�3HUXüDF�� D�GUXJR� UHþ� MH� R� QMHQRP� VWUDWHãNRP� LQWHUHVX� ]D� WXULVWLþNL� UD]YRM� ãLUHJ�SRGUXþMD�7DUH��
8� ]DYLVQRVWL� RG�PHKDQL]PLPD� L� VLVWHPVNLK� SRGVWLFDMD� V� NRMLPD� üH�9ODGD�UDVSRODJDWL��]D�RþHNLYDWL�MH�QMHQD�YDåQLMD�XORJD�X�UD]YRMX�L�SURPRFLML�RYRJ�L]X]HWQR�YDåQRJ�VUSVNRJ�WXULVWLþNRJ�SURMHNWD������
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�����.YDOLILNDFLMD�LQWHUHVD��
1HPD� QLNDNYH� VXPQMH� GD� VYL� LGHQWLILNRYDQL� ORNDOQL� VXEMHNWL� LPDMX�]DMHGQLþNL� LQWHUHV� ]D� RYDM� SURMHNDW�� 2EMHNWLYQR� QDMYHüL� LQWHUHV� LPD� VDPD�RSãWLQD�%DMLQD�%DãWD�� V� RE]LURP�QD� SRWUHEH� SULYUHGQRJ� UDVWD�� LQYHVWLFLMD� L�]DSRãOMDYDQMD�� 6DJODVQR� RYRP� LQWHUHVX� GHOXMH� 6SRUWVNR�7XULVWLþNL� &HQWDU�%DMLQD�%DãWD�NDR�IRUPDOQL�LQLFLMDWRU�0DVWHU�SODQD��
,QWHUHV� MH� 5HSXEOLNH� 6UELMH� VDGUåDQ� X� þLQMHQLFL� GD� MH� 6WUDWHJLMRP� UD]YRMD�WXUL]PD�RYR�SRGUXþMH�R]QDþHQR�NDR�WXULVWLþND�GHVWLQDFLMD�V�SRWHQFLMDORP�]D�UDVW� QH� VDPR� QD� GRPDüHP� YHü� L� QD� LQRVWUDQRP� WUåLãWX�� 8]� LQWHUHVH�5HSXEOLNH�6UELMH�YDOMD�YH]DWL�L�LQWHUHVH�L�HYHQWXDOQH�RGJRYRUQRVWL�13�7DUD�L�+LGURHOHNWUDQH�3HUXüDF��
,QWHUHVL� ORNDOQLK� LQYHVWLWRUD� VX� YHü� HYLGHQWLUDQL� L� RQL� VH� L]UDåDYDMX� SUHNR�RVWYDUHQLK�SUHX]LPDQMD��NDR�L�MDNRP�SUROLIHUDFLMRP�UD]YRMD�QHNUHWQLQD���
/RNDOQR�VWDQRYQLãWYR� L�XåH� LQWHUHVQH�JUXSH� MRã�QLVX�GRYROMQR� LQIRUPLVDQH�QLWL� VHQ]LELOL]RYDQH� V� RYLP� SURMHNWRP�� D� ãWR� MH� ]DGDWDN� QDUHGQH� ID]H�QMHJRYRJ�UD]YRMD��
8YLGRP� X� XORJH� L� PRJXüQRVWL� GHMVWYRYDQMD� VYDNRJ� RG� SRMHGLQDþQLK�ORNDOQLK� LQWHUHVQLK� VXEMHNDWD� YLGOMLYD� MH� RJUDQLþHQRVW� ILQDQVLMVNLK� L�XSUDYOMDþNLK�NDSDFLWHWD��1DGDOMH��XRþDYDMX�VH� L�EDULMHUH�NRMH� VH�RGQRVH�QD�EU]LQX� L� NYDOLWHW� UHJXODFLMH� SURVWRUD�� 1DURþLWR� ]ERJ� UD]OLþLWLK� UHåLPD� L�QDGOHåQRVWL�� NDR� L� UD]OLþLWLK� LQWHUHVD� YH]DQLK� X]� � SULYDWQX� L]JUDGQMX�QHNUHWQLQD��
8]LPDMXüL�VYH� WR�X�RE]LU��RYDM�SURMHNW�SUHWSRVWDYOMD�QRYL� L�GHVWLQDFLMVNRP�UD]YRMX� WXUL]PD� SULODJR HQ� PRGHO� XSUDYOMDQMD� NRML� QH� VDPR� GD� WUHED� QD��]DMHGQLþNRM� YL]LML� KDUPRQL]RYDWL� L� NRRUGLQLUDWL� LQWHUHVH�� QHJR� L� QD�NYDOLILNRYDQ� QDþLQ� X� SURMHNDW� XYXüL� QRYH� L� SUHWHåQR� VSROMQH� LQWHUHVQH�VXEMHNWH��LJUDþH��X]�MDNX�SRGUãNX�GUåDYQLK�LQWHUYHQFLMD��
8� WRP�NRQWHNVWX� VH�X�QDVWDYNX� L]ODåH�SRVORYQR�XSUDYOMDþNL�PRGHO�NRML� EL�SR� QDãHP� VXGX� QD� QDMEROML� QDþLQ� PRJDR� SRVWDWL� XVSHãQD� SODWIRUPD� ]D�SURIHVLRQDODQ�UD]YRM�RYRJ�SURMHNWD����

�����'HVWLQDFLMVND�PHQDGåPHQW�RUJDQL]DFLMD��'02�����
6PLVDR� L]YR HQMD� RYRJ� SURMHNWD� MHVWH� HILNDVQR� XSUDYOMDQMH� SURFHVRP�LQYHVWLFLMD�� SURJUDPRP� NRQNXUHQWQRVWL� L� PDUNHWLQJD� SUHPD� SUHWKRGQR�L]ORåHQRP� VDGUåDMX�� 6WRJD� VH� ]DSUDYR� SRVWDYOMD� SLWDQMH� YR HQMD� L�PRQLWRULQJD� L]YR HQMD� RYRJ� 0DVWHU� SODQD� X� SUHGORåHQRP� YUHPHQVNRP�RNYLUX� 2YR� VH� SDN� YR HQMH� L� PRQLWRULQJ� X� QDMYHüRM� PHUL� VYRGL� QD�NRRUGLQDFLMX� LQGLYLGXDOQLK� LQWHUHVD� L� RGJRYRUQRVWL� ]D� SRMHGLQH� GHORYH�SURMHNWD���
8�FHOLQL�JOHGDQR��UHDOL]DFLML�SUHGORåHQRJ�SURMHNWD�PRJXüH�MH�SULVWXSLWL�QD�WUL�JHQHUDOQD�QDþLQD��

D�� VSRQWDQLP�GHORYDQMHP� WUåLãWD� L�GLUHNWQLP�GRJRYRULPD�V�SULYDWQLP�LQYHVWLWRULPD�RG� VWUDQH� ORNDOQH� VWUXNWXUH� LQWHUHVQLK� VXEMHNDWD�� D� X�]DYLVQRVWL�RG�SRGUXþMD�XWLFDMD��E�� IRUPLUDQMHP� ORNDOQH�UHJLRQDOQH� UD]YRMQH� DJHQFLMH� ]D� WXUL]DP� NDR�JHQHUDOQRJ� GHYHORSHUD� SURMHNWD� L� QMHJRYD� L]YR HQMD� QD� WUåLãWH�NDSLWDOD��L�F�� SUHSXãWDQMHP�SRWHQFLMDOD�L�UHVXUVD�SURMHNWD�HYHQWXDOQRM�QDFLRQDOQRM�UD]YRMQRM�DJHQFLML�]D�WXUL]DP�V�LVWRP�SRVORYQRP�PLVLMRP��
DG� D�� 2YDM� PRGHO� QD� QHNL� QDþLQ� YHü� IXQNFLRQLãH� SRVUHGVWYRP�SULYDWL]DFLRQLK� SUHX]LPDQMD� KRWHOD�� D� QDURþLWR� QD� SRGUXþMX� UD]YRMD�QHNUHWQLQD�� 7R� MH�� PH XWLP�� VXERSWLPDODQ� PRGHO� MHU� MH� VSRU�� MHU� QLMH�RUMHQWLVDQ� UD]YRMX� GRGDQLK� YUHGQRVWL� X� VNODGX� V� SRWHQFLMDORP� SURMHNWD� L�NRQDþQR� MHU� X� VYRMLP� PDQLIHVWDFLMDPD� QHJDWLYQR� XWLþH� QD� EXGXüQRVW�SRGUXþMD��
DG�E��2YDM� EL�PRGHO� X� VOXþDMX� GRYROMQH� ORNDOQH� HNVSHUWL]H� L� ILQDQVLMVNRJ�SRWHQFLMDOD� LPDR� MDNH� DUJXPHQWH�� 0H XWLP�� UHþ� MH� REMHNWLYQR� PDQMH�UD]YLMHQRP� SRGUXþMX� V� QHUD]YLMHQLP� WUåLãWHP� NDSLWDOD� L� WLPH� RJUDQLþHQLP�NDSDFLWHWRP�]D�VDPRVWDOQL�UD]YRM�DJHQFLMH�]D�WXUL]DP��
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DG�F��3UHSXãWDQMH�SURMHNWD�HYHQWXDOQR�RUJDQL]RYDQRM�&HQWUDOQRM� UD]YRMQRM�DJHQFLML�WDNR H��PRåH�ELWL�MHGQD�RG�VROXFLMD��0H XWLP��þDN�L�NDGD�VH�RYDNYD�DJHQFLMD� IRUPLUD�� RQD� QLWL� X� NRMHP� VOXþDMX� QHüH� LPDWL� RGJRYRUQRVW� ]D�L]JUDGQMX�FHORYLWRJ�ODQFD�YUHGQRVWL�EXGXüH�WXULVWLþNH�GHVWLQDFLMH�7DUD��YHü�HYHQWXDOQR�PRåH�LPDWL�LQWHUHV�]D�QHNH�OXNUDWLYQH�GHORYH�SURMHNWD��
6YDNL� RG� WUL� QDYHGHQD� PRGHOD� LPD� VYRMH� SUHGQRVWL�� DOL� MH� QMLKRY� NOMXþQL�QHGRVWDWDN� WR� ãWR� QHPDMX� SUDYL� RGJRYRU� QD� SLWDQMH� NRRUGLQDFLMH� L�RSWLPL]LUDQMD� LQWHUHVD� LQGLYLGXDOQLK� VXEMHNDWD� L� VDPRJ� SURFHVD� UDVWD� X�VNODGX�VD�LQWHUHVLPD�ORNDOQRJ�EODJRVWDQMD���
5Hþ� MH��GDNOH��R�FHQWUDOQRP�SLWDQMX�XSUDYOMDQMD� WXUL]PRP�GHVWLQDFLMH�NRMH�YHü� GXåH� YUHPH� PXþL� PQRJH� ]HPOMH� L� UHJLMH�� QHRYLVQR� GD� OL� VX� RQH� X�SLRQLUVNRM�LOL�]UHORM�ID]L�UD]YRMD��
'D�EL�VH�GDR�NRQDþDQ�RGJRYRU�QD�SLWDQMH�QDMHILNDVQLMHJ�PRGHOD�XSUDYOMDQMD�RYLP� SURMHNWRP�� D� � RQR� X� VXãWQL� ]QDþL� L]QDODåHQMH� RSWLPDOQRJ� PRGHOD�XSUDYOMDQMD� GHVWLQDFLMRP�� QHRSKRGQR� MH� GD� SUYR� SRVWDYL� SLWDQMH� ãWD� MH�]DSUDYR�SULURGD�WXULVWLþNH�GHVWLQDFLMH��
5Hþ� MH� X� VNXSX� WXULVWLþNLK� VDGUåDMD� L� XVOXJD� NRML� MH� NDR� L� VYDNL� SURL]YRG�QDPHQMHQ� SRWURãDþLPD� VDVWDYOMHQ� RG� PXOWLGLPHQ]LRQDOQLK� DWULEXWD��'HVWLQDFLMX�PRåHPR�VKYDWLWL�L�NDR�DPDOJDP�WXULVWLþNLK�SURL]YRGD�NRMD�QXGL�LQWHJULVDQR�LVNXVWYR�SRWURãDþLPD���
6�GUXJH�SDN�VWUDQH�VYH�MH�SULVXWQLML�YLãH�KROLVWLþNL�SULVWXS�GHVWLQDFLML�NRML�MH�GHILQLãH�NDR� ORNDOLWHWRP�NRML�UDVSRODåH�VNXSRP�SURL]YRGD� L� LVNXVWDYD�NRML�VX� QD� NULWLþDQ� QDþLQ� XVORYOMHQL� XORJDPD� NRPSDQLMD� L� ORNDOQLK� LQVWLWXFLMD� L�QMLKRYRP�VSUHPQRVWL�]D�VDUDGQMRP��$OSH�QLNDG�QH�EL�SRVWDOH�EUHQG�GD�QLVX�VDUD LYDOH�)UDQFXVND�� ,WDOLMD��$XVWULMD� L�âYDMFDUVND��6W��0RULW]�QLNDG�QH�EL�SRVWDR�EUHQG�GD�QLVX�VDUD LYDOL�SULYDWQL�L�MDYQL�VXEMHNWL�QD�LVWRM�YL]LML��,�WDNR�UHGRP��
6YH� VH�� QDLPH�� YLãH� VKYDWD�� GD� WHN� VQDåQD� L� SURIHVLRQDOQR� RUJDQL]RYDQD�ORNDOQD� GHVWLQDFLMVND� PHQDGåPHQW� RUJDQL]DFLMD� NDR� PHVWR� VDUDGQMH� L�RSWLPL]DFLMH� LQWHUHVD� XNOMXþHQLK� VXEMHNDWD� MHVWH� NOMXþ� XVSHKD� VYDNH�WXULVWLþNH� GHVWLQDFLMH�� 'R� WRJ� VH� VD]QDQMD� GRãOR� QD� ED]L� DQDOL]H� L� RFHQH�

LVWRULMVNRJ�LVNXVWYD�X�WXULVWLþNRP�UD]YRMX�GHVWLQDFLMD��NR�MH�GDQDV�XVSHãDQ�L�]DãWR"��� 2YR� VD]QDQMH� MH� VWYRULOR� SRWUHEX� GD� VH� QRYH� L� X� SLRQLUVNRM� ID]L�SR]LFLRQLUDQH� GHVWLQDFLMH� SRþLQMX� GD� RUJDQL]XMX� QD� WDM� QDþLQ�� 3UL� WRPH� MH�PDQMH�YDåQR�GDOL�MH�WD�RUJDQL]DFLMH�X�SULYDWQLP��MDYQLP�LOL�SULYDWQR�MDYQLP�UXNDPD��D�ãWR�MH�RYLVQR�R�YHOLþLQL�SURVWRUD�L�QMHJRYRM�LQWHUHVQRM�VWUXNWXUL��
8�VOXþDMX�QRYH�L�SUD]QH�GHVWLQDFLMH�NRMD�VH�WHN�PRåH�UD]YLWL��D�ãWR�MH�VOXþDM�X�QHNLP�DPHULþNLP��NDQDGVNLP�LOL�DXVWUDOVNLP�GHVWLQDFLMDPD��RQGD�SULYDWQL�VHNWRU�X]�SRPRü�NXSQMH�LOL�NRQFHVLMH�VDP�SRVWDYOMD�VWUXNWXUX�L�WLPH�XSUDYOMD�SXWHP�'02�D��0H XWLP�X�GHVWLQDFLMDPD�NRMH�VX�QDVHOMHQH�L�NRMH�YHü�LPDMX�XVSRVWDYOMHQMX� LQWHUHVQX�VWUXNWXUX��SRNUHüH�VH� L]JUDGQMD�'02�V�RG�VWUDQH�]DWHþHQLK�LQWHUHVQLK�VXEMHNDWD��
1DNRQ��GDNOH��YLãHJRGLãQMH�HYROXFLMH�UD]YRMD�WXULVWLþNH�RUJDQL]DFLMH�PHVWD�L�UHJLMD�� SURL]OD]L� GD� MH� PRGHO� GHVWLQDFLMVNH� PHQDGåPHQW� RUJDQL]DFLMH�]DSUDYR� MHGLQL�PRJXüL�PRGHO� RUJDQL]RYDQMD� NRML� RPRJXüDYD� GXJRURþDQ� L�RGUåLY� UDVW��8� WRP�NRQWHNVWX�'HVWLQDFLMVND�PHQDGåPHQW� RUJDQL]DFLMD� LPD�SHW�SULPDUQLK�IXQNFMD�L�WR��

� HNRQRPVNL�SRNUHWDþ�GHVWLQDFLMH��
� GHVWLQDFLMVNL�PDUNHWHU��
� NRRUGLQDWRU�XNOMXþHQLK�VXEMHNDWD�
� SUHGVWDYQLN�MDYQRVWL�
� JUDGLWHOM�ORNDOQRJ�SRQRVD�

8�RSHUDWLYQRP�VPLVOX��GDNOH��GHVWLQDFLMVND�PHQDGåPHQW�RUJDQL]DFLMD�VSDMD�RQR� ãWR� MH� ELOD� QMHQD� YLãHJRGLãQMD� IXQNFLMD� HNVWHUQRJ� SUHGVWDYOMDQMD��PDUNHWLQJ�� V� RQLP� ãWR� MH� X� QRYLMH� YUHPH� QMHQD� QDVXãQD� SRWUHED��5Hþ� MH��SUHPD�WRPH��R�SRWUHEL�UD]YRMD�NRQNXUHQWQRVWL�GHVWLQDFLMH��D�ãWR�VH�L]UDåDYD�SUHNR�XWLFDMD�'02�D�QD�RGUåLYL�UDVW�L�UD]YRM�GHVWLQDFLMH��
6WRJD� MH�PRJXüH� JRYRULWL� R� QMHQRM� RGJRYRUQRVWL� QD� HNVWHUQRP� L� LQWHUQRP�SODQX��
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1D�HNVWHUQRP�MH�SODQX�'02�RGJRYRUDQ�GD�RUJDQL]XMH�VYH�DNWLYQRVWL�NDNR�EL�GHVWLQDFLMX�SUHGVWDYLR�VYHWX�L�X�QMX�GRYHR�JRVWH��7H�DNWLYQRVWL�VX�GDNOH�XVPHUHQH�QD�RVREH� L� LQVWLWXFLMH� L]YDQ�GHVWLQDFLMH� VDPH��8�SURãORVWL� MH�RYX�PLVLMX� REDYOMDOD� 7XULVWLþND� RUJDQL]DFLMD� �1DFLRQDOQD�� UHJLRQDOQD� LOL�ORNDOQD���D�NUR]�VYRMH�UD]OLþLWH�PDUNHWLQãNH�DNWLYQRVWL��8�WRP�VPLVOX�MH�L�X�WHRULML� L� X� SUDNVL� ELOR�GRVWD� NULWLND� QD� HILNDVQRVW� RYLK� RUJDQL]DFLMD� þLMH� VH�DNWLYQRVWL�XJODYQRP�QLVX�SRGXGDUDOH�V�UHDOQLP�VWDQMHP�UD]YRMD�SURL]YRGD�X�GHVWLQDFLMDPD�� 3RVWDYLOR� VH�� QDLPH�� SLWDQMH� VPLVOD�PDUNHWLQJD� X� XVORYLPD�QHSRVWDMDQMD� ]GUDYH� YH]H� V� NRQNXUHQWQVNLP� SURL]YRGLPD�� WR� MHVW�NRQFHSWLPD�UD]YRMD�GHVWLQDFLMD�����
.DNR� MH�SR]QDWR� WLSLþQH�VX� HNVWHUQH� WR� MHVW�PDUNHWLQãNH� DNWLYQRVWL� MHGQRJ�UD]YLMHQRJ�'02���7XULVWLþNH�RUJDQL]DFLMH���IRNXVLUDQH�QD�VOHGHüH��
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.DGD� VH� GDNOH� VXPLUD� UHDOQL� VDGUåDM� RGJRYRUQRVWL� MHGQRJ� SURIHVLRQDOQRJ�'02�D��RQGD�VH�NOMXþQH�DNWLYQRVWL�PRJX�RGUHGLWL�NDNR�VOHGL��
(NVWHUQH�GHVWLQDFLMVNH�PDUNHWLQãNH�DNWLYQRVWL��

Ö� ,QWHUQHW�PDUNHWLQJ�
Ö� 'RJD DML��NRQIHUHQFLMH�L�IHVWLYDOL�
Ö� .RRSHUDWLYQL�SURJUDPL��NXSFL�L�GU���
Ö� 'LUHNWQD�SRãWD�
Ö� 'LUHNWQD�SURGDMD�
Ö� 3URGDMQL�EOLFHYL�
Ö� 7XULVWLþNL�VDMPRYL�
Ö� 5HNODPLUDQMH�
Ö� ,]OHWL�XSR]QDYDQMD�
Ö� %URãXUH�L�SXEOLNDFLMH�

,QWHUQH�GHVWLQDFLMVNH�UD]YRMQH��NRQNXUHQWVNH��DNWLYQRVWL��
Ö� 6LVWHP�XSUDYOMDQMD�SRVHWLRFLPD�
Ö� ,QIRUPDFLMH�LVWUDåLYDQMD�
Ö� .RRUGLQDFLMD�WXULVWLþNLK�LQWHUHVQLK�VXEMHNDWD�
Ö� .UL]QL�PHQDGåPHQW�
Ö� 5D]YRM�OMXGVNLK�UHVXUVD�
Ö� 3ULYODþHQMH�ILQDQVLMVNRJ�L�XODJDþNRJ�NDSLWDOD�
Ö� =DãWLWD�L�XQDSUH HQMH�UHVXUVD�
Ö� ,]JUDGQMD�LVNXVWDYD�]D�SRVHWLRFH�
Ö� 3RVORYQH�DNWLYQRVWL�

1HPD� XQLYHU]DOQLK� SUDYLOD� R� UDVSRUHGX� L� NROLþQL� SRMHGLQLK� HNVWHUQLK� L�LQWHUQLK�DNWLYQRVWL��YHü�RQH�]DYLVH�RG�VWDQMD��SURILOD�L�VWDQGDUGD�UD]YLMHQRVWL�VYDNH�GHVWLQDFLMH��0H XWLP��QH]DYLVQR�RG�WH]H�GD�VX�]DSUDYR�VYH�DNWLYQRVWL�SRGMHGQDNR�YDåQH��VYDND�GHVWLQDFLMD�X�]DYLVQRVWL�RG�VWHSHQD�QMHQH�]UHORVWL�XWYU XMH�IRNXV�L�UDQJ�SULRULWHWD��
8]LPDMXüL�WR�X�RE]LU�QD�SULPHUX�WXULVWLþNRJ�SRGUXþMD�13�7DUD��L]YDQ�VYDNH�MH�VXPQMH�GD��LQWHUQH�DNWLYQRVWL�PRUDMX�ELWL�X�SULRULWHWQRP�IRNXVX�X�SHULRGX�RG� QDMPDQMH� WUL� JRGLQH� GR� NDGD� VH� RþHNXMX� ]QDþDMQLML� SRPDFL� X� UD]YRMX�

SURL]YRGD� L� ODQFD� YUHGQRVWL� RYH� GHVWLQDFLMH�� QH]DYLVQR� RG� WRJD� ãWR� VH�SURIHVLRQDOQH�HNVWHUQH�DNWLYQRVWL�L�GDOMH�PRUDMX�GD�REDYOMDMX��
1D� WDM� VPR� QDþLQ� GRãOL� GR� QDãHJ� NRQDþQRJ� SUHGORJD� GD� VH� ]D� SRWUHEH�UD]YRMD� WXUL]PD� 13� 7DUD�� D� QD� RVQRYX� RYRJ� 0DVWHU� SODQD� IRUPLUD�'HVWLQDFLMVND� PHQDGåPHQW� RUDQL]DFLMD� NRMD� LQWHJULãH� UD]YRMQR�NRQNXUHQWVNH� L� PDUNHWLQãNH� DNWLYQRVWL�� 2QD� WUHED� GD� SUHX]PH� NOMXþQX� L�SRNUHWDþNX�XORJX�X�UD]YRMX�QRYH�PRGHUQH�ID]H�WXUL]PD�RYRJD�NUDMD���
�

�����3UHGORJ�]D�IRUPLUDQMH�%DMQD�%DãWD�'02�
3UHGODåHPR� IRUPLUDQMH� 'HVWLQDFLMVNH� 0HQDGåPHQW� 2UJDQL]DFLMH� SRG�UDGQLP�QD]LYRP��
7$5$�� %DMQD� %DãWD� �QDNRQ� SURFHVD� EUHQGLQJD� üH� VH� XWYUGLWL�
QDMSRJRGQLMH�PDUNHWLQãNR�LPH�L�VORJDQ��
�
0RJXüL�PDUNHWLQãNL�QD]LYL��
�

69(7�7$5(���7$5$���'8+�35,52'(��9(1,�9,',�7$5$�HWF��
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x� 3UHGODåHPR� GD� VH� RYD� RUJDQL]DFLMD� IRUPLUD� NDR� MDYQR�SULYDWQD�NRPSDQLMD��SDUWQHUVWYR���D�X�PLQLPDOQRP�YODVQLãWYX�RSãWLQH�%DMLQD�%DãWD�RG�������
x� 3UHWHåQR� VH� YODVQLãWYR� RSãWLQH� SUHGODåH� X� LQLFLMDOQRP� SHULRGX� RG�QDMPDQMH� �� JRGLQD�� D� QDNRQ� þHJD� EL� SRVWRMDOD� PRJXüQRVW� GD�SULYDWQL�YODVQLFL�SUHX]PX�PDMRULWHW�X]�NRQWUROQL�SDNHW�RSãWLQH�����SOXV������
x� 3UHGODåHPR� GD� RVWDOL� VXYODVQLFL� EXGX�� 13� 7DUD�� +LGURHOHNWUDQD�3HUXüDF�� QHNROLNR� ]DLQWHUHVRYDQLK� SULYDWQLK� VXEMHNDWD� L� VYDNL�VOHGHüL�SULYDWQL�VXEMHNW�QDNRQ�SUHRVWDOH�SULYDWL]DFLMH�KRWHOD���
x� 3UHGODåHPR� GD� VH� RYD� NRPSDQLMD� IRUPLUD� RGOXNRP� 6NXSãWLQH�RSãWLQH�%DMLQD�%DãWD��
x� 3UHGODåHPR�GD�VH�'02�NRPSDQLMD�IRUPLUD�SXWHP�RUJDQL]DFLRQRJ�L�SUDYQRJ� SUHREOLNRYDQMD� � SRVWRMHüHJ� 6SRUWVNR�7XULVWLþNRJ� &HQWUD�%DMLQD�%DãWD�� WH� GD� VH� SRVWRMHüL� NDGURYVNL� L� WHKQRORãNL� SRWHQFLMDO�RYRJ� &HQWUD� GRGDWQR� RVSRVREL� ]D� SUHX]LPDQMH� RSHUDWLYQRJ�GHVWLQDFLMVNRJ� PHQDGåPHQWD� X� VNODGX� VD� ]DKWHYLPD� RYRJ�0DVWHU�SODQD��
x� 3UHGODåHPR� GD� VH� RYD� RUJDQL]DFLMD�NRPSDQLMD� XVWDQRYL� NDR�DNFLRQDUVNR�GUXãWYR��D�]ERJ�SRWUHEH�XEU]DQRJ� LQWHQ]LYLUDQMD�NDNR�UD]YRMQLK�WDNR�L�PDUNHWLQãNLK�DNWLYQRVWL��
x� 3UHGODåHPR� GD� RYD� RUJDQL]DFLMD�NRPSDQLMD� SUHPD� WRPH� EXGH�JODYQL� SURPRWRU� L� SUHGVWDYQLN� LQWHUHVD� UD]YRMD� WXUL]PD� RYRJ�SRGUXþMD�QD�ORNDOQRP��GUåDYQRP�L�LQWHUQDFLRQDOQRP�QLYRX��
x� 3UHGODåHPR� VOHGHüX� RUJDQL]DFLRQX� ãHPX� RYH�RUJDQL]DFLMH�NRPSDQLMH���
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�
3R� QDãHP� VD]QDQMX�� WUHQXWQR� MH� X� &HQWUX� ]DSRVOHQR� �� RVRED�� RG� NRML� MH�MHGDQ� GHR� XNOMXþHQ� X� VSRUWVNH� DNWLYQRVWL� �SRVORYQH� DNWLYQRVWL���8� VOXþDMX�SULKYDWDQMD�RYRJ�PRGHOD�RG�VWUDQH�2SãWLQH�%DMLQD�%DãWD��ELOR�EL�QHRSKRGQR�UHDOQR� VWUXNWXULVDWL� RSHUDWLYQR�UDGQX� VWUXNWXUX� '02�D� SUHPD� SODQX� L�SULRULWHWLPD�DNWLYQRVWL�NRMH�SURL]OD]H�L]�SULKYDüHQRJ�0DVWHU�SODQD��
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���3/$1�.21.85(171267,�
�����8YRG�
&LOM� SODQD� NRQNXUHQWQRVWL� MH� SREROMãDQMH� UD]OLþLWLK� SRGUXþMD� ]D� UD]YRM�WXUL]PD� QD� SRGUXþMX� 7DUH�� 3ODQ� NRQNXUHQWQRVWL� üH� SRPRüL� X� SREROMãDQMX�SRVWRMHüH� VLWXDFLMH� L� SRVWDYLWL� XVORYH�SRWUHEQH� ]D� UD]YRM� WXULVWLþNH�SRQXGH�SUHPD�SRWUHEDPD�VDGDãQMH�L�EXGXüH�WUDåQMH��NDR�L�]D�ORNDOQR�VWDQRYQLãWYR���
.DNR�EL�VH�SREROMãDOL�XVORYL�UD]YRMD�WXUL]PD��3ODQRP�VH�SUHGODåH�XYR HQMH�RVDP� NRQNXUHQWVNLK� SURJUDPD� VD� FLOMHP� SREROMãDQMD� QHGRVWDWDND� NRML�QHJDWLYQR�XWLþX�QD�NRQNXUHQWQRVW�WXULVWLþNRJ�VLVWHPD�L�HILNDVQRVW�SULYDWQRJ�L�MDYQRJ�VHNWRUD�XNOMXþHQRJ�X�WXULVWLþNL�UD]YRM��YLGHWL�3ODQ�NRQNXUHQWQRVWL�X�6WUDWHJLML�UD]YRMD�WXUL]PD�6UELMH����
1DGDOMH�� JODYQD� QDPHQD� 3ODQD� NRQNXUHQWQRVWL� MH� VWYDUDQMH� SRGUXþMD� L�SURVWRUD� VD� RGJRYDUDMXüRP� DWPRVIHURP� L� XVOXJDPD�� WH� SULNODGQLP�VWDQGDUGLPD�NYDOLWHWD�NUR]�SREROMãDQMH�WXULVWLþNLK�VLVWHPD�YUHGQRVWL��JGH�VH�ORNDOQR�VWDQRYQLãWYR�L�JRVWL�RVHüDMX�XJRGQR�L�GREURGRãOR��8�WRP�SRJOHGX��SRVHEQR�üH�VH�UDGLWL�QD�SREROMãDQMX�XVORYD�X�WXULVWLþNLP�NRPSDQLMDPD��NDR�ãWR� VX�KRWHOL�� UHVWRUDQL�� SXWQH� DJHQFLMH�� WH�QD�XVORYLPD� WXULVWLþNRJ� UD]YRMD��SULVWXS�� PRELOQRVW� L� WUDQVSRUW�� VLJQDOL]DFLMD�� LQIRUPLVDQMH�� WUJRYLQH� L�NRPSOHPHQWDUQD�SRQXGD��XUEDQD�HVWHWLND��þLVWRüD��LWG����

�����3URJUDPL�NRQNXUHQWQRVWL�
8YRG�
.RQNXUHQWQRVW�VH�GHILQLãH�NDR�VSRVREQRVW�SRVWL]DQMD�HNRQRPVNH��VRFLMDOQH�L�HNRORãNH�SURILWDELOQRVWL��YLãH�RG�SURVHND�HNRQRPVNRJ�VHNWRUD�NRMHJ�þLQH�SULYDWQH� L� MDYQH� NRPSDQLMH� VD� FLOMHP� RVWYDULYDQMD� YHüHJ� SRYUDüDMD�LQYHVWLFLMD�� 2NYLU� X� NRMHP� VH� NRQNXUHQWQRVW� UD]YLMD� MH� NRPSOHNVDQ� L�UD]QRYUVWDQ�� SRQHNDG� VD� VXSURWQLP� LQWHUHVLPD�� LDNR� SULURGQH� L� VRFLR�NXOWXURORãNH� NDUDNWHULVWLNH� SURVWRUD� PRJX� SRPRüL� SUL� SRYHüDYDQMX�SRWHQFLMDOD�WXULVWLþNRJ�UD]YRMD����
6DGUåDM�SURJUDPD�

%URM�SURJUDPD� 3URJUDP�
�� 6LVWHP� GHVWLQDFLMVNRJ� PHQDGåPHQWD� �� 6WYDUDQMH� '02�D��'HVWLQDWLRQ�0DQDJHPHQW�2UJDQLVDWLRQ��
�� 7XULVWLþNL� LQIRUPDFLRQL� VLVWHP�� SRVORYQLFH�� EURãXUH�� LPLGå��SR]LFLRQLUDQMH��LWG��
�� 7XULVWLþNH�NRPSDQLMH��KRWHOL��UHVWRUDQL��EDURYL��LWG��
�� .RPSOHPHQWDUQD� SRQXGD�� WXULVWLþNL� SURL]YRGL� L� DNWLYQRVWL��WUJRYLQH��]DQDWL��VXYHQLUL��ORNDOQL�SURL]YRGL��LWG��
�� 3REROMãDYDQMH�SULVWXSDþQRVWL��YD]GXKRP��GUXPRP�L�YRGRP��

��
-DYQH� XVOXJH�� WUDQVSRUW�� R]QDþDYDQMH�� HQHUJHWVNR� L� YRGR�VQDEGHYDQMH�� NDQDOL]DFLRQL� VLVWHPL�� VLVWHPL�RGYR]D�RWSDGD� L�UHFLNOLUDQMD��LWG��

��
8UEDQLVWLþNL� SODQ�� SDUNLUDQMH� L� PRELOQRVW�� LQWHUQR�LQIRUPLVDQMH� L� VLVWHPL� R]QDþDYDQMD�� NUDMROLN�� HVWHWLND��DWUDNFLMH�L�RSUHPD��NXSRYLQD��LWG��

�� 3REROMãDQMH�SULURGQLK�L�VRFLR�NXOWXUQLK�UHVXUVD�
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�����2SLV�SURJUDPD�NRQNXUHQWQRVWL�
���6LVWHP�GHVWLQDFLMVNRJ�PHQDGåPHQWD��6WYDUDQMH�'02�D�
$��8YRG�
6LVWHP� GHVWLQDFLMVNRJ� PHQDGåPHQWD� MH� SURJUDP� þLML� FLOM� MH� SRYHüDYDQMH�HILNDVQRVWL�PHQDGåPHQWD� 7DUH� NUR]� XNOMXþLYDQMH� L� NRRUGLQLUDQMH� MDYQRJ� L�SULYDWQRJ� VHNWRUD��3URJUDP�üH�NRULVWLWL� VLQHUJLMX� L]PH X� VHNWRUD� L� UDGLWL� X�LVWRP�VPHUX�L�QD�NRRUGLQLUDQ�QDþLQ�NDNR�EL�RPRJXüLR�UD]YRM�WXUL]PD���
'DNOH��VWYDUDQMH�'02�D��'HVWLQDWLRQ�0DQDJHPHQW�2UJDQLVDWLRQ��NRML�EL�VH�VDVWRMDR�RG�þODQRYD�SULYDWQRJ�L�MDYQRJ�VHNWRUD�MH�NOMXþDQ�]D�LPSOHPHQWDFLMX�RYRJ� 0DVWHU� SODQD� SUHGORåHQRJ� RG� VWUDQH� +RUZDWK� &RQVXOWLQJD� =DJUHE��'02� üH� SURPRYLVDWL� UD]YRM� VHNWRUD� QD� VWUXNWXULVDQ� L� RUJDQL]RYDQ� QDþLQ�NDNR� EL� VH� SREROMãDOD� NRQNXUHQWVND� SUHGQRVW� 7DUH�� 1D� RYDM� QDþLQ� üH� VH�SRPRüL� SUL� NUHLUDQMX� DGHNYDWQLK� XVOXJD� L� SURL]YRGD�� WH� DNWLYQRVWL� L�LVNXVWDYD�NRML�EL�VH�WUHEDOL�SULODJRGLWL�SRVWRMHüLP�L�SRWHQFLMDOQLP�SRWUHEDPD�L�RþHNLYDQMLPD�WUDåQMH��
%��$NFLRQL�SODQ�

%���� 6WYDUDQMH� '02�D� UDGL� LPSOHPHQWDFLMH� 0DVWHU� 3ODQD� 7DUH��0HQDGåPHQW� RUJDQL]DFLMX� SUHGORåHQX� X� RYRP� SURJUDPX� WUHEDR� EL�SUHGVWDYOMDWL�SULYDWQL� L� MDYQL�VHNWRU�RSãWLQH�%DMLQD�%DãWD��0HQDGåPHQW�VWUXNWXUD� WUHEDOD� EL� XVWDQRYLWL� SURFHGXUH� L� SRVWDYLWL� SULRULWHWH� ]D�LPSOHPHQWDFLMX� LQLFLMDWLYD� L� SUHSRUXND� GHILQLVDQLK� X� RYRP� 3ODQX��3RWUHEQR� MH� VWYRULWL� DGHNYDWQH� SURL]YRGH�� DNWLYQRVWL� L� XVOXJH� QD� ED]L�UHVXUVD� L� DWUDNFLMD� NRML� QXGH� YLãH� NDSDFLWHWD� ]D� SULYODþHQMH� WXULVWD� L�SRVHWLRFD�X�RYRP�SRGUXþMX���

x� 6WYRULWL� .RPLVLMX� NDNR� EL� VH� SRVWDYLOD� SUDYLOD� L� UHJXODWLYH�'02�D��
R� 6WUXNWXUD��-DYQR�L�SULYDWQR���

�� -DYQR�� 2SãWLQD� %DMLQD� %DãWD�� 7XULVWLþND�RUJDQL]DFLMD� %DMLQD� %DãWD�� 8SUDYD�1DFLRQDOQRJ� SDUND� L� RVWDOH� MDYQH� NRPSDQLMH� L�RUJDQL]DFLMH��
�� 3ULYDWQR�� 7XULVWLþNH� NRPSDQLMH�� RVWDOH�NRPSDQLMH��SURGDYQLFH�L�RVWDOH�XVOXJH��ORNDOQD�XGUXåHQMD��GUXJL�VWUXþQMDFL��LWG��

R� 6WUDWHãNL�SODQ��FLOMHYL��VWUDWHJLMH�L�UD]YLMDQMH�LQLFLMDWLYH��
R� $NFLRQL� SODQ�� XWYU LYDQMH� SULRULWHWQLK� LQLFLMDWLYD�GHILQLVDQLK�X�0DVWHU�SODQX�7DUH�
R� 5HVXUVL��/MXGVNL��WHKQLþNL��ORJLVWLþNL��ILQDQVLMVNL��LWG��

&��%HQþPDUN�
'02� SRPDåH� X� LPSOHPHQWDFLML� 0DVWHU� SODQD� L� WUHEDR� EL� GD� LPD� XORJX�UXNRYRGLRFD� L� NRRUGLQDWRUD� UD]QLK� DNWHUD� SULYDWQRJ� L� MDYQRJ� VHNWRUD�XNOMXþHQLK�X�SURFHV� LPSOHPHQWDFLMH��9RGHüH� WXULVWLþNH�GHVWLQDFLMH�X� VYHWX�VWYDUDMX� RUJDQL]DFLMH� �MDYQH�� SULYDWQH� LOL� MDYQR�SULYDWQH�� NRMH� VH� EDYH�XYR HQMHP� DNFLRQLK� SODQRYD� ]D� UD]YRM� WXUL]PD�� NDR� ãWR� MH� VOXþDM�� L]PH X�RVWDORJ��X�)UDQFXVNRM�L�.DQDGL��
�
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(��5HOHYDQWQH�LQIRUPDFLMH�QD�LQWHUQHWX�
ZZZ�VFRWODQGYDFDWLRQV�FRP�LQGH[�KWPO�ZZZ�VFRWODQGYDFDWLRQV�FRP�LQGH[�KWPO�ZZZ�EDUFHORQDWXULVPH�FRP��ZZZ�WRXULVPQHZEUXQVZLFN�FD���KWWS���ZZZ�VFRWODQG�VGPD�RUJ�XN��ZZZ�LQVXOD�RUJ�ZZZ�RWVSQ�FRP�FJL�ELQ�ZHE�GHIDXOW�DVS�KWWS���ZZZ�YLVLW�FRP�VROXWLRQV�'02�DVS[�KWWS���ZZZ�GPFVSDLQ�FRP��KWWS���GHXWVFK�PRQRPD[�RUJ��
1DSRPHQD�� 'HWDOMDQ� SUHGORJ� L� RSLV� DNWLYQRVWL�� WH� RUJDQL]DFLMH� '02�D�
QDOD]L�VH�X�RNYLUX�3RVORYQR�XSUDYOMDþNRJ�PRGHOD�RYRJ�0DVWHU�SODQD��

��� 7XULVWLþNL� LQIRUPDFLRQL� VLVWHP�� SRVORYQLFH�� EURãXUH�� LPLGå��SR]LFLRQLUDQMH��LWG��
$��8YRG�
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'RVWXSQRVW� MH� MHGQD� RG� QDMYHüLK� VODERVWL� SRGUXþMD�7DUH�� ]ERJ� QHGRYROMQR�UD]YLMHQH� QDFLRQDOQH�� UHJLRQDOQH� L� ORNDOQH� PUHåH� SXWHYD�� WH� SRWUHEH� ]D�EROMLP�RGUåDYDQMHP�SURPHWQH�LQIUDVWUXNWXUH��3ULVWXS�RYRM�GHVWLQDFLML�üH�VH�SREROMãDWL�]DMHGQR�VD�UD]YRMHP�SODQLUDQLK�SXWHYD�L�DXWRSXWHYD�NRMH�XWLþX�QD�SRYH]DQRVW�UHJLMH�VD�RVWDWNRP�6UELMH���
%��$NFLRQL�SODQ�

%���� 6WYDUDQMH� VLVWHPD� PRELOQRVWL� QD� RYRP� SRGUXþMX�� GHILQLVDQMH�UD]OLþLWLK� LWLQHUDUD� NRML� üH� XWLFDWL� QD� SRYHüDQMH� PRELOQRVWL� ãLUHJ�SRGUXþMD� 1DFLRQDOQRJ� SDUND� 7DUD�� 6WYDUDQMH� UD]OLþLWLK� LWLQHUDUD� ]D�UD]OLþLWH�LQWHUHVH�PRåH�VH�XþLQLWL�NDR�X�VOHGHüHP�SULPHUX����
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%����6WYDUDQMH�PHVWD�]D�RGPRU�L�YLGLNRYDFD���
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%����8QDSUH HQMH� L� L]JUDGQMD�PDULQH�QD� MH]HUX�3HUXüDF��3RVWRMHüL�VDGUåDM�QH�RPRJXüDYD�GDOMQML�UD]YRM�SURL]YRGD�UHþQRJ�NUVWDUHQMD��]ERJ�þHJD�LK�MH�SRWUHEQR�XQDSUHGLWL��WH�VWYRULWL�QRYH���

x� =JUDGD� PDULQH�� UHFHSFLMD� VD� LQIRUPDFLMDPD� R� XVOXJDPD�NUVWDUHQMD�
x� %DU� L� UHVWRUDQ� VD� WHUDVDPD� JGH� VH� QXGH� ORNDOQL� VSHFLMDOLWHWL� X�XJRGQRP� DPELMHQWX� L� DWPRVIHUL� �ERMD�� DWPRVIHUD�� GHNRU��PX]LND��VWROLFH��VWRORYL��LWG���
x� 8VOXJH� L]QDMPOMLYDQMD� ]D� QDXWLþNH� SRWURãDþH� VD� PRJXüQRãüX�L]QDMPOMLYDQMD�EURGRYD��NDMDND��NDQXD��LWG���
x� 1DXWLþND� ãNROD� ]D� UD]OLþLWH� WLSRYH� SRWURãDþD�� GHFX�� VWDULMH��SRURGLFH��LWG���
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'��%HQþPDUN�
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ZZZ�HOWLV�RUJ�HQ��ZZZ�URDGWUDIILF�WHFKQRORJ\�FRP��ZZZ�PDULQDPDQDJHPHQW�FRP��ZZZ�LPLPDULQD�RUJ��ZZZ�SHWHU�GHLOPDQQ�ULYHU�FUXLVHV�FR�XN���ZZZ�YLFURDGV�YLF�JRY�DX�KWWS���ZZZ�OWVD�JRYW�Q]�LQGH[�KWPO��ZZZ�EDWWHU\SDUN�FRP�ZZZ�XQLZRUOG�FRP�ZZZ�VDJD�FR�XN�WUDYHO�5LYHU&UXLVHV��UF+RPH�DVS"EKFS ���

���-DYQH�XVOXJH�L�LQIUDVWUXNWXUD�
$��8YRG�
-DYQH� XVOXJH� L� LQIUDVWUXNWXUD� VX� RVQRYQL� SUHGXVORYL� ]D� WXULVWLþNL� UD]YRM�GHVWLQDFLMH� 7DUD�� D� XWLþX� QD� FHORNXSQL� NYDOLWHW� L� NRQNXUHQWQRVW��0RJX� VH�SRGHOLWL�QD�VOHGHüH��

x� -DYQH� XVOXJH� �� SRYH]DQH� VD� LQIRUPDFLMDPD�� VLJQDOL]DFLMRP��RVLJXUDQMHP�� þLãüHQMHP�� SURPHWQLP� SUDYLOLPD�� SRãWDQVNLP�SRVORYQLFDPD��MDYQLP�SUHYR]RP�L�LWG��
x� -DYQD� LQIUDVWUXNWXUD� �� SRYH]DQD� VD� VDNXSOMDQMHP� RWSDGD��VLVWHPLPD�UHFLNOLUDQMD��NDQDOL]DFLRQLP�VLVWHPLPD��HQHUJHWLNRP�L�YRGRVQDEGHYDDQMHP��LWG���

=D�SRGUXþMH�7DUH��D�UDGL�XWLFDMD�QD�SULURGQX�RNROLQX��SRWUHEQR�MH�REQRYLWL�WH�LPSOHPHQWLUDWL� QRYL� L� HNRORãNL�SULKYDWOMLY� VLVWHP� L]YRUD� HQHUJLMH��1DGDOMH���SREROMãDQMH�VLVWHPD�VDNXSOMDQMD�L�UHFLNOLUDQMD�RWSDGD�MH�YDåQR�UDGL�SRYHüDQH�NROLþLQH� RWSDGD� NRML� üH� VH�JHQHULVDWL� SRYHüDQMHP�EURMD� SRVHWLRFD�QD�7DUL��9RGRVQDEGHYDQMH� L� NDQDOL]DFLRQL� VLVWHPL� WDNR H� WUHEDMX� ELWL� XQDSUH HQL�]ERJ�SRYHüDQH�SRWURãQMH�YRGH�XVOHG�ERUDYND�WXULVWD�X�GHVWLQDFLML��3ODQLUD�VH�L]UDGD� QRYRJ� NDQDOL]DFLRQRJ� VLVWHPD� QD� SRGUXþMX� 7DUH�� NRML� EL� WUHEDR�SRPRüL�X�]DãWLWL�RNROLQH�L�VPDQMHQMX�]DJD HQMD���
%��$NFLRQL�SODQ�

%���� 3REROMãDQMH� SUXåDQMD� MDYQLK� XVOXJD�� SRVWRML� SRWUHED� ]D�SREROMãDQMHP� MDYQLK� XVOXJD� NRMH� VH� QXGH� WXULVWLPD�� SRVHWLRFLPD� L�ORNDOQRP�VWDQRYQLãWYX�NDNR�EL� VH�SRGLJR�NYDOLWHW� åLYRWD�X�GHVWLQDFLML��.YDOLWHW�RNROLQH�L�MDYQLK�XVOXJD�WDNR H�XWLþH�QD�LPLGå�L�SR]LFLRQLUDQMH�GHVWLQDFLMH�7DUD���
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x� 8QDSUH HQMH�MDYQRJ�SUHYR]D���DXWREXVQH�YH]H�XQXWDU�RSãWLQH�%DMLQD�%DãWD�L�FHORJ�SRGUXþMD�7DUH��QDURþLWR�RQH�NRMH�SRYH]XMX�JUDG�%DMLQX�%DãWX�VD�SRGUXþMHP�13�7DUD��
x� 8QDSUH HQMH�WDNVL�XVOXJD�VD�SRVHEQLP�QDJODVNRP�QD�NYDOLWHW�DXWRPRELOD�NUR]� UD]OLþLWH�NDWHJRULMH�NDR� ãWR� VX�VWDQMH�� JRGLQH��XGREQRVW��LWG��

%���� .UHLUDQMH� DOWHUQDWLYQLK� L]YRUD� HQHUJLMH� NRML� EL� WUHEDOL� ELWL�HNRORãNL�SULKYDWOMLYL�� D�QDURþLWR�XQXWDU�1DFLRQDOQRJ�SDUND�� NDR� ãWR� VX�YHWDU��VXQFH��LWG��
%����.UHLUDQMH�VLVWHPD�]D�VDNXSOMDQMH�L�UHFLNOLUDQMH�RWSDGD���
.UHLUDQMH�SULNODGQRJ�VLVWHPD�]D�VDNXSOMDQMH�VPHüD��SRVHEQR�X�JODYQLP�]RQDPD��%DMLQD�%DãWD��3HUXþDF�� MH]HUR�3HUXüDF��0LWURYDF��.DOX HUVNH�%DUH� L� 3UHGRY� .UVW�� .RQWHMQHUL� EL� WUHEDOL� ELWL� X� VNODGX� VD� SULURGQLP�RNUXåHQMHP�� WDNR�GD� WUHEDMX�ELWL� VPHãWHQL�QD� VWUDWHãNLP�PHVWLPD��NDR�QSU��EOL]X�JODYQLK�GUXPRYD�L�UDVNUVQLFD��WH�X�XUEDQLP�SRGUXþMLPD���

x� 8YR HQMH�VLVWHPD�UHFLNOLUDQMD��
R� 3RVWDYOMDQMH� UD]OLþLWLK� YUVWD� NRQWHMQHUD� ]D� VYDNL�UHFLOLUDQL� PDWHULMDO� �VWDNOR�� SDSLU�� SODVWLND�� LWG���� X�VNODGX�VD�LQWHUQDFLRQDOQLP�VWDQGDUGLPD��
R� 3RNUHWDQMH� VLVWHPD� UHFLNOLUDQMD� NDNR� EL� VH� SRQRYR�XSRWUHEOMDYDR� LOL� EDUHP� VDNXSOMDR� RWSDG�� NDR� ãWR� MH�RUJDQVNL�RWSDG��SDSLU�L�NDUWRQ��VWDNOR��SODVWLND��EDWHULMH��LWG���

%����.UHLUDQMH�QRYRJ�NDQDOL]DFLRQRJ�VLVWHPD��
x� .UHLUDQMH� SULNODGQRJ� NDQDOL]DFLRQRJ� VLVWHPD� SUHSRUXþXMH�XSRWUHEX� ELRORãNLK� SUHþLVWDþD� NDNR� EL� VH� SREROMãDOD� þLVWRüD�RNROLQH� X� JODYQLP� SRGUXþMLPD�� %DMLQD� %DãWD�� 3HUXþDF�� MH]HUR�3HUXüDF��0LWURYDF��.DOX HUVNH�%DUH��3UHGRY�.UVW���

x� 3URPRYLVDQMH� YDåQRVWL� XSRWUHEH� þLVWH� SLWNH� YRGH� X�VYDNRGQHYQRP� åLYRWX�� NDNR� ]D� WXULVWH� WDNR� L� ]D� ORNDOQR�VWDQRYQLãWYR��8�VYHWX�MH�VYH�YHüD�YDåQRVW�þLVWRüH�YRGH��LDNR�X�%DMLQRM�%DãWL� WR�]D�VDGD�QLMH�SUREOHP�UDGL�NOLPDWVNLK�XVORYD� L�SRVWRMHüHJ�YLVRNRJ�NYDOLWHWD�YRGH�����
&��3RVWRMHüD�VLWXDFLMD�
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(QHUJLMD�ZZZ�H��RUJ�3DJHV�$�3URMHFWV�$,-�,QGRQHVLD�KWPO�ZZZ�RDVLVPRQWDQD�FRP��ZZZ�UHV�OWG�FRP��ZZZ�DDDVRODU�FRP��
9RGD�ZZZ�OLIHZDWHU�FD�OLQNV�KWP�ZZZ�DJU�JF�FD�HQY�LQGH[BH�SKS"VHFWLRQ K�R	SDJH K�R�
.DQDOL]DFLMD�ZZZ�EFKHDOWKJXLGH�RUJ�KHDOWKILOHV�KILOH��D�VWP�ZZZ�MRKQVWRQVPLWK�FR�XN�IDFW��KWPO�ZZZ�LQVSHFW�Q\�FRP�VHSWERRN�KWP��
5HFLNOLUDQMH�ZZZ�FUHVVZRRG�FRP��ZZZ�UHF\FOH�FRP��ZZZ�UHF\FOLQJV\VWHPV�FRP��ZZZ�VWUDLJKW�FR�XN��

���8UEDQLVWLþNL�SODQ��XQDSUH HQMH�JUDGVNLK�SRGUXþMD�
$��8YRG�
8UEDQLVWLþNL� SODQ� IRNXVLUD� VH� QD� SLWDQMD� SDUNLQJD� L� PRELOQRVWL�� LQWHUQLK�LQIRUPDFLMD�L�VLJQDOL]DFLMH��XUEDQX�JDODQWHULMX�L�HVWHWLNX��DWUDNFLMH�L�RSUHPX��ãRSLQJ�SRQXGX��2YDM�SURJUDP�MH�IRNXVLUDQ�QD�SREROMãDQMH�XVORYD�åLYRWD�X�%DMLQRM� %DãWL� NDNR� EL� VH� VWYRULOD� RGJRYDUDMXüD� DWPRVIHUD� L� NUHLUDR�RGJRYDUDMXüL�LPLGå�GHVWLQDFLMH����
%��$NFLRQL�SODQ�

%����8QDSUH HQMH�JUDGD�%DMLQH�%DãWH�
x� ,]JUDGQMD� L� SREROMãDQMH� SHãDþNLK� ]RQD�� WXULVWLþNL� LWLQHUDUL� L�]HOHQH�SRYUãLQH�X�%DMLQRM�%DãWL��SULVWXS�NUR]�XOD]H��XNODQMDQMH�DUKLWHNWRQVNLK� EDULMHUD�� XYR HQMH� LQIRUPDFLRQLK� SDQRD� L�SULNODGQH�JUDGVNH�JDODQWHULMH��NDR�QSU��UDVYHWD��NOXSH��VWRORYL�L�VWROLFH�� RJUDGH�� MDYQL� WRDOHWL�� þLãüHQMH�� NLRVFL� VD� WHUDVDPD��SURGDYQLFH�VD�VXYHQLULPD��LWG���
x� 'L]DMQ� ãHWDOLãWD� NUR]� VWDUL� JUDG� XNOMXþXMH� UHVXUVH� L� DWUDNFLMH��VSRPHQLNH�� IRQWDQH�� RSUHPX�� VSRUWVNH� REMHNWH�� ãRSLQJ� ]RQX��EDURYH�� UHVWRUDQH� L� NDIDQH�JGH�SRVHWLRFL�PRJX�XåLYDWL� X� OHSRM�ãHWQML�WRNRP�SRVHWH�JUDGX����
x� 6WYDUDQMH� SURJUDPD� ]D� SRPRü� ORNDOQRP� VWDQRYQLãWYX� X�REQDYOMDQMX� L� GRYUãDYDQMX� �ERMDQMX� IDVDGD�� RJUDGD� QD�EDONRQLPD�� LWG��� NXüD� L� IDUPL� NDNR� EL� VH� RþXYDR� L� XQDSUHGLR�WUDGLFLRQDOQL� L]JOHG�VHOD��JUDGRYD� L�NXüD�NUR]�SRGUXþMH�%DMLQX�%DãWX����

%����8QDSUH HQMH� HVWHWLNH� NRPSDQLMD� L� XVOXJD�� WUHQXWQR� VH� ORNDOQL�EL]QLVL� L� XVOXJH� SURPRYLãX� WDNR� GD� QH� X]LPDMX� X� RE]LU� QMLKRYX�LQWHJUDFLMX�X�RNUXåHQMH��5DGL�WRJD�SRVWRML�PLNV�UD]OLþLWLK�ERMD��GL]DMQD��GLPHQ]LMD�� LWG��� NRMH�GDMX�QHJDWLYDQ� LPLGå�PHVWD� L� QH�SRNODSDMX� VH� VD�åHOMHQLP�SR]LFLRQLUDQMHP�%DMLQH�%DãWH���
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x� 8YR HQMH� NULWHULMD� ]D� ORNDOQH� EL]QLVH� L� XVOXJH�� VYHWOD�� ERMH�IDVDGD�� GL]DMQ� UHNODPD� �VWLO�� GLPHQ]LMH�� ERMH�� PDWHULMDOL��ORNDFLMD��LWG����
x� 8YR HQMH� NULWHULMD� ]D� HVWHWLNX� WHUDVD�� WLS� NLãREUDQD�� ERMD� L�GL]DMQ�� GHNRUDFLMD� WHUDVH� L� YUWODUHQMH�� RJODãDYDQMH� PHQLMD�� WLS�RVYHWOMHQMD�L�PX]LNH��LWG���

%����8YR HQMH�VLVWHPD�WXULVWLþNH�VLJQDOL]DFLMH��LQWHUQH�L�HNVWHUQH���
7XULVWLþNL� VLVWHPL� VLJQDOL]DFLMH� XNOMXþXMX� UD]OLþLWH� WLSRYH� R]QDND� ��R]QDþDYDQMD�� WH� EL� QD� QMLPD�� RVLP� QD� üLULOLFL�� WUHEDOH� ELWL� LVSLVDQH�LQIRUPDFLMH�QD�YLãH�MH]LND��LOL�EDUHP�QD�ODWLQLFL��3RVWRMH�WUL�UD]OLþLWH�YUVWH�VLJQDOL]DFLMH���

x� 3URPRWLYQD�� LGHQWLILNXMH� SRVWRMDQMH� UHVXUVD� L�DWUDNFLMD�LOL�XVOXJD�
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���,QIRUPDFLRQH� SORþH� �VD� VYLP� LQIRUPDFLMDPD� L� REMDãQMHQMHP� VYDNH�SULURGQH� L� GUXJH� ]QDPHQLWRVWL� NRMD� VH� YLGL� VD� RGUH HQH� WDþNH��VOLNRYQLP� L� WHNVWXDOQLP� SULND]LPD�� WH� LQIRUPDFLMDPD� R� RVWDOLP�YLGLNRYFLPD�QD�7DUL��
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���3RWUHEQR�MH�L]UDGLWL�GHWDOMDQ�SODQ��NRQFHSW�UD]YRMD�L�LPSOHPHQWDFLMH�
���3RWUHEQD�MH�GREUD�RUJDQL]DFLMD�QDG]RUD�RYRJ�SURMHNWD��



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM��
�
����0$5.(7,1*�3/$1�
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.DR� MHGDQ� RG� SULRULWHWD� UD]YRMD� PDUNHWLQãNH� VWUDWHJLMH� MHVWH� SRWUHED� ]D�NRQVWDQWQLP�LVWUDåLYDQMHP�WUåLãWD�UD]OLþLWLK�YLGRYD��WUåLãQLK�WUHQGRYD��VRFLR�GHPRJUDIVNLK� WUHQGRYD�� WUHQGRYD� X� SXWRYDQMLPD�� LPSOLNDFLMH� WUHQGRYD� QD�WXUL]DP� 7DUH� LWG�� ,VWUDåLYDQMH� RPRJXüDYD� QHRSKRGQH� L� SUDYRYUHPHQH�LQIRUPDFLMH� R� SRQDãDQMX� JRVWLMX�� QMLKRYRP� QDþLQX� GRQRãHQMD� RGOXND��VYHVQRVWL� L� SHUFHSFLMDPD� R� 7DUL�� 2YH� LQIRUPDFLMH� ]DMHGQR� VD� GHWDOMQLP�SURILOLPD� JRVWLMX� VX� SUHWSRVWDYND� ]D� HILNDVQR�PDUNHWLQãNR� RGOXþLYDQMH� VD�QDMEROMLP�SRYUDüDMHP�QD�PDUNHWLQãNH�LQYHVWLFLMH��
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HNRORãNL�RVYHãWHQH� L�QD� ORNDOQRM�NXOWXUL�]DVQRYDQH� WXULVWLþNH�SURL]YRGH� L�
XVOXJH�NUR]�NUHDWLYQX�LQWHUSUHWDFLMX�LQWHJUDOQRJ�SURVWRUD��
3RVHEQR�UD]YLMD�X�VYRP�SULURGQRP�L�UXUDOQRP�RNUXåHQMX�VOHGHüH�FHQWUH�
DNWLYQRVWL��
�� UHNUHDFLMX�L�UHODNVDFLMX�X�YHOLþDQVWYHQRP�SULURGQRP�RNUXåHQMX�
�� RGPRU��DNWLYQRVWL�L�]DMHGQLþNL�SRURGLþQL�GRåLYOMDM�
�� SRVORYQH�VDVWDQNH��SRGVWLFDMQD�SXWRYDQMD�L�GRJD DMH�
�� SODQLQVNL�YHOQHV���]GUDYOMH�
,QWHOLJHQWQRP� SRQXGRP� MHGLQVWYHQLK� YUHGQRVWL� NUHLUD� DGHNYDWDQ� RGQRV�
DNWLYQRVWL�L�GRåLYOMDMD�REH]EH XMXüL�QH]DERUDYQL�RVHüDM�VYRMLP�JRVWLPD��
�
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�� ,QWHJUDOQL� SULVWXS� SURVWRUX� VD� LVNXVWYHQLP� GLIHUHQFLUDQMHP�SURVWRUQLK�FHOLQD�
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��� 2VQRYQL� NDUDNWHU� �� HPRFLRQDOQD� NRPSRQHQWD� EUHQGD�� =D� 7DUX� VX�

HPRFLRQDOQH� NRPSRQHQWH� UD]UD HQH� SULOLNRP� LVNXVWYHQRJ�
WHPDWL]RYDQMD�SRGUXþMD�7DUH���

��� 2VQRYQH�LNRQH���GL]DMQ�UHãHQMD�YH]DQRJ�]D�ERMH��YUVWH�VORYD��ORJR��
L]JOHG�EURãXUD�� JODVRYL�QD� UHNODPDPD��JOD]ED� LWG��5HãHQMD�PRUDMX�
GD� EXGX� MHGQRVWDYQD�� XWLFDMQD� L� GD� NRQ]LVWHQWQR� SUDWH� FHORNXSQX�
SULþX�R�7DUL��.OMXþQL�HOHPHQWL�VX�VLPERO��ORJR�L�VORJDQ���

�
��������3URPRFLMVNL�REOLFL�L�PDWHUMDOL�
�
%XGXüL�GD�MH�WXUL]DP�7DUH�QD�SRþHWNX�VWYDUDQMD��QDMYDåQLMX�XORJX�WUHED�GD�
LPDMX� ãWDPSDQH� EURãXUH� NRMH� üH� VWYDUDWL� VYHVQRVW� L� LQIRUPLVDWL� WUåLãWH� R�
�QRYRP�� WXULVWLþNRP�EUHQGX�7DUH��8�SRþHWNX�SURFHVD�SURPRYLVDQMD�7DUH��
IRNXV� üH� GD� EXGX� DODWL� NRML� SULYODþH� �SXOO� VWUDWHJLHV�� NRML� üH� SRGVWLFDWL�
SRWURãDþH� QD� NRULãüHQMH� WXULVWLþNLK� SURL]YRGD� 7DUH�� 7R� VX� VOHGHüL� DODWL� L�
REOLFL��
�
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%URãXUH�

��� 2SãWD� EURãXUD� WXUL]PD� 7DUH� �� X� QMRM� VH� QDOD]H� RSLVL� UDVSRORåLYH�
SRQXGH� RGQRVQR� SUHGVWDYOMD� RSãWL� SUHJOHG� VYLK� DWUDNWHUD� 7DUH� �X�
YLGX�DWUDNFLMD��VPHãWDMD��DNWLYQRVWL�L�VO���

��� %URãXUH� SURL]YRGD� �� SUHGVWDYOMDMX� SRMHGLQDþQX� YUVWX� SURL]YRGD� X�
YLGX� GLIHUHQFLMDFLMH� L� VSHFLMDOL]DFLMH� �3ODQLQH� L� MH]HUD� �� OHWQML� L�
]LPVNL� RGPRU�� 3RVORYQL� WXUL]DP� L� 0,&(�� =GUDYVWYHQL� WXUL]DP� ��
]GUDYOMH� L� YHOQHV�� 6SHFLMDOQL� LQWHUHVL�� 5XUDOQL� WXUL]DP�� .UDWNL�
RGPRUL��7RXULQJ��QD�QLYRX�SODQLQH�7DUD�L�QMHQRJ�RNUXåHQMD��

��� %URãXUH� VPHãWDMD� �� 3RMHGLQDþQH� EURãXUH� VPHãWDMD� XVNOD HQH� VD�
YL]XHOQLP� LGHQWLWHWRP� EUHQGD� 7DUD�� VD� RSLVLPD� X� YLGX� VDGUåDMD� L�
DNWLYQRVWL�X�SRQXGL��

��� %URãXUH� VSHFLILþQLK� DWUDNFLMD� �� YLGLNRYFL�� 3DQþLþHYD� RPRULND��
åLYRWLQMVNL�VYHW��OHNRYLWD�ELOMD�QD�7DUL��'ULQD��3HUXüDF��VWDUL�]DQDWL��
PX]HML��VSRPHQLFL��1DFLRQDOQL�SDUN�LWG��

��� %URãXUD� GRJD DMD� L� DNWLYQRVWL� �� JRGLãQMD� OLVWD� VYLK� GRJD DMD� L�
IHVWLYDOD�QD�SRUGXþMX�7DUH�L�RNUXåHQMD���SR�PHVHFLPD�L�SUHPD�YUVWL�
�NXOWXUD��VSRUW��XPHWQRVW���

�
3URPRFLRQL�PDWHUMDOL�

��� 3ODNDWL� L� OHFL� �� NRML� LPDMX� IRWRJUDILMH� YLVRNRJ� QLYRD� NYDOLWHWD�� ]D�
GLVWULEXFLMX�WXURSHUDWRULPD��SXWQLþNLP�DJHQFLMDPD�

��� 7XULVWLþND� NDUWD� 7DUH� �� VD� R]QDþHQLP� JODYQLP� DWUDNFLMDPD� L�
UHVXUVLPD��WH�XGDOMHQRVWLPD�X�PHWULPD�NDR�L�X�PLQXWDPD��

��� .DUWH� LWLQHUDUD� �� SRMHGLQDþQH� NDUWH� NRMH� REUD XMX� VSHFLILþDQ�
LWLQHUHU�SUHGYL HQ�UD]YRMHP�WXUL]PD�QD�7DUL��SHãDþHQMH��ELFLNOL]DP��
VNLMDãNR�WUþDQMH��SODQLQDUHQMH��WXUH�EURGRP�LWG���

��� 7XULVWLþNL�YRGLþ�7DUH� ��SRVHEQL�PDWHUMDO�X�YLGX�PDOH�NQMLåLFH�NRML�
VD�MDNLP�IRWRJUDILMDPD�L�RSLVLPD�SREX XMH�LQWHUHV�

�

,QWHUQHW�VWUDQLFD�
,QWHUQHW� NDR� QRYL� REOLN� NRPXQLNDFLMH� LPD� YHOLNL� SRWHQFLMDO� SULOLNRP�
SURPRYLVDQMD�WXUL]PD�QD�7DUL�L�QMHQRJ�RNUXåHQMD��3XWHP�,QWHUQHW�SRUWDOD�VH�
RVLP�NYDOLWHWQRJ�SULVWXSD� LQIRUPDFLMDPD�R�SURL]YRGLPD�L�XVOXJDPD��PRåH�
UD]YLWL� � L� FHQWUDOL]RYDQL� UH]HUYDFLRQL� VLVWHP�� 3RPRüX� WRJ� VLVWHPD� JRVWL�
PRJX� GLUHNWQR� L]DEUDWL� L� UH]HUYLVDWL� VPHãWDM�� ,QWHUQHW� VWUDQLFD� üH� GD� VH�
IRNXVLUD�QD�VOHGHüL�VDGUåDM��
�

��� %D]X� SRGDWDND� VD� VYLP� VPHãWDMQLP� NDSDFLWHWLPD� L� QMLKRYLP�
RSLVLPD��IRWRJUDILMDPD�HNVWHULMHUD�L�LQWHULMHUD��NDR�L�FHQDPD�

��� ,QWHUDNWLYQD�PDSD� 7DUH� VD� RNUXåHQMHP� VD�PRJXüQRVWL� SURQDODVND�
SRMHGLQDþQLK�VPHãWDMQLK�NDSDFLWHWD�

��� /LVWX�SURL]YRGD�L�DNWLYQRVWL�VD�GHWDOMQLP�RSLVLPD�L�IRWRJUDILMDPD�
��� ,QWHUDNWLYQD� PDSD� VYLK� DWUDNFLMD� L� UHVXUVD� VD� QMLKRYLP� GHWDOMQLP�

RSLVLPD�
��� 9UVWH�L�YUHPH�RGUåDYDQMD�SRMHGLQLK�GRJD DMD�VD�RSLVLPD�WUDGLFLMH�LOL�

LVWRULMH�SRMHGLQRJ�GRJD DMD�
��� 9HVWL��QRYR�X�SRQXGL��QHZVOHWWHU��
��� .DR�RSFLMD��UD]YRM�UH]HUYDFLRQRJ�VLVWHPD�]D�VDY�VPHãWDM�QD�7DUL�

�

6XYHQLUL�L�ORNDOQL�SURL]YRGL�
2EOLN� SUH]HQWDFLMH� NRML� XNOMXþXMH� RVLP� VWDQGDUGQLK� VXYHQLUD� NRML� VX�
QDPHQMHQL� SURGDML� L� UD]QH� VXYHQLUH� L� SRNORQH� NRML� VH� GDUXMX� �KHPLMVNH�
RORYNH�� NDOHQGDUL�� QDOHSQLFH�� PDJQHWL� L� VOLþQR��� 'RGDWQR� VH� X� VLVWHP�
SRMDþDYDQMD� LPLGåD� WXUL]PD� VWDYOMDMX� L� ORNDOQL� SURL]YRGL� SURL]YHGHQL� X�
PDOLP� VHULMDPD� L� X� PDOLP� ]DQDWLPD� �UDNLMD�� PHG�� SURL]YRGL� RG� ELOMDND��
YXQHQH�NDSH��UXNDYLFH�L�VOLþQR���
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��������$NWLYQRVWL�YH]DQH�X]�NRPXQLNDFLMX�
�
3UHPD� RSãWHP� SODQX� NRPXQLNDFLMH� SUHGODåHPR� VSURYR HQMH� VOHGHüLK�
DNWLYQRVWL�YH]DQLK�X]�NRPXQLNDFLMX��
�
8QDSUH HQMH�SURGDMH�
*ODYQL�REOLN�XQDSUH HQMD�SURGDMH�MHVWH�XþHVWYRYDQMH�QD�VDMPRYLPD�JGH�VH�
WXUL]DP�7DUH�SURPRYLãH�LOL�VDPRVWDOQR�LOL�X�VNORSX�RSãWHJ�QDVWXSD�6UELMH�LOL�
UHJLMH�� 6DPRVWDOQL� QDVWXS� MH� SULNODGDQ� QD� ORNDOQLP� L� UHJLRQDOQLP�
VDMPRYLPD�� 1D� YHüLP�� LQWHUQDFLRQDOQLP� VDMPRYLPD� X� LQR]HPVWYX� VH�
QDVWXSD�VD�NURYQRP�RUJDQL]DFLMRP��
3RVHEQL�GHR�XQDSUH HQMD�SURGDMH�MHVWH�GLUHNWQL�PDUNHWLQJ�NRML�]D�SRGORJX�
NRULVWL� NUHLUDQX� ED]X� JRVWLMX� L� ,QWHUQHW� VWUDQLFX�� ,]� ED]H� SRGDWDND�
GRVDGDãQMLK� JRVWLMX� LOL� SRWHQFLMDOQLK� JRVWLMX� �NRML� VX� WUDåLOL� QD� ,QWHUQHW�
VWUDQLFL�GD�LP�VH�GRVWDYL�EURãXUD��VH�ãDOMX�VSHFLMDOL]RYDQH�SRQXGH�SRãWRP�L�
H�PDLORP��
�
2GQRVL�VD�MDYQRãüX��
=ERJ�WRJD�ãWR�MH�WXULWLþNL�SURL]YRG�7DUH�QD�VDPRP�SRþHWNX�SURIHVLRQDOQRJ�
UD]YRMD�� MDYQRVW� WUHED� GD� VH� ãWR� SUH� XSR]QD� VD� SRVWRMDQMHP� �QRYRJ��
SURL]YRGD�� ,]� WRJ� UD]ORJD� VH� VSURYRGH� SUHVV� SXWRYDQMD� RGQRVQR�
RUJDQL]RYDQMH� LQIRUPDWLYQLK� L� VWXGLMVNLK� SXWRYDQMD� ]D� QRYLQDUH�� 1D� WDM�
QDþLQ� VH� SUH]HQWXMX� VYL� NYDOLWHWL� L� SUHGQRVWL� WXUL]PD� 7DUH� JGH� WR� QRYLQDUL�
SUHQRVH�X�VYRMH�þDVRSLVH��DOL�L�QD�WHOHYL]LMX��
1D� VOLþDQ� QDþLQ� VH� RUJDQL]XMX� L� L]OHWL� XSR]QDYDQMD� RGQRVQR� VWXGLMVND�
SXWRYDQMD� QH� VDPR� QRYLQDUD� YHü� L� UD]QLK� WXURSHUDWRUD� L� DJHQFLMD� NRMH� VH�
PRJX� XNOMXþLWL� X� SURGDMX� SURL]YRGD� WXUL]PD�7DUH��7H� VH� JUXSH� XJODYQRP�
GHWDOMQR�XSR]QDYDMX�VD�SRMHGLQDþQLP�LWLQHUDULPD�L�NYDOLWHWRP�SURL]YRGD��

.UHLUDQMH� L� L]GDYDQMH� åXUQDOD� VD� YHVWLPD� L� QRYLP� LQIRUPDFLMDPD� GRGDWQR�
XSR]QDMH� ãLURNX�SRSXODFLMX� VD� WXULVWLþNLP�SURL]YRGRP�7DUH� L�SRPDFLPD�X�
SRQXGL� DNWLYQRVWL� L� XVOXJD�� äXUQDO� LPD� VYRM� ãWDPSDQL� REOLN� NRML� VH�
GLVWULEXLUD�MDYQRVWL��ãWDPSD��MDYQH�L�GUåDYQH�RUJDQL]DFLMH��NDR�L�HOHNWURQVNL�
REOLN�X�YLGX�QHZVOHWWHUD�NRML�VH�GLVWULEXLUD�HOHNWURQVNRP�SRãWRP�OLþQRVWLPD�
L]�ED]H�SRGDWDND�,QWHUQHW�VWUDQLFH��
�
2JODãDYDQMH�
2EXKYDWD� SRVWDYOMDQMH� RJODVD� X� ãWDPSX�� QD� UDGLMX� LOL� WHOHYL]LMX�� 3RVHEQD�
SDåQMD� WUHED� GD� VH� SRVYHWL�PRJXüQRVWLPD� RJODãDYDQMD� X� VSHFLMDOL]RYDQLP�
þDVRSLVLPD�QDPHQMHQLP�SRVHEQLP�LQWHUHVQLP�JUXSDPD�SRSXW�ãNROVNH�GHFH��
SODQLQDUD��ULERORYDFD��3RVHEQD�YUVWD�RJODãDYDQMD�VX�W]Y��EDQHUL�QD�,QWHUQHW�
VWUDQLFDPD�NRMH�NRULVWH�LGHQWLILNRYDQD�FLOMQD�WUåLãWD��
�
2UJDQL]RYDQMH�VHPLQDUD�L�UDGHRQLFD�
2UJDQL]RYDQMH� VHPLQDUD� L� UDGLRQLFD� QD� NRMLPD� üH� GD� EXGX� SRQX DþL� VYLK�
YLGRYD� WXULVWLþNLK�XVOXJD� L�DNWLYQRVWL��6YUKD�RYLK� UDGLRQLFD� MHVWH�GD�VH�VYL�
VXEMHNWL� XSR]QDMX� VD� FLOMHP� L� VYUKRP� WXUL]PD� QD� SRGUXþMX� 7DUH�� UD]QH�
EHQþPDUN� UDGLRQLFH� QD� NRMLPD� VH� PRJX� LGHQWLILNRYDWL� QDMEROML� SULPHUL� L]�
RNUXåHQMD�� LQIRUPDWLYQD� HGXNDFLMD� X� PDUNHWLQJX� L� RSHUDWLYQLP�
SURFHGXUDPD�� RGQRVX� VD� JRVWLPD�� NDR� L� XSR]QDYDQMH� VD� PRJXüQRVWLPD� L�
SULOLNDPD� SULNOMXþHQMD� X� VLVWHP� WXUL]PD� VD� HOHPHQWDUQLP� REMDãQMHQMLPD�
SULYUHGQLK�DNWLYQRVWL�X�IXQNFLML�WXUL]PD��
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��������3UDüHQMH�VSURYHGHQLK�DNWLYQRVWL�
3RWUHEQR�MH�SUDWLWL�L�DQDOL]LUDWL�VYH�PHGLMH�X�NRMPD�VH�SUH]HQWXMH�SURL]YRG�L�
WXULVWLþND�SRQXGD�7DUH��NDNR�EL�VH�PRJOR�RGUHGLWL�NRML�PHGLML�QDMEROMH�SUDWH�
7DUX� NDR� WXULVWLþNX� GHVWLQDFLMX�� DOL� L� GD� EL� VH� LGHQWLILNRYDOL� QRYLQDUL� NRML�
YHUQR�SUHQRVH�VYRMH�XWLVNH�L�LVNXVWYD�VD�SURL]YRGRP��
,QWHUQHW�VWUDQLFD�PRUD�GD�LPD�DåXUQH�L�WDþQH�VDGUåDMH��NDR�L�PRJXüQRVW�GD�
SRVHWLRFL�VWUDQLFH�PRJX�GD�GDMX�VYRMH�VXJHVWLMH�L�NULWLNH��
7DNR H� MH� YDåQR� SUDWLWL� QDVWXSH� QD� VDMPRYLPD� V� RE]LURP� QD� SRVWDYOMHQD�
SLWDQMD� R� GHWDOMQLMLP� LQIRUPDFLMDPD� R� WXUL]PX� QD� 7DUL�� ]D� YUHPH� L� SRVOH�
VDMPD��'RGDWQR�VH�NUHLUD�ED]D�SRGDWDND�VD�YUVWDPD�SLWDQMD�GD�EL�VH�ãWR�EROMH�
SULSUHPLOL�EXGXüL�QDVWXSL�QD�VDMPRYLPD��
�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM��
�

R óU

����=$95â1(�60(51,&(���35(3258.(�
2YDM�MH�0DVWHU�SODQ�SR�QDãRM�RFHQL�SUYL�L�QDMYDåQLML�NRUDN�X�SURIHVLRQDOQRM��
DUWLNXODFLML� L� L]YR HQMX� SURJUDPD� UD]YRMD� WXUL]PD� RYRJ� L]X]HWQR� YUHGQRJ�
SRWHQFLMDOQRJ�WXULVWLþNRJ�SURVWRUD��8�RYRM�VX�ID]L�QMHJRYL�UH]XOWDWL�XVPHUHQL�
QDMPDQMH�QD�þHWLUL�JUXSH�LQWHUHVD��L�WR��
�

�� ORNDOQRM� MDYQRVWL� L� LQWHUHVQLP� VXEMHNWLPD� NRMLPD� RYDM� 0DVWHU�
SODQ�QD�QLYRX�NRQFHSWD�L��L]YHGEHQLK�UHãHQMD�WUHED�ELWL�GRVWXSDQ�L�R�
NRPH�YDOMD�QDþLQLWL�ãLUX�MDYQX�UDVSUDYX���

�� HNVWHUQRM� MDYQRVWL�� D� SUH� VYHJD� 9ODGL� 5HSXEOLNH� 6UELMH� L�
QDGOHåQLP� 0LQLVWDUVWYLPD�� NRML� QD� ED]L� RYRJ� SODQD� WUHEDMX�
UD]PRWULWL�IRUPH�SRGUãNH�SODQX��

�� DQLPDFLML�ORNDOQLK�L�VSROMQLK�PDOLK�L�YHOLNLK�LQYHVWLWRUD��D�X�FLOMX�
ãWR�EUåHJ�SRNUHWDQMD�SULRULWHWQLK�UD]YRMQLK�SURMHNDWD��L�NRQDþQR�

�� 6NXSãWLQL� RSãWLQH� %DMLQD� %DãWD�� NRMD� X� VOXþDMX� SULKYDWDQMD�
L]ORåHQRJ� NRQFHSWD�� UD]YRMQRJ� PRGHOD� L� SRVHEQR� PRGHOD�
RUJDQL]RYDQMD� X� IXQNFLML� UD]YRMD� WXUL]PD� RYRJ� SRGUXþMD�� WUHED�
SULVWXSLWL�IRUPLUDQMX�'02�D�%DMLQD�%DãWD��

�
+RUZDWK� &RQVXOWLQJ� L]UDåDYD� SXQX� VSUHPQRVW� ]D� GDOMRP� VDUDGQMRP�� QH�
VDPR�SXWHP�SRWUHEQLK�SUH]HQWDFLMD�LQWHUHVQLP�VXEMHNWLPD��YHü�L�SRVHEQR�X�
UD]YRMX� L� UHDOL]DFLML� RQLK� SULRULWHWD� NRML� VH� NUR]� MDYQX� UDVSUDYX� EXGX�
GHILQLVDOL��
�
,VWR� WDNR� L]UDåDYDPR� VYRMX� VSUHPQRVW� GD� VH� XNOMXþLPR� X� SURMHNWH�
DQLPLUDQMD� L�VHUYLVLUDQMD� LQYHVWLWRUD�SRMHGLQLK�SURMHNDWD��D�SRVHEQR�RQLK�X�
KRWHOVNRP�VPHãWDMX����
�


